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g4 T e A4

7FA]
747 (21w 4.00 kg2 =% 0 4,000 3,000 3,500 5,500
747 (21w 7.00 kg =15 0 11,000 10,500 10,750 14,500
747 (21w 8.00 ke A2 WE(3 4,146 5,081 5,976 5068 10,108
747 (21w 8.00 kg7 8,500 0 15,000 11,750 0
747 (21w 8.00 ke A2} =1% 11,379 18,895 23,304 17,859 20,242
ZAA (AW 13.00 kg =15 0 6,000 0 6,000 25,000
AR (A8 16.00 ke =15 0 7,000 0 7,000 0
747 (21w 5.00 ke A2 2% 4,105 6,473 7,244 5940 7,736
744 (21w 8.00 ke Hld %% WE(3 0 0 5,000 5,000 0
ZAA (AW 10.00 ke A = 6,728 9,020 13,414 9721 13,579
ZAA (AW 10.00 ke WE(3 7,822 11,097 17,127 12,015 9,338
AR (AW 15.00 ke = 0 14,000 0 14,000 0
747 (91w 3.00 kel d %27 =15 2,000 0 0 2,000 0
7A2(A¥)  10.00 kePET A% 5,400 6,200 7.000 6,200 7,665
ZAA (AW 15.00 kg =15 4,000 0 0 4,000 29,000
747 (21w 6.00 kel d %% =% 6,200 0 0 6,200 0
747 (21w 8.00 keH] d %27 =15 5,000 7,000 12,000 8,000 0
ZAA(A¥)  10.00 ke A E1% 11,058 16,937 92,433 16,810 17,622
7AA(A¥)  10.00 kePET =% 6,000 6,400 8.000 6,800 10,500
AR (A8 15.00 kgHl B A% 0 0 16,000 16,000 0
AR (AW 15.00 ke A5 7,100 10,000 12,500 9,867 14,000
747 (21w 3.00 ke =015 2,000 0 0 2,000 0
744 (21w 4.00 kg2 2% 5,000 3,000 0 4,000 7,500
747 (21w 6.00 kg2 A% 3,000 0 0 3,000 10,000
744 (21w 8.00 ke A2 A% 6,786 11,415 12.629 10,277 12,758
747 (21w 9.00 kg2 A% 0 7,000 0 7,000 0
AR (AW 10.00 kg A 955 0 4,000 0 4,000 0
ZAA (A8 11.00 ke A% 6,000 0 0 6,000 0
AR (AW 16.00 kg d A A% 6,500 9,000 14,800 10,100 0
A7 2.00 kg2 =% 0 0 52.000 52,000 0
747 (21w 5.00 ke HE(3 3,167 5,222 0 4194 5,000
744 (21w 5.00 ke A2 12,000 0 0 12,000 12,000
747 (21w 6.00 kg2 =015 4,700 0 0 4700 11,000
ZAR (¥ 10.00 kegHl B =15 8,500 0 12,000 10,250 0
742 (¥ 10.00 kePEH = 6,433 10,643 14,943 10,673 9,203
744 (21 5.00 ke A2 =15 6,148 11,244 10,978 9457 11,102
742 (21w 8.00 keHld %7 AHOE 0 13,000 0 13000 7,250
AR (¥ 10.00 kegHl B HE(3 0 13,000 0 13,000 0
ZAA (W) 10.00 ke A+ A% 6,432 11,284 13,411 10,376 12,017

e
soozkE 0.50 ket WE(3 0 0 1,600 1,600 0
aho-xztE  10.00 ke =% 0 0 93.889 23,889 0
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ol e 3.00 kg+=} E(l=% 0 0 12,500 12,500 0
-7 0.50 kgAF A} E(1%5 1,903 2,436 2,242 2,194 2,450
o7t 0.50 kePPTH E1E 2,767 2,969 2,365 2700 2,748
st~ 3.00 kgA+=} HE(3 0 0 5,500 5,500 0
I EavA =y 5.00 kgAH=F 0 0 12,000 12,000 0
[ Eard =y 5.00 kg=} E(1 13,227 14,405 17,531 15,054 13,087
I A=y 10.00 kg =} 2% 30,800 0 55,299 43,050 2,140
s~ 3.00 kg+=} 0 0 12,600 12,600 0
-7 5.00 kgA+=} 2H2% 7,943 0 15,880 11,911 13,539
a1z 3.00 ke A+ E(% 14,407 17,358 16,505 16,090 15,655
-7 6.00 kg =} 2= 24,000 0 0 24,000 2,438
0.50 kPP =% 3,100 3,300 0 3,200 0
-7 3.00 kg A=} A2F 16,374 19,418 16,950 17,580 13,547
3.00 ke 2} =% 0 19,803 0 19,803 11,024
SH9-27= 0.20 kgAH=} E(1=% 2,330 0 0 2,330 0
7+ 2}
10.00 kit 8= 12,500 9,286 8,000 9,929 5,008
=] 4.00 kg Ak AH 2= 0 6,583 0 6,583 0
=) 10.00 ke A2+ 95(= 0 0 2,000 2,000 3,502
=] 10.00 kg =} 0 3,000 7,167 5,083 4,644
) 10.00 ket E(1% 16,392 16,588 14,685 15,888 14,959
=] 20.00 kgA=}F 8% 0 0 27,000 27,000 17,286
20.00 kg2 4% 11,998 15,507 15,983 14,496 8,090
20.00 ke 2 HEB 13,385 14,265 18,276 15,309 13,154
Z=1] 20.00 kgAH=} = 16,000 0 0 16,000 9,400
=] 20.00 kgA+=}F HE(3 20,383 13,768 13,769 15,973 11,124
A2 2} 9.00 kgA+A} 4,000 0 0 4,000 0
A 10.00 kgAFA}k E(1=% 11,790 0 17,000 14,395 15,376
10.00 kgFA}F = 0 7,000 8,600 7,800 5,732
e 10.00 kg A2+ HE(3 0 8,000 4,500 6,250 6,674
Z=1] 20.00 kgAH=} 2= 32,900 33,552 31,699 32,717 26,971
A2 20.00 ke A2 HEG 12,500 20,000 0 16,250 17,250
A2 2} 20.00 kgAH=} E(1% 24,732 27,000 0 25,866 17,334
=07 10.00 kg’ =} = 0 0 6,000 6,000 5,864
A 20.00 kgAH=} E(1% 0 17,500 0 17,500 19,056
10.00 kgFA}F 2= 0 15,333 11,444 13,389 8,106
2] 10.00 kgAFA}k A% 15,195 9,391 13,381 12,656 13,383
=] 20.00 kg+=}F E(l1% 36,794 35,060 34,845 35,566 37,054
A7 2} 10.00 kgAFA}k E(1+ 9,000 0 0 9,000 13,652
17.00 kgAk 2= 12,000 0 0 12,000 0
20.00 kg A=} 51+ 37,856 36,900 37,523 37,426 32,479
=] 20.00 kg+=}F 13,100 17,040 17,725 15,955 11,356
=32 10.00 kg =}k HE( 0 0 6,000 6,000 9,333
A 20.00 kg+=}F 2= 0 12,000 0 12,000 16,824
20.00 kg2 8% 16,000 21,000 16,125 17,708 13,000
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A Fe s A4
v 14.00 kg 24+ 0 0 21,700 21,700 0
o) 16.00 kg 2+ WE(3 5,000 0 0 5,000 0
em) 20.00 ke A2t 95(% 22,579 0 17.905 20,242 14,040
72 9.00 ke 2+ 4= 0 0 3,000 3,000 0
10.00 kg 2+ WE(3 0 12,500 4,667 8583 6,821
14.00 kg 24+ = 0 0 15000 15,000 0
20.00 ke A2t AH2SE 20,335 92,246 24,505 22,362 19,634
10.00 kg Ak 4+ (1% 19,333 16,315 18,682 18,110 14,701
15.00 kg 2+ =% 0 17,000 928,000 22,500 0
AZ72 10.00 ke AHOE 0 0 10.833 10,833 11,196
T 10.00 kg 2+ A% 7,000 0 11,000 9,000 8907
A
ZH(2 ) 2.00 ket =05 659 0 2.600 1,629 1,535
=27 2.00 kgt oS 1,599 3,400 4,917 3,305 2,393
=7 2.00 kgt (s 1.872 2,167 1,800 1,946 1,468
=27 2.00 kgt =0z 1.272 1,300 3,000 1,857 1,585
AL
(AN 4.00 ket E1% 12,000 16,679 18077 15,585 9,490
AFE(AE) 8.00 ket (s 0 33,000 0 33,000 14,311
AFE(AN) 4.00 kg1 2T E1% 12,980 18,200 9000 13,393 11,411
7AW 10.00 kePPT E1% 20,000 15,000 0 17,500 0
AFE(AE) 3.00 ket A= 0 10,000 0 10,000 12,000
FE(AN) 4.00 ke 12T AH2S 13,000 16,000 14,000 14,333 10,863
FE(AE) 4,00 ket AH2E 12,000 15,000 0 13,500 14,192
(N 13.00 kePPT =05 0 0 6,000 6,000 0
(AN 2.00 kel BT} =05 0 0 4,000 4000 3,900
AFE(AN) 3.00 ke 1B =05 9,000 0 0 9,000 3,563
AaLE
13.50 kg 2+ =0% 0 0 331,000 331,000 0
13.50 kgt 9 2% =0% 0 0 328,000 328,000 0
o7 12.00 kegHl Y 22 =% 0 0 220000 220,000 0
5171 6.00 kg 2+ =0 0 110,000 0 110,000 0
As=(duh)  0.60 gPEU) =% 0 0 9,462 9,462 0
10.00 kgt Y 2% E1% 153,00 0 0 153,000 0
AFATE 8.00 ket Y B =% 0 0 202,000 202,000 0
AZ=(Auh)  6.00 kePET =0 0 0  135.000 135,000 0
A8 9.00 kePET] =% 0 0 200,000 200,000 0
1.00 kg AH2k =05 0 0 10,000 10,000 0
5.80 ket Y E-%] =% 0 0 127,600 127,600 0
8.00 kgt Y 2% =05 0 0 129,000 129,000 0
8.70 ket Y B-%] =% 0 0 140,300 140,300 0
10.00 kg AH 2k (s 0 104,200 0 104,200 0
k71 6.00 ke 2+ =0 0 138,626 0 138,626 0
k7 91.00 keHld 5] =% 0 0 507500 507,500 0
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0.60 kgRl H5-A] 515 13,000 0 0 13,000 0
5.00 kgA=H =15 77,000 0 0 77,000 0
6.00 kgHl d H-A| S0+ 108,53 120,817 118,958 116,102 91,500
9.00 kgHld 5-A| 515 0 157,500 0 157,500 0
12.00 kgHI 4 5-A] S0+ 180,00 117,500 0 148,750 0
19.00 kgRl H5-A] 515 0 0 130,000 130,000 0
Q ok 8.50 kgHl A H&-A| S0+ 0 0 235,200 235,200 0
A 6.00 kgHl d 5-A| 2H25 0 0 85,000 85,000 0
A 21.00 kgB-A| 2% 0 0 245,000 245,000 0
6.60 kgHld 5-A| 515 0 115,000 0 115,000 0
12.00 kg’ =} 5= 182,50 0 0 182,500 0
A 6.00 kgHld 5-A| 515 0 147,110 131,260 139,185 0
AR F 6.00 kgRldB-A| =E(1% 0 154,125 139,917 147,021 0
A A 9.00 kgHld 5-A| 515 0 0 166,000 166,000 0
3}+A 0.60 kgHl H5-A] 515 0 0 448,000 448,000 11,500
3hA 6.00 kgHl d A = 94,250 114,000 126,000 111,417 0
3}+A 21.00 kerl 9 %A 515 0 0 12,200 12,200 0
5.95 kgrld &% E(1% 0 0 120,000 120,000 0
27.00 kgrl 9 %A 515 0 112,500 0 112,500 0
7z
A2} 2.00 kg =} 225 5,000 5,000 10,250 6,750 8,288
AR} 2.00 kgA=H 225 0 3,000 4,000 3,500 0
ARG 1) 2.00 kg =+ 8,300 13,381 10,509 10,730 10,359
AR(AEY 2,00 ke At (1% 4,093 4,482 9,750 6,108 5917
A2 2.00 ke 7} (1% 6,084 17,625 16,150 13,286 13,024
epia
AR (L) 2.00 kgAH#F A2F 2,000 0 0 2,000 2,000
arek
10.00 kg’d-A} 95 (& 2,444 0 0 2,444 0
10.00 kg’ 3=} 5= 8,279 17,126 17,607 14,337 9,642
S ek Atal 10.00 kg’=} = 0 13,000 7,923 10,462 3,430
LITAT el 10.00 kg’d-A} 95 (& 9,547 10,545 11,059 10,384 9,557
1.60 kg’d=} 5(1% 2,600 0 0 2,600 0
4.00 kg’dA} 51+ 11,548 0 0 11,548 7,950
10.00 kg’3=} H3E(3 10,889 22,491 15,637 16,339 8,500
S Hb ) 10.00 kg’d-#} 6% 0 0 12,333 12,333 11,132
Wk 31 ta) 10.00 kg’d-=} S+ 16,696 17,075 14,671 16,147 14,307
S Hb ) 10.00 kg’d-=} 2% 8,772 16,373 13,637 12,927 8,322
10.00 kg’d-=} 2H2% 11,326 20,686 15,475 15,829 11,734
LIgnEnasls 1.50 kgA+Ak 2% 0 5,000 5,000 5,000 0
Wk 31 tu) 10.00 kg’d-=} 7,636 0 9,753 8,694 8,523
=9n 10.00 kg’d-=} 2H2= 0 18,421 12,032 15,226 0
eIl 9.00 kegA+ (1% 0 0 11,000 11,000 0
10.00 kg’d-=} = 3,659 11,928 12,357 9,315 7,625
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Llsrmsly 10.00 kg 3=} 45 14,798 13,744 11,317 13,286 5,775
FlnAsesly 10.00 kgt B3 23,424 22,236 57,195 34,285 19,031
LAl 10.00 kg”e+=} 6 19,953 22,775 20,467 21,065 20,501
ReRElgn Rl 10.00 kg d-#} 1233 0 8,778 12,089 10,433 8,146
LAl 0.70 kgl € &-A] FH2F 0 2,500 0 2,500 0
Llsrmsly 10.00 kg d-#F A2 19,059 18,243 17,559 18,287 16,019
Rl e 1.00 kg =+ (1= 1,300 0 0 1,300 1,333
ReRElgn Rl 10.00 kg 4=} 9% (& 0 0 7,563 7,563 6,783
Subnel  10.00 ke il %1% 5500 15485 15930 12,305 8329
ALk
4.00 kg’ Ak S(1& 7,629 8,664 7,850 8,048 12,638
4.00 kePPHl S(1= 0 9,211 0 9,211 0
8.00 kg -2} S(1& 16,000 0 0 16,000 0
A 3L alke 1.30 kg%t S(1= 0 0 900 900 0
A 3tk 3.00 kg =} s501F 0 0 6,000 6,000 7,000
A 31tk 3.70 kgt S(1= 0 0 6,000 6,000 0
A 3tk 4.00 kgHld &~ 0 0 6,000 6,000 0
SEIA e S 4.00 kgl H &-A] S(1= 7,000 6,500 6,102 6,534 9,333
A 3tk 6.00 kg -2} S(1& 0 12,000 0 12,000 0
A a1tk 7.00 ket S(1& 10,500 0 14,000 12,250 0
1.00 kg’d#k 3,000 3,000 0 3,000 3,000
4.00 kgl d &-A S(1& 9,850 9,234 8,733 9,272 14,715
7.00 kghld 5] 5% 0 0 13,000 13,000 0
8.00 kgHlH 5] 5= 0 0 18,700 18,700 0
10.00 ke -} =1F 30,000 30,000 29,267 29,756 27,588
A 3tk 2.00 kg%t 2w 0 1,500 0 1,500 2,200
A ek 3.50 kg A&} =1F 0 7,000 0 7,000 8,000
A 3tk 4.00 ke &t S(1& 6,400 0 0 6,400 7,588
A 31tk 4.00 kePEH] S(l& 6,763 8,294 7,144 7,400 11,896
A 1 akE 4.50 kg’ Ak 5% 6,500 0 7,000 6,750 0
A ek 5.00 kg d-A} H2F 0 9,000 5,000 7,000 0
A 1 akE 9.00 kgt 5% 0 16,200 0 16,200 0
A 31tk 11.00 ke&t S(l& 17,600 22,000 27,500 22,367 0
2.00 kgt 5% 7,000 8,000 4,000 6,333 7,722
A 31tk 2.00 kgPEU] =1F 0 3,000 0 3,000 4,000
A 31tk 3.00 kegPEH] S(1& 3,000 0 3,000 3,000 0
A 3k 5.00 kgt (1% 7,450 10,975 8,000 8,808 10,500
A 31tk 8.00 kg1 EW S1F 0 0 8,500 8,500 0
A 3k 2.00 kgHl d 57 (1% 3,000 0 0 3,000 5,500
A 31tk 4.00 kg1 EW S(1& 0 6,000 5,062 5,631 0
A 3k 10.00 kg% 0 10,000 0 10,000 0
A 31tk 10.00 kePETH S(1& 3,000 12,500 0 7,750 14,000
A TtakE 1.00 ke (1% 768 1,401 1,500 1,223 1,592
A 31tk 1.50 kg%t S(1F 0 1,000 0 1,000 0
A TtakE 3.00 kg1 EY (1% 0 4,000 0 4,000 0
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e T 3l 14
A 3l 10.00 kg%t == 19,831 21,652 21,459 20,980 22,774
Al 31 al = 250 kgt =55 0 1,500 0 1,500 0
AT T 4.00 kgl 9 E-A] 2% 8,795 9,444 7,531 8,590 10,712
A a1l 4.00 kgAH#F AH2F 8,000 8,243 6,132 7,458 7,200
AT = e 4.50 kgHldE-A] 2% 0 5,000 0 5,000 0
0.50 kgAH=F == 0 4,000 4,000 4,000 0
5.00 kgAHAF E(1+ 0 7,000 0 7,000 10,800
A 3l 1.00 kg™t AH2F 1,500 0 1,350 1,425 1,600
Al 31 alg= 1.50 ket 2H2% 0 0 1,000 1,000 0
A a1 tale 2.00 kgAH=F 51+ 0 4,250 0 4,250 23,667
A 31 tul g 4.00 kg Ak 5= 7,344 7,917 7,659 7,640 9,697
2.50 kgAH#F E(1+= 0 3,500 0 3,500 0
Aauke 4,00 ke 1% A= 6,000 0 0 6,000 8500
ATk 5.00 kenlHEA A% 0 11,770 5,833 8,802 16,125
A3k 5.00 kePEM) 1% 4,000 0 5,000 4500 8,333
LS5 7]

A= PATCIR-1) 0.20 kgAH=F 1,600 0 0 1,600 0
AEw7](Lyh) 0.50 kg%t E(1+ 0 0 2,500 2,500 0
A= PATCIR-1) 0.40 kgAH=F 0 0 2,000 2,000 2,000
RS (L) 4.00 kg Ak (15 0 23,000 14,450 18,725 0
A= PATCIR-1) 3.00 kgAH=F AH2F 7,000 13,375 0 10,188 8,750
RS (Luh) 5.00 kgAHAF A2F 0 0 26,000 26,000 18,750
s (LR 0.40 kgt 1,600 0 0 1,600 0
A= ATCIR-1Y) 2.00 kgAH=F AH2F 0 9,750 0 9,750 4,500
2EwW 7] (LH)  4.00 ke A A2F 16,887 21,412 27,854 22,051 16,080
A= ATCIR-1) 4.50 kgAHAF AH2F 0 11,000 0 11,000 22,000

a14]
10.00 ke 37 (1% 59,500 60,000 59,500 59,667 60,500

A}
2.00 kgAH#F 5= 38,000 38,000 38,000 38,000 38,000
1.00 kgAH=F 2,500 2,500 2,500 2,500 2,500
1.00 ke A+ (1% 0 0 2,500 2,500 0
10.00 kg’=} 51+ 24,971 25,438 24,185 24,865 29,886
A3 4.00 kgAHA} 51+ 0 0 29,167 29,167 0
A AkE] 1.00 kgAH=F 0 0 2,500 2,500 0
A AL 10.00 kg 3=} 51+ 0 176,000 176,000 176,000 176,000
4.00 kg’3=} S+ 25,167 24,705 27,545 25,805 25,342
A 1A 4.00 kgAH=F 40,000 40,000 35,000 38,333 40,000

alE
(L 0.20 kePPHH S(1% 0 4,000 0 4,000 0
(LA 0.50 kg%t 2,167 0 2,000 2,083 3,000
(L 0.50 kg%t S(1% 2,568 3,310 0 2,939 3,049
(LA 2.00 kgAH=F 51+ 11,059 0 13,000 12,029 13,017
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A ze st A4
TR 4.00 kedbat E(1% 18,333 38,000 36,000 30,778 0
(L) 0.20 ket Ao 0 2,733 0 9733 6,000
THE(AY) 0.40 ket 4,000 0 6,000 5,000 0
(DY) 0.50 ke o= 4,280 3,707 2.389 3,458 5499
(k) 2.00 ke At A% 0 0 12,000 12,000 11,000
TR 4.00 ke 0 41,750 0 41,750 41,556
THE(AY) 0.40 ket I 1,500 4,000 2433 2644 3,453
(L) 0.20 ke 3,000 0 6,800 4,900 4,500
(L) 0.30 ket =% 2,000 0 0 2,000 0
(L) 0.20 ke (s 0 2,200 0 2,200 500
TE(QW) 4.00 ke DB =05 8,600 0 0 8,600 0
==
TEA(QW)  1.00 ke (s 0 0 4,000 4000 3,500
TEA (L) 15.00 keAHA R 0 54,700 0 54,700 0
a1F9)
4.00 kg2 E(1% 10,175 16,615 16,692 14,494 14,843
A 3130) 2.00 kg9 2% Ao 5,000 0 6.500 5,750 0
A a139) 3.00 kg A=} E(1= 15,000 13,500 10,000 12,833 10,000
A 3130 3.00 kePPUl (s 0 15,000 0 15000 0
A 3130) 0.40 ke 0 0 1,000 1,000 0
A 3120] 1.40 k¥l 27 N 4,000 0 0 4,000 0
A 3139) 4.00 kg1 = v} (s 0 10,215 12,089 11,152 0
A 3130 4.00 kePET) =0 0 13,458 13.384 13,421 12,078
2.00 kg A4k (s 6,000 0 2.909 4455 3,750
) 31220] 1.00 keHl Y24 =% 0 0 4,000 4,000 0
A 3139) 2.00 kg Ak Ak =% 0 0 4,000 4,000 0
) 31220] 3.50 kgl d 5 7] =05 9,000 0 0 9,000 0
A 3139 4.00 kg2t =05 7,176 15,909 14.497 12527 9,415
) 31220] 4.00 kePPT) =0 0 19,286 0 19,286 0
3.00 kg2t (% 10,000 9,917 12,200 10,706 9,643
A 3130 2.00 kgl d 5 =) =05 6,000 9,000 6,845 7,282 0
A 3139 2.00 kg2t 7,500 0 9,000 8250 9,333
A 3130) 4.00 kgH 9 2% E(S 12,286 13,667 12500 12,817 10,000
A 3130 2.00 kg1 27} =05 0 0 9,000 9,000 0
A 3130) 3.00 kg Ak Ak A% 0 11,250 0 11,250 8,000
A 3130) 4.00 kg2 oS 9,758 13,885 13.832 12491 10,955
A 3139) 5.00 kg1 =7} (s 0 0 15000 15,000 0
A 3130) 6.00 kg 2+ oS 0 33,000 0 33,000 0
A 3139) 3.00 kg1 7} (s 0 0 9,750 9,750 0
A 3130) 3.00 kgt Q2% A% 0 8,250 0 8,250 0
A 5130) 5.00 kePETH =% 0 18,000 0 18000 17,000
2.50 kg Ak =0z 0 13,000 0 13,000 0
4.00 kegH Y B-7] =15 16,833 18,614 10420 18,289 23,131
9.00 kg 2+ =0 0 36,000 0 36,000 0
A 3159) 6.00 kg7t =0 0 18,000 0 18,000 0
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A Fe she A4
P EXS 2.00 kePE] =% 0 0 8,000 8000 4,000
A 3130 3.00 kePE] =05 0 0 12,000 12,000 8,500
A 3139) 4.00 kgH d %) A% 8,500 12,000 17.408 12,636 0
P EXS 5.00 ke A4t (% 0 21,250 0 21,250 0
ZEA
=5 0.30 kg2t (% 902 901 938 914 915
wn 0.80 kg4t =% 1,408 1,402 1,404 1,405 1,409
= 12.00 ke 3k E(1% 12479 12,490 12,497 12,489 12,486
wn 0.50 ka4t 5% 1,030 1,030 1,030 1,030 1,043
=5 20.00 kg AH=k (1% 15,000 20,100 15000 16,700 15,000
ST 20.00 kg2 2k 5% 0 10,000 0 10,000 10,000
=y 7.00 ke At I 6,500 6,500 6.500 6,500 6,632
B 16.00 ke Ak 2k (1% 14,600 14,600 14,600 14,600 14,600
S 0.10 ka2t R 350 350 0 350 0
= 0.84 kg2t (% 1,420 0 1,400 1,410 1,400
St 10.00 ke 3k (1% 15,000 0 12,360 13,680 15,000
= 84.00 kg2 =% 0 0 1,400 1,400 0
St 3.00 ke A4t R 4,500 4,500 4314 4,438 4,500
= 6.00 kg2t (% 0 9,500 0 9,500 0
R 12.00 ke A2+ E(1% 14,600 14,603 14,600 14,601 14,600
Sy
DeuE  1.00 kit (1% 34,500 21,000 34500 30,000 31,200
ZeuE 200 ket 5% 0 21,000 52.000 36,500 0
2y
SO(AE) 4.00 keH] DR A 5% 6,125 12,550 13.383 10,686 12,084
SU(AE) 400 kePET =% 4,250 0 0 4,250 0
(A8 0.40 ket 767 1,633 2.200 1,533 1,917
SO 4.00 keH]DEA Ao 5,000 0 15.000 10,000 14,051
SO(AE) 2,00 kedkat 5,600 9,000 8,993 7864 7,405
A2y 2.00 kg4t (1% 14,338 34,750 36,100 28,396 19,052
SU(AE) 400 kedkat A2 5.170 10,966 14522 10,220 9,106
(A8 0.40 ket 0 0 2.000 2000 1,200
SU(AE) 400 kedbat 6.500 14,000 12.375 10,958 14,278
SO 4.00 ke 5% 5,119 10,650 12,569 9,446 6,845
2 ) 2.00 kg2t A% 4,500 0 0 4500 7,000
6.00 kg 121} (1% 0 0 14,000 14,000 0
AANFCIE)  0.05 ke (% 0 0 1,000 1,000 0
AAMFIE)  0.45 keibat 5,000 0 0 5,000 0
AAMF(IE) 100 ke 15 A% 3,400 0 3,550 3,475 0
AAMFIE) 400 keikat 9,000 9,000 12,000 10,000 12,050
2he) 2 9- 5.00 ke 2t CASE 6,033 92,364 30.150 19,516 9816
AANFIE)  0.01 ket (% 0 0 500 500 500
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4 % a4 A4
AAANFCIE)  0.05 kedHAH 1,000 875 985 953 991
AAANFIED  0.30 ket 0 0 4,000 4,000 2,125
AANFCIED  0.50 keAHAk 3,000 2,813 3,000 2,938 2,971
AAANFCIE)  1.00 ke 12 =15 0 0 4,178 4,178 7,650
AAANFCIED  6.00 keikAk =(1% 0 5,000 0 5,000 6,500
AAANFCIED  0.01 kedkA 505 500 580 528 505
AAANFCIED  0.25 kedkAk 0 4,000 0 4,000 0
AAANFCIE)  1.00 ke 12 (3 0 0 5,300 5,300 7,600
o 4.00 kg 2+AH 5015 0 7,600 0 7,600 0
4.00 kg 121 1% 0 0 12,307 12,307 0
AAANFIED  0.70 k=t 3,000 0 0 3,000 3,000
73 3.00 ke A=k =15 0 2,000 0 2,000 0
FAE 4.00 kg1 &% 5% 0 6,050 4,375 5,213 0
AAAMF(71EH  0.20 kedA} 3,667 0 2,500 3,083 1,850
AAANFCIED)  2.00 kesHAk 5,667 0 6,000 5,833 4,671
AANFCIED  2.00 keAAk =15 2,600 0 0 2,600 0
AAANFCIE)  0.10 ke A= 1,000 917 875 931 929
AANFCIED  0.10 keAkAk =15 0 0 500 500 1,000
AAANFCIE)  1.00 kesHAH 3,000 2,625 2,875 2,833 4,667
AANFCIED  1.00 keAAk =15 0 31,500 500 16,000 4,450
ARFIE) 0.20 keAAl 1,940 2,120 2,440 2,167 2,281
10.00 kg A=+ 5015 167,00 146,014 151,667 154,894 147,627
AAANFCIED  0.05 kg¥-A 1,000 0 1,000 1,000 1,000
AAAF(71EH  0.05 kgRldE-A 0 0 1,000 1,000 0
73 8.00 kg 1 &1} 515 0 0 8,300 8,300 0
AAANFIEDH  4.00 kgAHA} =15 3,000 4,167 4,333 3,833 4,216
A E
3.00 ke 2HAH A% 0 9,000 0 9,000 0
4.00 ke 15 2% 16,186 15,506 19,580 17,091 15,022
5.00 kg A 2% 0 16,000 0 16,000 4,000
11.00 kg A=+ 2% 0 8,000 0 8,000 0
4.00 kg2 2% 0 17,337 14,028 15,682 15,000
7.00 kg Ak 2% 4,000 0 0 4,000 0
10.00 kg A=} 2% 10,500 10,000 0 10,250 7,000
2.00 kg4 2% 0 5,000 0 5,000 7,000
3.00 ke 7l 2% 0 5,000 0 5,000 0
el
2.00 kA= HE(3 0 0 27,000 27,000 0
7h Q) (2 uh) 1.70 ke A=t =15 0 0 15,000 15,000 10,000
0.40 ket =015 0 1,000 0 1,000 0
78l (2 uh) 0.15 ket 5015 0 500 0 500 0
0.50 ket (1% 600 0 1,100 850 0
2.00 kg A 5015 24,179 28,308 36,150 29,545 19,672
7191 () 2.00 kA= 2% 21,364 29,234 34,621 28,406 20,529
7191 () 2.40 kg4 5015 12,000 0 0 12,000 0
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A ze st A4
742l (A wh) 4.00 kgAH#F =15 5,500 18,000 19,750 14,417 9,403
A4 0.50 ket =1% 700 0 1,200 950 700
7ol 1.00 ke A% 0 300 0 300 0
RS 1.50 ke A+ =01% 0 0 7,000 7,000 5,500
el 2.00 kg4 1% 7,475 8,300 8,125 7,967 7,000
Mol 2.50 ke 7} A% 0 0 8,000 8,000 0
7o) (aluh) 1.00 ke A2+ 10,000 0 0 10,000 0
Mol 1.60 ke A+ A% 0 0 6,000 6,000 0
A4 3.00 kg4 E(1% 14,098 17,002 19,189 16,763 13,255
Mol 4.00 kg7t A% 3,000 4,417 6,750 4722 5250
1.30 ke A2+ E(1% 12,000 0 0 12,000 0
4.00 kg2t =1% 3,167 19,696 981 7,948 5,000
4.00 kgPPty =% 0 5,000 0 5,000 0
742l (A wh) 2.00 kgAH=F 20,129 25,554 31,734 25,806 20,247
7] (1) 2.20 kg7t =% 0 0 25,000 25,000 0
7l (aluh) 2.60 kg4t E(1% 15,000 0 0 15,000 8,000
Mol 2.70 kg2t A% 0 10,000 0 10,000 0
el 3.00 kg4t AH2E 11,106 15,363 16,518 14,329 12,240
Mol 3.10 kg2 =E1% 17,000 0 0 17,000 18,000
el 4.00 kg4 =% 7,188 7,882 16,395 10,488 10,331
2.00 kg2t AHo% 0 0 31,000 31,000 8,000
2.50 kg4 E(1% 10,000 0 0 10,000 0
A () 2.00 kg3 2} 4= 9,667 15,000 18,333 14,333 10,778
Q) (1) 2.50 ka2t A% 0 10,000 0 10,000 0
A () 4.00 kg3 7} A% 0 28,000 0 28,000 0
B4 1.80 ke AH A+ A% 0 10,000 0 10,000 0
B4 7.00 kg4 =01% 0 15,000 0 15,000 0
3.00 kg2t E(1% 10,479 15,111 16,972 14,187 11,097
B4 1.00 ke A+ =% 0 0 2,000 2,000 0
7ol 1.70 ke A2 A% 0 14,000 0 14,000 0
B4 2.00 ket Y% =% 3,000 0 3,500 3,250 0
el 4.00 k¥ 927 1% 3,867 5,537 5,500 4,968 9,000
701 (1) 3.00 kg4 215 18,456 18,774 24,753 20,661 16,724
A () 4.00 kePE =% 6,344 0 10,000 8,172 7,800
B4 2.00 kePET] =% 3,000 0 0 3,000 3,000
A4 2.20 kg3 7} A% 0 0 8,000 8,000 0
B4 3.00 kett =01% 0 0 26,000 26,000 0
A4 4.00 kgHl 9 2-#] A% 2,000 0 0 2,000 8,300
7ol 5.00 kg2t 1% 6,750 0 15,000 10,875 0
B4 0.70 ket =01% 1,300 0 0 1,300 1,400
7ol 0.80 ket 1% 800 0 0 800 0
B4 1.50 kel g B =01% 1,000 0 0 1,000 0
7ol 2.50 kg4t 1% 5,333 9,421 9,475 8,077 8,530
B4 3.00 kgPET) =01% 5,833 3,000 5,000 4611 7,400
7ol 3.50 ket Y57 =1% 2,000 0 0 2,000 0
2.60 kg4t =01% 9,000 0 0 9,000 7,000
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4.00 kgHl d&-A == 3,000 0 0 3,000 0
7S (L nt) 1.00 kg =} 2H2% 0 5,000 0 5,000 6,500
7l (A ut) 1.20 kgA+=} 2H2% 0 0 12,000 12,000 0
742l (A wh) 1.50 kg’=} AH2F 10,000 0 0 10,000 0
7Rl (duh) 1.90 ke =} 2% 0 18,000 0 18,000 0
742l (A wh) 2.00 kgAH#F == 20,006 28,057 33,248 27,104 19,912
A2l (A ut) 3.50 kgAH=H 515 0 0 24,667 24,667 0
7A0) <= 0.40 kg%t 1,400 2,000 1,200 1,533 1,880
Al 0.50 kgt 2H2% 800 0 0 800 675
ol 4 2.00 kgAF=t AH2% 0 8,000 6,500 7,250 5,000
Nel 4= 3.50 kg A=k 5= 15,000 18,600 18,875 17,492 11,732
G RIES 4.00 kegPE E(1%E 4,289 6,110 8,567 6,322 7,851
A 7]
A 71(LHH)  4.00 kg =} 515 13,000 13,000 13,000 13,000 13,000
WAP7I(DEH)  8.00 ke A At E(1%E 10,500 10,500 10,500 10,500 11,000
LU=y
w3 (LA 1.50 kgAH=F E(1+= 0 6,750 8,000 7,375 0
#E] a5 (duh) 2.50 kg A=k A2F 0 0 10,000 10,000 13,000
B aF(duh)  3.20 keAHRH 51+ 0 0 14,000 14,000 0
B 23 (LWh)  4.00 ket E(1% 14,365 24,446 30,971 23,261 19,850
] (I 3.00 kgAH=F HE(3 10,000 10,000 0 10,000 12,000
gl a3 (dyh)  3.60 ket E(1%E 0 12,000 0 12,000 0
FE] 3 (IWh) 4.70 kgAH A} 5= 0 0 32,000 32,000 0
w3 (LA 2.00 kgAH=F 51+ 4,750 10,033 13,653 9,479 8,152
FE] 3 (IWh) 3.00 kg’+=}F A2F 7,000 22,750 11,250 13,667 14,667
w3 (LA 4.00 kg 7] B} 51+ 0 23,333 0 23,333 0
FE] 2 F(IWh) 4.00 kgAHA} HE(3 18,000 19,000 0 18,500 9,000
Bl (e 3.00 kg Ak E(1% 7,844 14,033 22,137 14,671 11,300
FE] 2 F(IWh) 3.50 kg+=F 51+ 8,000 18,000 20,333 15,444 17,190
B3 (duh)  3.70 ke Ak E(1% 0 27,750 0 27,750 0
FE] 2 F(IWh) 4.20 kgAH A} 5= 0 25,000 0 25,000 0
el a3 (LY 5.00 ke Ak AH2% 0 46,250 45,627 45,939 0
w3 (e 2.00 ked A AH2% 0 10,000 12,438 11,219 10,442
FE] 2 F(IWh) 2.50 kg+=} 5= 6,250 0 25,630 15,940 12,167
w3 (LA 4.00 kgAHAF AH2F 14,199 27,053 34,075 25,109 21,135
] (A 4.00 kePEH 51+ 0 0 20,000 20,000 0
w3 (L) 2.00 kgAH=F - 0 8,000 0 8,000 0
we] a1 E(dwh) 3.00 kePEW 51+ 0 10,000 0 10,000 0
w1 F (L 6.00 kg A=k 51+ 0 23,000 0 23,000 0
(AW 2.00 kgHl 9 E-HA 2% 0 0 10,000 10,000 0
wa] (Y 3.00 kgAH=F 4% 0 17,000 0 17,000 7,250
(AW 3.50 kedA} 2% 0 33,250 30,000 31,625 21,875
wa] (Y 5.00 kgAF=F S+ 18,000 0 32,000 25,000 26,417
] a1 E(Awh) 4.00 kgAH=F = 9,333 19,667 24,000 17,667 9,800
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A Fe she A4

=H
2.40 kg2t =% 0 17,500 0 17,500 17,500
opu.% 15.00 kg4 FO% 0 102,000 0 102,000 0

“EelglH
CEREAN(Y 2.00 ket WE(3 5,000 7,600 0 6,300 2,233
e WA 2.00 kePEU A% 333 0 0 333 523
of - E}] 2.00 kg2t WE(3 775 1,067 1,467 1,103 925
CERMAL(Y 2,00 keAR A% 6,463 10,788 12,122 9791 8,726
CEREAN(Y 2.00 ke A =1% 7,018 12,603 14,482 11,368 5,889
of =B} 2] 2.00 kg4t =% 4,562 4,941 5,923 5142 4,150
e

4.00 kg7 E1% 21,000 21,000 21,000 21,000 17,900
8.00 kg2t =(1% 10,000 10,000 10,000 10,000 10,000
7.00 kg2t 2% 14,700 15,417 14,950 15,022 13,967

=)
ERTOES 0.90 kg7t 0 0 9,333 9,333 0
ERTORD 0.90 ket 0 0 10,000 10,000 0
ERTOE 1.00 ke A= 0 0 9,000 9,000 0

it
10.00 kg2 =% 9,248 8,914 9,290 9,151 9,273
S(eEl) 20,00 ket WE(3 0 28,000 30,000 29,000 21,500
Frpe 20.00 ke A2 BEG 23,000 24,000 28,000 25,000 23,400
g(edl) 20,00 ket 1% 0 0 57,000 57,000 31,000
Fope 20.00 ke A2 E(1% 35,000 39,500 45,808 40,103 36,558
B 20.00 kg A= AH2E 30,500 31,500 32.713 31,571 32,600
9.00 kg4 =1% 0 32,000 0 32,000 0
S(ed)  20.00 ke A 2% 31,545 32,000 35,000 32,848 34,971
8.00 kg 4} =% 0 9,500 0 9,500 0
(%) 10.00 kg3t A% 0 8,800 0 8,800 9,600

o=
=28 15.00 ke A =01% 0 190,000 0 190,000 190,000
(28 15.00 ket A% 0 150,000 0 150,000 160,000

o s
o (e ) 4.00 kg2t (1% 6,600 0 0 6,600 4,349
o (<l uh) 4.00 kg7 A% 3,500 0 0 3,500 4,000
o () 1.00 kggh 1% 2,080 2,004 1,560 1,881 1,502
o (<l ) 2.00 ket A% 4,884 5,084 4,943 4970 4,142
o (<l ) 1.00 ket A% 2,235 1,972 1,552 1,920 1,570
ST 2.00 ke¥t 1% 4,026 5,390 4,785 4734 4,131
giohluh)  10.00 ke A AH2E 17,000 0 0 17,000 10,467

[ERE]
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o
4

3L
=%

T4

4

HE(dyh)

=TGR
EEIGED
AE ] A ) 4

ge(dh)
AT G A el
A G A el Ak

EEICR))
EEICRD)
EEICRD)
EEICRD)

ge(dyh)

20.00 kgA+=H
1.00 kg=F
4.00 kg =}
4.00 kg”=k

10.00 kg’=}

20.00 kgA+=H
4.00 kg’ =}
4.00 kg”=k
8.00 kgA=H

20.00 kgA+=k

20.00 kg+=}
4.00 kgAH=F
4.50 kg A}
6.00 kgAH=F

10.00 kg’=}

20.00 kg+=}
1.00 kgAH=F
4.00 kg =}
1.00 kgAH=F
1.00 kgA+=}
4.00 kgAH=F

10.00 kg’ =}
0.50 kg’d=}
1.00 kg A}
1.00 kg’d-=}
4.50 kg =k
1.00 kg A}
1.00 kgAH=F
4.00 kg’3A}

10.00 kg’=}
4.00 kg’dA}
4.50 kgAHAF

10.00 kg 3=}
2.00 kg =+
3.00 kgAH#F
4.00 kg’d=}

10.00 kg 3=}
1.00 kgZd-=}

2.00 kg A+
1.00 kgZd=}
1.00 kg A}
10.00 kg’ =}
2.00 kg A+
1.00 kg’d-=}

BFAA (D)
F¢ 34
160,000 0
9,380 15,560
0 20,667
0 29,302
0 73,000
0 100,000
9,545 29,667
0 11,453
0 10,000
151,429 131,667
0 293,846
0 12,000
0 28,000
0 20,000
196 197,000 176,377
0 60,000
14,000 11,352
0 30,000
15,300 0
0 7,667
28,000 21,665
0 160,000
0 0
5,000 0
7,500 0
0 20,000
4,500 5,596
0 18,924
0 8,000 11,500
0 0 141,875
0 0 27,713
0 0 38,000
0 150,000 117,596
0 0 8,000
0 0 6,000
0 0 8,000
0 0 30,496
8,500 0 6,058
42,500 42,500
0 4,000
0 6,333
0 90,000 0
0 0 8,000
0 0 4,000

160,000
12,930
20,667
29,302
73,000

100,000
19,606
11,453
10,000

141,548

293,846
12,000
28,000
20,000

189,876
60,000
13,429
30,000
15,300
12,834
24,833

160,000

7,000
5,000
7,500
20,000
5,154
18,812
9,750

141,875
27,713
38,000

133,798

8,000
6,000
8,000
30,496
7,279

42,500
6,000
6,333

90,000
8,000
4,000

0
21,000

18,000
0
100,000

10,000

42,500
10,000
0
90,000
8,000
0
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EHA(Duh)  20.00 ket E(% 90,000 90,000 0 90,000 90,000
10.00 kg2 E(l% 55,000 53,222 53,000 53,741 0
7P A(54))  10.00 ket E(l% 55,000 0 53,000 54,000 55,000
EHA(FY) 1.00 kg2t 4,000 4,000 4,800 4,267 4,000
kx| (4lh) 4.00 kgAF=t 0 0 33,500 33,500 0
EHA(Duh)  20.00 ket 0 0 160,000 160,000 120,000
T2 (g8 20.00 kePPTH E(l% 0 185,000 147,381 166,190 185,000

T1.
SR(duh) 0.50 kg1 & E(l% 2,700 0 0 2,700 0
E1(duh 4.00 kg2t E(1%E 0 16,258 0 16,258 19,022
SR(duh) 4.00 kgPET E(1% 0 0 13,000 13,000 0
FR (Y 4,40 kg 1= E(l% 16,500 0 0 16,500 0
E1(Yduh 2.00 kgAF =t E(1%E 0 7,000 0 7,000 0
FR(Quh 4.00 kg 1= 22w 15,500 16,000 0 15,750 15,500
E1(duh 3.50 kg 1 &1} E(% 13,500 0 13,200 13,350 0
FR (Y 4.00 kg 1= E(l% 17,720 16,317 18,200 17,412 17,568
E1(duh 0.25 k¥t E(1% 1,100 0 0 1,100 1,400
FR (Y 0.28 k¥t E(l% 1,000 0 0 1,000 0
E1(duh 3.00 kg1 &7} E(% 11,500 11,000 11,000 11,167 0
1.00 kg1 &7 E(1% 5,000 0 0 5,000 0
E8(duh 0.30 kg ¥+ E(% 1,000 0 0 1,000 1,350
SR(duh) 2.00 kg1 & E(1% 8,000 0 0 8,000 9,000
SR(duh 4.00 kg2t 2% 0 0 16,000 16,000 0

=5
FE(Duh 0.25 kg7l E(1% 3,750 3,875 2,833 3,486 5,000

o3
w2 (k) 3.00 kg1 & E(1% 0 0 16,000 16,000 0
o3 (Ldh) 4.00 kg’d=} 5(1% 0 0 21,667 21,667 0
w2 (k) 10.00 kePPtH E(1% 0 0 45,000 45,000 0
w2 (k) 5.00 kg1 & E(l% 0 26,000 0 26,000 0
o (Hk) 10.00 kg 1&7 (1% 0 62,500 54,210 58,355 0
w3 (k) 4.00 kg 1=} E(l% 0 13,000 22,565 17,782 0
w26k 7.00 kg 1 &} (1% 0 0 38,000 38,000 0
w2 (k) 8.00 kg1 & E(1% 0 0 41,900 41,900 0
o2 (2 6k 4.00 kg 1= 2% 0 0 18,000 18,000 0
w3 (k) 8.00 kg4 =t E(1% 0 0 53,000 53,000 0

ERSEX
B2 9(AWH  4.00 ke A A A% 0 0 23,000 23,000 0
Y =AM

HeAvAD 2.00 keA A 0 8,000 0 8,000 0
AeANF(D 4.00 ket 7,500 10,500 8,000 8,667 12,286

ElRE
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A= (5)  18.00 ke E(1% 45,000 45,750 60,000 50,250 55,727
SRS 18.00 kg4 2% 0 15,000 0 15,000 0
Zel(5:¢l)  18.00 ket (1% 0 0 5,000 5,000 0
A= (5)  10.00 ke 0 0 40,000 40,000 50,000
#m (529 15.00 ke 0 0 40,000 40,000 48,333
AE(5)  18.00 ke 0 45,000 45000 45,000 50,000
el (%)) 5.00 kg4t A% 0 0 5,000 5,000 0
gdel(4=el)  17.50 ket A% 0 15,000 0 15,000 0
#m(529)  18.00 ke AH2E 30,000 40,000 33,333 34,444 40,000
7 =(529) 5.00 kg2t =% 0 0 23,000 23,000 0
#E(duh)  17.00 ke AH2E 32,000 50,000 52,086 44,695 60,833
=z el
Zoel(ad)  4.00 keAtR =% 0 0 37,000 37,000 30,000
Zulol(duh)  2.00 ket A% 3,500 25,000 11,911 13,470 6,745
Zoel(ad)  4.00 keAtR AH2E 19,008 38,263 37516 31,596 29,544
Zulol(duh)  2.00 ket =% 0 25,500 14,000 19,750 9,574
Ezvol 4.00 kg2t =1% 0 27,000 0 27,000 0
=29l 2.00 kg2t 6,000 0 6,000 6,000 5,000
Ezvol 2.00 kg2t =1% 2,957 0 0 2,257 4,577
ol
10.00 kg2 A% 0 0 39,778 39,778 0
uh(uh) 1.00 ket =(3 0 0 3,000 3,000 0
nh (<l uh) 1.00 ke A+ =(1% 0 3,500 0 3,500 0
uh(uh) 1.00 ket A% 0 0 3,000 3,000 0
10.00 kg4 E(1% 90,000 90,000 88,571 89,524 90,000
10.00 kg2t 45,000 68,333 58,333 57,222 53,000
uh(<luh) 1.00 ke$H =% 0 3,500 3,250 3,375 0
nhs
1.00 ke 7H =01% 0 13,500 0 13,500 0
5.00 kg 127} E(1% 18,000 11,500 20,750 16,750 28,475
5.00 kg2t =(3 7,000 0 0 7,000 0
10.00 kg 127} A% 0 15,000 0 15,000 0
7hbs 9% 0.40 ke At 3,667 3,600 3,600 3,622 4,075
7rubs 9w 0.50 ke 2,000 2,000 2,000 2,000 2,000
7hbs 9% 0.50 kedk At 1% 0 0 2,000 2,000 2,000
s 9E 10.00 ket AH2E 89,000 89,000 89,000 89,000 90,000
ks 9E 20,00 keHlEEA] 95 (% 0 90,000 90,000 90,000 93,333
RIATE S 4.00 kg2 27,000 0 0 27,000 0
RIASE 4.00 kg2t 1% 0 32,000 0 32,000 0
s 9E 10.00 ket =(1% 95391 95,686 95,425 95,500 96,179
s 9% 20.00 ked At HE(3 0 0 150,000 150,000 172,500
7Fs(59)  20.00 ket E(1% 140,00 0 0 140,000 142,200
Puls A 4.00 kel BT =01% 0 25,000 29,000 27,000 18,700
4.00 kg2t =1% 0 17,579 0 17,579 18,057
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5.00 kgAH#F AH2F 12,000 0 0 12,000 0
7hols Je 1.00 kgX+=} 7,800 7,800 7,771 7,790 8,133
7Hls @ 10.00 kgHI d5-A] S0+ 90,000 93,333 90,000 91,111 93,333
A z2Fa] shx| 4.00 kg1 & AH2F 18,500 20,500 14,000 17,667 0
Ptz 3R 4.00 kg 1= S0+ 23,000 22,800 22,000 22,600 15,637
ol kA 6.00 ke 1& AH2F 40,000 27,000 0 33,500 12,272
6.00 kg1 & S0+ 20,000 0 0 20,000 0
7hlbs 9 7.00 kgAH#F AH2F 0 56,000 0 56,000 0
7hols Je 10.00 kg’3=} H3Z(3 88,239 89,500 89,148 88,963 89,564
7hlbs 9 e 20.00 kg®l d &-#] HE(3 165,00 161,765 153,857 160,207 171,026
7hots Je 20.00 kgr d&E-A] 110,00 110,000 110,000 110,000 109,500
7hb=(4=41) 20.00 kgA+=k 950+ 80,000 0 0 80,000 90,000
n=2 (54 10.00 kg’ =} 0 30,000 0 30,000 0
duls FHA| 0.50 kg =k 0 0 2,000 2,000 0
5.00 kg1 &} AH2F 15,000 0 0 15,000 25,350
10.00 kg”H=F = 40,000 34,667 33,333 36,000 38,000
7l 9 e 20.00 kg®l d &-#] E(1+= 178,33 175,110 171,286 174,910 184,359
o= A 4.00kg1E"% AH2F 0 0 24,000 24,000 14,500
4.00 kg1 & E(1+= 21,280 71,500 16,750 36,510 18,243
8.00 kg1 & E(1+ 26,417 23,000 0 24,708 27,720
7Zhlbs 9 e 10.00 kg’=} 950+ 46,000 48,500 48,500 47,667 47,447
7Zhibs 9= 20.00 ke¥ld B4 (25 0 0 145,000 145,000 0
7ZHhls 9= 20.00 kg H3Z(3 0 0 170,000 170,000 174,500
7hoks oA 10.00 kegPPH (1% 0 50,000 0 50,000 0
nhEE (49 8.00 kg =+ 5(1% 31,990 32,000 29,571 31,187 30,200
dnls kA 4.00 kg Ak 25 0 0 14,000 14,000 15,876
4.00 kg 1= A2F 7,583 8,318 10,588 8,830 14,250
7l Y e 6.00 kgAH=F AH2F 0 48,000 0 48,000 0
7Zhabs 9= 20.00 kgAHAF 95(& 0 0 100,000 100,000 104,286
7Zhul= A 20.00 kg+=} 95 (& 0 0 85,000 85,000 0
7hoks oA 20.00 kgPPth 5= 0 100,000 0 100,000 0
iR 8.00 kgA =+ 51+ 31,400 31,867 32,000 31,756 31,313
nb5&(4) 0.50 kg%t 2,500 2,500 2,500 2,500 2,500
nhEE (49 0.50 kgt 5(1% 0 0 2,500 2,500 0
10.00 kg1 & 5= 0 41,500 0 41,500 45,000
7ZHls 9= 0.20 kg’d=} 1,349 1,356 1,357 1,354 1,317
7hls 9 0.20 kg =#k 515 0 0 1,000 1,000 1,450
7Zhls 9= 0.30 kg’d=} 1,500 0 2,000 1,750 1,750
o= 31X 4.00 kg1 &5 2H2= 16,357 15,542 13,250 15,050 19,698
ks kA 6.00 ke 1& 51+ 36,000 22,000 0 29,000 19,246
lda=1
=y I 1.50 kg A} 4,000 0 0 4,000 2,650
k7 eR (L W) 1.50 kgZd=} S+ 4,083 5,100 5,438 4,874 4,583
Uo}_ﬂ
WA (duh) 4.00 kg”dA} 515 0 0 66,000 66,000 35,000
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of Z} 31 3.00 kg2t 2% 51,211 0 0 51,211 63,400
) 31(52¢)) 4.00 kg7t AH2E 36,000 66,000 0 51,000 0
m}31(Q1 ) 5.00 kg4t (1% 51,609 50,556 76,000 59,388 54,536
Tk 31(55)) 5.00 kg2t 2% 46,561 0 0 46,561 46,174
T} 31(2)9h) 4.00 kg A2 A% 0 0 45000 45,000 0
T}k 31(219h) 3.00 kg2t =% 57,340 80,000 0 68670 70,303
e
] 9] 9 4.00 kg7 =% 0 20,000 13,333 16,667 15,902
A e] 9 o 1.00 ke$H =% 0 1,300 0 1,300 0
4.00 kg2t =1% 0 13,300 0 13,300 12,750
A e] 9 o 4.00 ket =% 6,750 8,000 9,111 7954 8415
A 9 o 5.00 kg4t A% 0 4,000 0 4,000 0
v 9 o 4.00 ket A% 6,000 6,000 0 6,000 8522
A 9 o 4.00 kg2 A% 4,000 5,400 0 4700 7,898
v 9 o 2.00 kg2t A% 0 2,000 0 2,000 0
A 9] o 4.00 kg2 E(1% 11,000 10,086 0 10,543 11,686
] 9]0 4.00 k¥l H 2] =1% 5,000 0 0 5,000 0
A 9] o 2.00 ke¥t A% 2,000 0 0 2,000 2,600
| &
7.00 kg4t 2% 14,127 20,478 9,337 14,647 0
SPR 8.00 kg4t =% 0 0 92,998 22,998 0
5.00 kg2t =1% 0 15,325 18,417 16,871 2,000
W EA 3.00 kg4 = 0 10,500 0 10,500 0
W E 5.00 kg2t =01% 0 15,310 0 15,310 0
W EA 10.00 kg4 A% 0 0 10,726 10,726 0
7.00 kg2t WE(3 0 0 2,417 2,417 0
9.40 kg4 95(% 0 4,000 0 4,000 0
Y EA 4.00 kg3 7} =% 0 0 18,000 18,000 0
W EA 8.00 kg 34} E1% 12,240 17,157 17,408 15,602 14,078
8.00 kg 32} A% 9,600 0 7,533 8,566 8,237
Yl EA 8.00 kg+=} = 0 0 5,833 5,833 5,333
259 12.00 kg3t 95(% 10,000 20,000 0 15,000 0
259 12.00 ket E(1% 40,000 40,500 34,333 38,278 0
A 8.00 kg 4} =01% 0 14,635 0 14,635 17,538
4.00 kg2t =1% 0 10,000 14,700 12,350 0
8.00 kg4 1% 18,102 21,172 20,845 20,040 16,920
9.40 kg2t 1% 0 23,231 0 23231 0
A 8.00 kg3 7} A% 0 10,444 0 10,444 13,135
8.00 kg2t = 0 8,500 3,000 5750 3,500
Y EA 5.00 kg4 A% 8,500 8,500 9,000 8,667 2,000
259 12.00 ket 2% 25,000 21,000 20,000 22,000 0
Y EA 3.00 kg4 =01% 0 29,318 18,782 24,050 0
HIEA 6.00 kg A=} =5(1= 0 0 14,000 14,000 0
Y EA 8.00 kg4 95 (% 0 5,000 4,083 4,542 0

U EA 8.00 kgt AH2F 19,840 15,919 17,001 17,587 17,294
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8.00 kgAH#F 95 (& 5,000 13,500 9,367 9,289 2,906
HEEY) 5.00kedAt s 0 0 14,000 14,000 0
E/\] [<}]

Aol () 4.00 kgRl H5-A] 5(1% 0 0 5,000 5,000 0
RAII(AWY 4,00 kePEW =% 0 4,000 0 4,000 0

Eo]
1.00 kgX+=} (1% 0 0 17,000 17,000 17,000
1.50 kg’=} 515 0 0 70,000 70,000 70,000
10.00 kg’=} (1= 0 180,000 0 180,000 0
0.50 kg =} = 0 0 34,000 34,000 0
A&l 0.50 kgAH=F E(1+= 0 4,000 4,000 4,000 3,917
Faol 0.15 kgAH=F 0 1,933 0 1,933 1,867
ko) 2.00 kgAHAF (1% 11,000 0 0 11,000 11,046
Faol 4.00 kg”d=} E(1+= 0 33,200 33,200 33,200 33,200
o =5 20.00 kgA=}F A2F 12,757 14,199 15,387 14,114 12,926
ok -] 5 10.00 kePEH 515 0 0 25,000 25,000 0
Faol 2.00 kgA=+ AH2F 9,000 0 0 9,000 9,750
2.00 kgAH=k = 0 0 5,000 5,000 0
20.00 kgA+=k E(1+= 13,649 12,833 13,428 13,303 16,321
20.00 kgPPth 51+ 0 13,800 0 13,800 0
Faol 1.00 kgAH=F 51+ 52,000 10,000 0 31,000 9,400
Fajol 10.00 kg’ 3=} 5= 0 42,000 0 42,000 39,000
=7 20.00 kg =} 5(1% 18,152 17,273 20,612 18,679 17,686
Fagol 16.00 kg’ 3=} 5= 45,467 44,639 48,250 46,118 42,800
15.00 kg’d-=} 5(1% 10,000 0 0 10,000 0
20.00 kgA+=+ A2F 9,620 9,580 13,000 10,733 12,013
TR 5 18.00 kePEH 5(1% 26,000 26,000 26,000 26,000 26,000

T
Fa=(ddh 0.16 kgAH=F 800 753 1,282 945 792
Ha=(duh) 0.50 kg”d=} 3,000 0 0 3,000 2,778
Fa=(ddh 0.05 kgAH#} 327 344 339 336 350
(g 0.06 kgAH=F 350 350 350 350 350
Ha=(ddh 0.16 kg’dA} 51+ 0 0 500 500 763
Fa(duh) 0.10 kg’d=} 350 0 0 350 400

A
A5A 10.00 kg 3=} 51+ 18,000 18,000 18,000 18,000 18,000
A5EA 2.00 kgAH=H S+ 0 11,500 11,500 11,500 11,500
A5A 5.00 kg A+ 51+ 11,500 11,500 11,500 11,500 11,500
A EH 1.00 kgZ3=} 2,000 2,000 2,000 2,000 2,000
A EA 1.00 kg A} 51+ 0 0 2,000 2,000 2,000
AEA 4.00 kg’d=} S(1% 0 11,500 18,000 14,750 13,000
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.
T3t (duh) 1.00 kgAFAk E(1= 0 8,000 0 8,000 0
H3lah(ddh) 1.00 kePPU =0 0 0 5,000 5,000 0
T3l (duh) 1.20 kgAF Ak AH2% 5,250 4,300 4,205 4,585 0
H3la(ddh) 1.20 gPPH =0 0 5,813 0 5,813 0
T3l (duh) 1.20 kgAFAF E(1= 5,150 5,712 5,091 5,318 0
H3lah(ddh) 1.00 kgAFAF A% 3,500 0 0 3,500 0
3l a} 1.20 kePPUH E(1= 5,100 0 0 5,100 0
T3l a(dut) 1.20 kePPH E(1= 4,542 4,979 5,193 4,905 0

nlitel
k] (L) 0.40 kg 4,500 6,500 0 5,500 5,429
=] 4.00 kePEH (15 0 0 12,000 12,000 0
Eu|}g 5.00 kg XA} AH2% 0 0 20,000 20,000 16,000
v (L) 0.50 kg%t 2,167 3,000 3,750 2,972 2,250
wl ] (dut) 1.00 kg A=k 0 8,000 8,375 8,188 0
= 3.80 kg XA} E(l= 0 15,000 0 15,000 0
Enli}g 4.00 kgAF At AH2= 27,900 25,775 25,124 26,266 15,312
Eu|}g 4.00 kgl E-A E(1= 6,063 14,444 13,300 11,269 7,559
Enli}g 4.00 kgAHAF E(1=% 24,652 36,025 33,529 31,402 24,169
w2 (L) 0.50 kg% E(1= 0 0 4,000 4,000 0
ZEnlr}g 3.00 kg A=}k AH 2% 0 13,500 0 13,500 0
Eu|}g 4.00 kgAFAF 0 20,000 20,000 20,000 20,000
=1 4.00 kgvl dE-A 2% 6,000 17,333 16,107 13,147 8,586
wuE] (duh) 4.00 kgAFA}F 20,000 20,000 0 20,000 13,333
aly2] (L Hh) 4.00 kg XA} E(l= 15,000 34,500 29,250 26,250 23,667

we)
=71 < 7.50 kg A} E(1= 11,000 11,000 11,000 11,000 11,000
=7]v Y 7.00 kgA=}F E(l= 13,400 15,071 14,143 14,205 15,163
=71 < 8.00 kgAA} E(1= 12,042 11,500 11,500 11,681 11,313
=7]v Y 4.00 kg XA} E(l= 7,000 7,000 7,000 7,000 7,000
=71 < 8.00 kg AA} 0 12,000 0 12,000 0
=7]v Y 9.00 kg=}F E(l= 17,000 16,600 16,500 16,700 16,333
=7|n Y 12.00 kgAF =} E(1% 27,000 27,000 0 277,000 27,000
=7]v Y 5.50 kg A=}k E(l= 8,000 8,000 8,000 8,000 8,000
S

v G FH UG E(Y 4.00 kgAFAF E(l1= 0 13,000 0 13,000 11,700

s
WEH (G 2.00 kePEH =0 2,000 0 0 2,000 0
W= (dwh) 4.00 kePEH E(l= 4,000 0 0 4,000 0
EIREABIESp) 13.00 kgAF=} E(1= 19,481 21,943 23,776 21,733 21,610
vl (=9 13.00 kgAF=} 95 (= 10,400 7,750 11,567 9,906 11,571
EIREABIESp) 13.00 kgAF=} AH2% 18,082 21,620 23,187 20,963 20,403
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o = (Lduh) 4.00 kg’dA} AH2F 0 3,000 0 3,000 8,500
o] = (dwh) 7.00 kgAF=H S0+ 4,000 0 0 4,000 0
of F=(Lduh) 8.00 kg A+ AH2F 7,200 0 0 7,200 7,500
(el 11.00 kg7l S0+ 0 9,000 0 9,000 0
k() 4.00 kg2 EH == 0 1,000 0 1,000 0
h(duh) 6.00 ke1="4 =5 0 4,500 0 4,500 0
k() 8.00 kg 7N E(1+ 0 5,500 0 5,500 8,000
o (L Hh) 5.00 kgAF=F 5= 7,000 6,604 8,700 7,435 10,902
o F=(Luh) 10.00 kg’=} AH2F 10,727 0 0 10,727 0
o (L Hh) 8.00 kg A=Ak HE(3 5,500 0 0 5,500 0
vH(dut) 9.00 kg7 = 0 6,000 0 6,000 7,250
k() 10.00 kg1 &4 51+ 0 5,167 6,000 5,583 0
vH(dut) 25.00 kg+=} = 0 0 18,000 18,000 0
o F=(Luh) 4.00 kgAH=F 51+ 7,745 7,827 8,489 8,020 8,625
o = (Ldwh) 8.00 kgA=k = 7,746 0 0 7,746 18,667
k() 7.00 kg 7N E(1+= 0 5,000 0 5,000 6,000
vH(dut) 10.00 kg7l = 9,000 8,000 0 8,500 0
k() 13.00 ke E(1+= 0 11,000 0 11,000 0
v 15.00 kg7l 50+ 11,000 0 0 11,000 0
o = (Luh) 10.00 kg’=} E(1+= 50,250 13,000 0 31,625 7,000
wH(ddh 10.00 kegPPH (1% 0 0 36,000 36,000 0
1.00 kgAH=F 0 0 2,500 2,500 0
wH(ddh) 10.00 kegPPH} 2% 0 0 23,000 23,000 0
H}-2-0}
gl 3= (d 1.00 kg”3=} 0 0 4,000 4,000 4,000
Hhe-En}
18- 2.80 kgA =+ 51+ 0 8,000 0 8,000 0
HEEnE 2.80 kgAH Ak 2% 0 8,000 0 8,000 0
18- 4.00 kgAHAF = 0 13,500 0 13,500 13,000
=g 4.00 kgAHA} A2F 7,787 14,431 18,025 13,414 6,474
F=uks 5.00 kgA=+ 5(1% 18,800 12,820 25,948 19,189 13,886
58 3.00 kgAH#F 10,000 0 0 10,000 0
o Fuke 3.00 kgAH=F E(& 14,951 11,831 16,350 14,377 9,961
58 4.00 kg’ A} 51+ 20,709 18,906 22,398 20,671 8,395
Fuks 5.00 kgAF=F 2H2% 14,861 15,687 21,674 17,407 8,334
=8 2.60 kg A2+ 51+ 0 5,000 0 5,000 0
58 4.00 kgAH=F HE(3 0 15,500 0 15,500 7,274
e ErE 5.00 kgAH=F S+ 0 0 25,750 25,750 0
HHS EulE 3.00 kgAH=F 51+ 0 8,000 0 8,000 9,763
| =18 3.00 kgAH=H 2H2= 14,126 10,578 14,528 13,077 8,455
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HEUE(QEY) 4.00 ke A =% 7,447 9,984 12,125 9,852 9,953
MR (Y 4.00 ke HO% 5,500 10,000 9,143 8,214 5,000
HREUE(AEY 2,00 ke 10,000 0 8,000 9,000 8,000
st 7.50 kg4t 1% 0 0 16,600 16,600 0
%8} 4.50 kg7 =% 7,476 0 0 7,476 0
Al 51 15.00 kg4 = 16,137 0 0 16,137 16,640
A 15.00 kg2t 2% 30,679 95,700 922,255 26,211 27,303
A8} 7.50 kg4t A% 0 0 26,911 26,911 0
915} 7.50 ke 2} =1% 0 17,235 14,221 15,728 0
15.00 kg4 =% 0 924,927 27,000 925,964 0
A3 7.50 kg4t =% 0 0 95,607 25,607 0
BE 10.00 kg2 =% 0 0 15,000 15,000 0
918} 15.00 kg4t E(1E 42,628 41,678 30,049 38,118 0
15.00 kg2t A% 0 0 25,000 25,000 0
A3 7.50 kg4t A% 0 0 23,565 23,565 0
A 15.00 kg2t 9= (% 8,802 0 0 8,802 14,260
A3 15.00 kg4t E(1% 24,849 28,350 26,374 26,524 36,773
915} 15.00 kg2 2% 23,281 31,933 26,419 27,211 0
7.50 kg4t =% 0 0 34,429 34,429 0
st 15.00 kg2 AHo% 0 0 29,000 29,000 0

Ve

TAME 1000 ke 1B AH2E 10,120 9,445 9,290 9,619 7,040
8.00 kg2t 1% 6,549 7,750 8,000 7433 9,717
) 2 8.00 kg 4} AH2E 13,846 13,725 16,300 14,624 15,490
] 10.00 kg2 0 0 17,000 17,000 0
) 2 10.00 kg2 1% 12,999 15,768 18,521 15,763 13,478
| 2 12.00 kg3 2} =% 0 16,548 27,000 21,774 18,446
8.00 kg 1=} =15 0 0 5,600 5,600 0
10.00 kg3 2} A% 0 11,250 5,227 8,239 9,951
) 2 2.00 kgt =% 0 0 3,600 3,600 1,869
| 2 6.00 kg 32} HE(3 8,256 12,000 0 10,128 0
A=wE 10.00 ke 1= =01% 9,475 7,266 9,126 8,622 9275
) 8.00 kg 4} 2% 16,456 13,721 16,495 15,557 16,278
] 10.00 kg2t A% 0 13,375 17,333 15,354 13,915
10.00 kg4 =01% 9,712 8,695 10,406 9,604 9,576
12.00 kg2t 1% 9,500 0 16,358 12,929 7,218
15.00 kg4 =01% 0 11,188 15,675 13,431 13,512
] 2= 9.00 kg4t A% 8,000 14,500 0 11,250 11,125
6.00 kg2 =01% 7,500 0 0 7,500 0
8.00 kg 34} 2% 0 0 7,500 7,500 0
10.00 kg 121} =01% 0 10,000 0 10,000 7,200
bl 2 8.00 kg4t 22,000 21,178 19,800 20,993 17,955
14.00 kg2 =01% 0 12,000 0 12,000 15,000
) 2 7.00 kg2 AH2E 13,000 0 0 13,000 0
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) 2= 8.00 kg7t 4% 0 0 12,000 12,000 0
) 2 8.00 kg4 HE(3 4,000 11,500 14,000 9,833 10,417
25z
BRaHE)  12.00 ke7] B AH2E 100,00 0 0 100,000 0
Ho}
ZL] 4.00 kg7 2% 13,888 17,333 0 15,611 14,299
7B 10.00 kg4 (1% 23,033 922,968 0 23001 32,128
s 2.50 kg2t =01% 0 3,000 0 3,000 10,970
2R E 4.00 kg2t =1% 0 6,684 7,886 7,285 0
4.50 kg Akt E(1% 14,158 14,552 16,325 15,012 14,954
ZE] 4.00 kg 7} 9= (% 4,000 0 0 4,000 3,833
A 5.00 kg4t AH2E 11,433 0 0 11,433 9,781
28 E 4.00 ke A=t A% 0 0 2,000 2,000 0
4.00 kg2 6,000 0 0 6,000 12,500
o 10.00 kg2t =1% 0 28,667 0 28,667 30,400
oz 10.00 kg4 2% 16,732 0 0 16,732 0
de=2e 10.00 ke 4% 9,546 5,000 0 7,273 6,800
u} = 7} 4.00 kg7 AH2E 10,962 9,624 0 10,293 11,092
2] 5.00 kg2t E(1% 13,342 0 0 13,342 16,535
a1 2] 10.00 kg4 A% 3,000 0 0 3,000 0
ol 7 5 4.00 kg4t A% 0 6,750 5,423 6,087 0
7] 3} 4.50 kg2t =1% 8,842 9,652 0 9,247 0
AFAH 4.00 ka2t A% 5,500 11,462 0 8,481 0
ZE: 10.00 kg2 =01% 8,000 0 0 8,000 0
#AZE 10.00 kedHR 1% 27,182 26,141 34,822 29,382 0
na= 4.00 kg2 A% 0 5,422 0 5,422 0
QR AL 4.50 kg4 1% 12,177 14,121 0 13,149 6,800
guZe 4.00 kg3 7} 2% 13,139 0 0 13,139 17,888
Zete 4.50 kg4 (1% 15,325 12,310 0 13,818 0
RS 4.00 kg3 7} E1% 11,297 12,556 13,134 12,329 12,581
B 5.00 ke 4} =01% 4,375 0 0 4375 8175
RS 8.00 kg 32} E(1% 26,933 0 0 26933 0
A8 10.00 kg2 = 4,739 0 0 4739 7,738
B 10.00 kg2 2% 13,687 20,782 0 17,234 27.179
EE A 2.50 kg2t 1% 5,983 0 0 5983 10,860
aglolE 4.00 kg2 95 (% 1,000 0 0 1,000 0
agolE 4.00 kg A2 A% 7,409 9,039 0 8,224 7,406
10.00 kg4 =E1% 22,156 95,446 24,366 23,989 28,201
Yeze 4.00 kg A4} 1% 9,520 5,222 0 7,371 0
Jroe 8.00 kg4 =01% 7,000 0 0 7,000 0
dEZE 10.00 ket 95 (% 8,206 9,625 20,000 12,610 1,500
P2 10.00 ked A 2% 25,243 17,435 0 21,339 13,735
u} % 7} 4.00 kg2 E(1% 11,052 11,025 13,595 11,891 13,678
LA 4.00 kg3 7} A% 6,000 0 0 6,000 7,006

4.00 kg2t AH2F 5,508 6,945 0 6,226 4,707



HAZE AlA AR

ZH9x 0 2022-09-16
g d=F : 2022-08-31 23
= 2% 32 =3 BEAA (D)
B z¢ G A4
4.50 kgAFA}F E(l= 0 6,705 0 6,705 0
= 5.00 kgX=} 0 4,000 0 4,000 0
&L=} 10.00 kgAF=} =0 5,000 0 0 5,000 11,923
74 B 4.50 kgAFAF AH2% 6,000 0 0 6,000 9,151
S R=:h] 4.00 kgAFAF AH2% 7,500 0 0 7,500 9,619
&0} 10.00 kg1 & E(1= 6,000 0 0 6,000 11,685
7B 10.00 kgAFA}k 95(= 6,011 0 0 6,011 11,018
1ol E 3.00 kg A=A} E(l= 6,573 0 0 6,573 0
A= =y 4.00 kg A} =0 0 8,189 0 8,189 9,508
4.50 kgAFAF AH2% 12,667 6,576 12,000 10,414 10,083
o 4.00 kgAFAF E(l+ 17,012 13,428 9,625 13,355 18,804
o] = Al 4.00 kgAFAF E(1= 9,746 8,667 0 9,206 15,769
o &+ 4.00 kgAFAF E(l= 0 8,350 13,441 10,896 0
1R 4.00 kgAFAF 415 2,000 0 0 2,000 4,000
=t 5.00 kg XA} AH2% 7,531 4,000 10,045 7,192 6,000
=7} 5.00 kg AHA} E(l+ 6,350 0 0 6,350 8,917
L= 5.00 kg XA} E(1= 0 4,500 0 4,500 28,154
W= 10.00 kgAH=} 4% 10,000 0 0 10,000 15,750
L= 10.00 kgAF A} AH2% 0 0 9,429 9,429 21,765
LR 10.00 kgAFAk 95 (= 3,500 0 0 3,500 15,000
e 10.00 kgAFA} 415 12,000 0 0 12,000 0
NHAFTE 4.00 kgAF A} 2% 6,678 5,000 0 5,839 0
21 4.00 kg A} 2% 13,279 11,975 0 12,627 14,235
IR 4.00 kgAHAF E(l= 0 5,065 0 5,065 0
A% 5.00 kg A} 2% 9,083 7,000 0 8,042 10,975
A% 5.00 ke 4 0 0 14000 14000 1,000
A E=411] 4.00 kg A} 2% 0 12,597 13,776 13,186 0
HEEWE 3.00 kgAA} E(1= 7,241 0 0 7,241 0
slelA| o} 5.00 kgA=}F E(l= 0 2,000 12,806 7,403 17,421
3le}A] o} 10.00 kgAFA} 0 9,000 0 9,000 0
3T 2.50 kg A} E(l= 8,000 0 0 8,000 9,103
iy 4.00 kgAFAF E(1=% 12,556 11,636 11,451 11,881 13,244
IHEE 4.00 kgAHAk 2% 0 4,680 0 4,680 4,667
3.50 kg =} E(1%5 7,116 0 0 7,116 11,730
4.00 kgAHAF 95 (& 4,500 8,500 0 6,500 9,333
4.00 kg A} E(1% 12,360 13,544 13,062 12,989 14,219
5.00 kg #} AH2% 8,508 3,100 0 5,804 10,047
10.00 kg =}k 95 (% 8,800 5,357 12,500 8,886 12,824
o 4.00 kgAFAF AH 2% 13,212 20,302 0 16,757 17,295
o < 4.00 kg A2k AH2% 0 0 7,000 7,000 0
=7} 4.50 kgAFAF E(l1= 11,289 9,600 9,444 10,111 12,771
W= 4.00 kg A2k E(l= 9,187 10,416 11,234 10,279 11,996
LR 4.50 kgAFA}F E(1= 13,461 17,009 13,019 14,496 17,572
= 10.00 kgAF =} E(l= 29,333 32,375 0 30,854 21,000
Al 4.50 kgAFA}F AH2% 6,735 9,906 8,500 8,380 0
Al 5.00 kg A=A} E(l= 5,000 0 0 5,000 8,000
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A ze st A4
= 2 4.50 kg7 =% 8,842 0 0 8,842 0
Hna= 10.00 kg4 (1% 10,000 0 0 10,000 0
R FE 4.00 kg A4 E(1% 17,382 11,111 9,786 12,760 0
27 4.00 kg7 =(1% 13,927 18,802 12,921 15,217 16,502
21 4.50 kg A4t 1% 7,875 0 0 7,875 13,834
o 4.00 kg7 =(1% 13,928 16,138 17,225 15,764 17,403
= 5.00 kgAHAF 9=(=F 0 0 12,000 12,000 7,000
e 5.00 kg2t =E(1% 15,095 10,235 95,347 16,892 13,660
e 10.00 kg4 0 7,000 0 7,000 0
T 4.00 kg7t A% 0 9,106 0 9,106 0
5w 4.00 kg7 AH2E 10,523 11,523 12,240 11,428 11,007
e 4.50 kg2t 0 14,750 0 14,750 0
5 5.00 kg4 95(% 3,000 0 0 3,000 0
e 10.00 kg2t 0 5,500 0 5,500 0
2.50 kg2t =1% 4,367 0 0 4367 9,773
5.00 kg4t 95 (% 0 6,000 0 6,000 7,792
5.00 kg2t =E1% 11,097 12,190 13,139 12,142 13,181
10.00 kg2 A5 4,667 0 0 4667 8,034
10.00 kg2t AH2E 12,306 5,689 0 8,997 25,976
gae 4.00 ka2t =% 9,266 14,690 10,684 11,547 12,923
ol 4.00 kg2t =1% 8,889 0 0 8,889 0
o o 4.00 ka2t E(1% 14,200 12,667 0 13,434 0
o o 4.50 kg 7} =% 0 15,800 0 15,800 0
o < 10.00 kg2 =15 31,484 24,000 0 27742 28,042
=E 4.00 kg3 7} E(1% 12,348 10,588 0 11,468 17,224
u} = 7} 4.00 kg7 95(% 0 2,938 0 2,938 0
kA B 4.00 kg7 =% 0 0 21,833 21,833 0
3 10.00 kg2 E(1% 19,344 33,722 0 26,533 24,888
gEZE 4.00 kg7 =% 8,865 0 0 8,865 15,073
R 4.50 kg7 =E(1% 17,000 15,143 0 16,072 23,310
e e 4.00 ka2t 2% 10,739 11,463 0 11,101 14,265
AEwWE 1300 kedtR A% 7,036 0 0 7,036 0
A 10.00 kg4 AH2E 16,278 0 0 16,278 20,331
23 4.00 kg3 7} =% 0 14,070 32,795 93,432 0
3hepA] o} 5.00 ke 4} 95 (% 0 0 9,375 9,375 0
g 2.50 kg3 2} A% 6,440 0 0 6,440 10,213
e 4.00 kg2 9E(% 1,000 0 0 1,000 7,333
e 4.50 kg4 A% 3,500 8,250 0 5875 11,834
) 4 10.00 kg2 E(1% 16,372 0 0 16,372 22,353
opRuw 4.00 kg2 E1% 14,600 18,046 14,472 15,706 0
olEwWlw 10,00 kAR A% 0 13,556 0 13,556 0
R 10.00 kg4 E(1% 29,358 0 0 29358 8826
A5 Q8T 4.00 ke At A% 0 8,000 6,949 7,474 0
AEAFE 450 ket =% 0 0 11,000 11,000 0
Ae 3.00 kg2t 1% 0 5,000 0 5,000 0
A 10.00 kg2t 2% 17,691 95,235 29,606 24177 27,633
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A ze st A4

A 2.50 ke 7} A% 4,291 0 0 4291 10,161

AZmwE 400 kg3 95(% 0 0 7,000 7,000 0

AzmE 400 kedAt 2% 12,872 13,002 12,109 12,661 11,266

AZEwE 450 ket 2% 14,667 11,923 8,545 11,711 0

YR Zol(alul)  4.00 ke E(1% 10,564 12,991 0 11,778 14,012

gEol(duh)  4.50 ket =% 6,967 0 0 6,967 0

grZol(eluh)  10.00 ke 9%(% 11,500 0 0 11,500 0

T 4.50 kg7 =% 7,739 0 0 7,739 0

gEAol  10.00 kedR E(1% 20,574 23,366 927,852 23,931 0

e 5.00 kg2t =1% 7,000 0 5,250 6,125 11,950

e 10.00 kg4 AH2E 10,556 15,250 5,429 10,412 0

ZE] 4.50 ke 7} E(1% 16,934 12,757 0 14,846 16,324

EE 4.00 kg7 E(1% 10,439 11,830 0 11,135 16,043

TglolERR 4.00 kedtR =1% 9,753 0 6,500 8,126 13,985

3.50 kg2t A% 5,667 0 0 5667 6,417

13.00 kg4 E(1% 18,975 0 0 18,975 0

z 4.00 kg2t =(1% 13,310 12,448 0 12,879 14,386

ol 4.00 ka2t A% 8,475 9,923 13,174 10,524 10,652

|l 4.50 kg2t A% 0 9,500 0 9500 9,125

ol 7) 5 4.00 kg4 =% 8,500 12,550 12,550 11,200 5,000

A 4.00 kg2t =1% 8,491 10,311 8,546 9,116 11,323

A 4.50 kg4 E(1% 15,782 18,878 14,210 16,290 14,446

Ao 5.00 kg3 2} A% 6,500 0 0 6,500 0

= 2 10.00 kg2 E(1% 20,682 13,604 0 17,143 30,769

ES st 5.00 kg3 2} =% 0 0 10,833 10,833 18,000

#AZE 10.00 ke 95 (% 0 7,500 15,000 11,250 0

S¥ZE 10.00 kedR A% 9,250 10,038 0 9,644 0

SEAct 4.00 kg2t 1% 6,807 8,957 9,851 8,538 0

QR AL 4.00 kg7 2% 15,918 12,632 14,410 14,320 0

7] 5.00 kg2t =1% 8,000 0 0 8,000 9,200

& 4.00 ka2t A% 0 12,000 0 12,000 0

R 4.00 kg2t 2% 11,926 16,241 16,549 14,905 13,979

AETWE 1000 kgA AH2E 17,958 16,400 0 17179 21,348

A% 5.00 kg3 2} A% 6,000 0 0 6,000 11,233

YR ol 4.50 ke 95 (% 3,000 0 0 3,000 0

g B0l (duh)  10.00 ke At E(1% 18,267 15,171 0 16,719 0

A ue 4.00 kg7 =01% 7,060 6,116 0 6,588 12,431

A5 ARE 4,00 kaidA} E(1% 11,632 11,099 10,210 10,980 0

Ae 10.00 kg2t E(1% 13,254 21,087 29,500 21,280 18,347

AZTwe 450 ket A% 0 7,938 0 7,938 0

AZTWE 500 kedAt A% 7,929 0 0 7,929 10,532

Az 10.00 kg4 A% 3,500 0 0 3,500 9,791

R 4.50 ka2t 1% 7,167 0 0 7,167 18,050

Folw 4.00 kg7 2% 16,724 16,692 8,200 13,872 14,682

EKol  10.00 keAbRE 2% 13,282 18,876 17,201 16,453 0

SRS 4.50 kg4t =01% 9,064 13,508 12,151 11,574 15,011
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PP z¢ G A4
e 5.00 kg A=A} =(3 3,000 0 0 3,000 7,200
St 10.00 kg =2}k =0 18,403 16,053 14,000 16,152 15,827
St 4.50 kgAFAF HE(3 3,000 0 0 3,000 0
o= 10.00 kgAF A} 9=(= 5,500 0 0 5,500 13,500
= 4.00 kgAFAF AH2% 10,992 18,030 9,907 12,976 13,247
o -5 4.00 kgAFAF AH2% 0 0 15,410 15,410 0
=4l 4.00 kgAFAF AH 2% 8,024 0 0 8,024 5,490
o 4.00 kgAFAF AH2% 8,137 0 0 8,137 9,282
Jezxs 5.00 kg XA} =0 12,190 6,000 11,500 9,897 18,846
nlt =7} 5.00 kg XA} AH2% 6,750 0 0 6,750 9,625
EE5A} 4.00 kgAFAF E(l+ 13,909 0 0 13,909 11,804
4.00 kgAFAF E(1= 9,828 9,301 5,500 8,210 8,901
10.00 kgAF =2k E(l= 0 6,750 0 6,750 0
ELES] 4.00 kgAFAF E(1= 10,817 12,237 0 11,527 15,204
SIgA 4.00 kgAFAF AH2% 0 0 15,340 15,340 0
| 2.50 kg AR} E(1=% 7,041 0 0 7,041 11,320
4 10.00 kgAF A} AH2% 0 11,765 0 11,765 11,333
FIR-R 10.00 kgAH=} E(1=% 13,165 0 0 13,165 24,560
g & =ol(dnt) 4.00 kgAFAF AH2% 8,104 0 0 8,104 7,667
slebA] o} 10.00 kgAFAk 95 (= 0 7,679 7,000 7,339 0
e 4.50 kgAFAF = 0 0 7,000 7,000 0
3T 5.00 kg A+=} 2% 4,500 0 0 4,500 10,083
4.00 kg A} = 8,000 12,200 0 10,100 0
4.00 kgAHAF 2% 10,955 9,464 9,552 9,990 13,701
4.50 kgAFA}F HE(3 0 3,000 0 3,000 14,000
13.00 kgAFA} 2% 8,679 0 0 8,679 0
o< 10.00 kg A} =} E(l= 9,634 24,000 0 16,817 29,952
== 5.00 kg XA} HE(3 0 2,000 0 2,000 0
ezt 10.00 kgAF=} 7,480 5,500 0 6,490 6,000
== 10.00 kgAFA} E(1% 22,259 22,897 27,812 24,323 28,011
10.00 kgAF=} 95 (= 0 3,000 0 3,000 0
WS 3.00 kgAA} E(1=% 0 0 8,520 8,520 0
Al e 4.00 kgAHAk E(l= 0 11,947 0 11,947 0
TFHIE 10.00 kgAF =} = 13,889 2,000 0 7,945 0
Az 4.50 kgAHA}F 2% 0 8,411 0 8,411 0
A= 10.00 kgAF =} 95 (% 3,000 9,000 0 6,000 0
HEEW e 4.00 kg A2k E(l= 11,951 12,469 11,810 12,077 12,482
HETw e 10.00 kg =}k =0 12,500 0 0 12,500 0
e 5.00 kg XA} E(l1= 6,125 0 0 6,125 14,029
= 10.00 kgAF=} E(l= 14,333 0 0 14,333 26,209
gEL=ol(duh)  10.00 kgAHA}F AH2% 4,000 0 0 4,000 0
E3} 4.00 kg A2k 2= 0 0 14,509 14,509 0
n
AukR- == 0.50 kg%t 45 0 0 3,600 3,600 0
kR = 0.50 kgAF =} A% 0 1,500 0 1,500 0
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A ze st A4
SIETES 0.70 ket =% 1,916 3,371 4,129 3,139 2,625
SN 1.00 kesh =% 0 2,300 1,200 1,750 0
SEHATES 4.00 kg A4 =% 6,300 0 0 6,300 7,500
SIETES 0.50 ket A% 1,289 1,726 2,490 1,835 1,786
AukEE 10,00 ket 1% 0 22,000 0 22,000 0
SIETES 0.40 kg 1,133 2,000 0 1,567 2,067
SRS 3.00 kg4 1% 0 0 3,000 3,000 7,000
R 0.20 kg 0 0 2,000 2,000 3,000
SN 0.50 kg4 =% 600 1,765 4,100 2155 1,650
AukE  10.00 ket A% 0 14,000 0 14,000 0
dukEE 10,00 kegHl Y5 =% 0 15,000 0 15,000 0
gopr 0.20 kg 1,322 1,302 1.216 1,280 1,296
Jopr 0.20 ket =% 633 750 700 694 912
SEATES 0.60 kgt 1,543 1,944 2,000 1,829 1,781
SENETES 0.50 kg 1,167 1,413 2,028 1,536 1,470
SENATES 0.50 ket =% 1.291 2,036 2,485 1,937 1,897
SEATES 5.00 ket =1% 0 1,700 0 1,700 0
vzIE(49)  8.00 ket =% 0 19,000 0 19,000 0
vEF(du)  6.00 ket A% 0 0 20,000 20,000 0
H2 I (L) 8.00 kg A=} 2% 24,596 21,396 18,716 21,569 19,623
W 8.00 kg4t 0 20,000 15,000 17,500 0
B39 7.00 kg dAF E5(1% 0 0 15,380 15,380 0
v (W) 8.00 ket =(1% 22541 18,839 19,624 20,335 15,138
W 8.00 kg 34} E1% 22,500 20,200 21,696 21,465 0
v (W) 8.00 ket HEG 12,824 0 0 12,824 0
HEF3(EH)  6.00 keAHAk 51+ 0 0 21,591 21,591 0
B2W(£9)  1.50 ka3t =15 0 0 33.000 33,000 0
B2u(duh)  1.00 ket E(1% 17,738 13,353 0 15,546 17,721
B2W(£9)  1.50 ka3t AH2E 32,000 33,000 36,000 33,667 34,000
B2We(£9)  3.70 ke A% 0 3,000 0 3,000 0
B2ul(duh)  1.00 kedbAt AH2E 10,000 7,021 0 8,510 17,907
0.20 ket 1% 363 0 0 363 400
4.00 kg2 0 0 10,000 10,000 9,571
4.00 kg2 1% 6,318 9,000 11,400 8,906 7,495
4.00 kePEH =01% 4,000 0 0 4,000 4,375
HEUE 0.50 ket 1% 467 900 1,388 918 525
B EUE 4.00 kBl 927 A% 5,500 0 0 5,500 0
HEUE 4.00 kg2t 1% 4,960 10,398 14,852 10,070 6,829
HERRR-E 4.00 kePPt) =1% 0 11,577 0 11,577 0
0.50 ke g =01% 696 1,006 1,247 983 784

5.00 kgt (1% 11,000 0 0 11,000 0
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A Fe she A4
4.00 kgHlH %% =% 6,000 0 0 6,000 0
H 22 0.50 ket 2% 759 1,175 1,363 1,099 659
EIE=ABES 4.00 kgH 9327 =% 6,530 10,731 11,230 9,497 8,753
B B S 4.00 kg7 A% 5,933 1,000 0 3,467 8,984
EIR=as]
HlEFR (Auh)  2.00 ke A% 6,000 5,600 11,500 7,700 7,104
HlEF (Auh) 2,00 ke 6,800 9,500 9,500 8,600 8,191
HlEFR (Auh)  2.00 ke A =% 4,173 16,836 13,214 11,408 10,324
H E(F

H & (elh) 4.00 kg4 =% 0 0 6,000 6,000 0
HE(QE)  10.00 ket WEG 10,000 0 0 10,000 6,000
HlE(QE) 20,00 ket =% 0 4,000 6,000 5000 5,500
HlE(QE)  10.00 ket 11,800 10,667 10,000 10,822 11,133
HlE(QY)  10.00 ket (1% 8,936 11,885 11,299 10,707 5,644
HlE(QE)  10.00 ket A% 8,000 8,500 8,333 8,278 6,396

=l
1) 2~ (2w 0.50 kg2t =1% 0 0 3,000 3,000 0
9 2~ (2w 0.60 ka7l =1% 1,000 0 0 1,000 0
PNEINS 2.00 kg4t =% 0 0 200 200 0
1) 2~ (2w 4.00 kg7t =1% 0 10,000 0 10,000 10,000
Hl 2~ (21 h) 0.50 ka7l =01% 2,500 2,000 3,000 2500 4,000
w2~ (2l 9h) 4.00 kg 121} =01% 8,471 10,600 0 9,536 9,572
Hl 2~ (21 h) 5.00 kg 121} (1% 10,000 0 0 10,000 0
FIENOED 4.00 ke 18w A% 4,000 0 0 4,000 0
Hl 2~ (21 h) 3.00 kg 127} =01% 4,500 0 0 4,500 0

A3}
ol 10.00 kg2t E(1% 19,957 921,254 15,226 18,812 26,073
of 7] A}t 0.50 kg4 =% 0 0 2,304 2,304 0
Pk 10.00 kg2t =1% 0 95,014 33,346 29,180 0
T 10.00 kg4 HE(3 0 23,500 13,500 18,500 0
Z+a} 10.00 kg2t =1% 0 0 14,840 14,840 0
RE= 10.00 kg4 =01% 0 32,919 0 32919 12,036
olal 4 5.00 kg3 2} A% 0 0 31,928 31,928 0
o} gl 10.00 kg4 WE(3 3,000 0 0 3,000 21,833
ola] 4 5.00 kg 2} =1% 0 0 34,431 34,431 0
ole] 4= 15.00 kg3 2 A% 0 0 35,513 35,513 0
T2 9.00 kg 34} 1% 0 24,286 14,551 19,419 0
5.00 kg4 =01% 0 0 15,525 15,525 25,426
10.00 kg4 95 (% 0 20,500 17,644 19,072 8,000
10.00 kg2 2% 13,364 14,152 14,785 14,100 18,736
ARAL 10.00 kg3 2+ 1% 30,826 10,308 13,578 18,237 0
Atbed= 10.00 kedbRE E(1% 40,382 35,545 0 37,964 28,146
o} 7 15.00 kg4 A% 21,771 19,937 14,850 18,853 20,685
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ol 7] A}t 1.00 ke A+ =% 0 0 3,700 3,700 0
T8 5.00 kg A=k 2H2% 0 0 22,731 22,731 0
T2 10.00 kg4 4% 0 0 10,000 10,000 0
Tz 10.00 kg2t 95 (% 0 0 9,968 9,968 0
7] 10.00 kg4 E(1% 35665 97,497 0 31,581 24,540
0.75 kg2t =% 0 0 2,000 2,000 0
5.00 kg4t AH2E 18,558 0 0 18,558 0
ARAL 10.00 kg2t A% 0 31,299 19,659 925,479 0
AEAY 15.00 kg4 A% 0 25,000 14,933 19,967 0
Avbed= 10.00 kedR A% 0 2,000 0 2,000 0
ole] 4 10.00 kg4 =% 0 18,682 28,591 23,636 0
o} 7l 10.00 kg2t 9= (% 0 6,714 0 6,714 3,000
T8 5.00 kgAFAF 50+ 0 0 22,440 22,440 0
Tz 10.00 kg2t A% 0 29,017 26,178 27,598 0
Tz 15.00 kg2t A% 0 24,953 24,025 24,489 0
7 10.00 kg2 AH2E 10,546 18,395 0 14,470 10,978
10.00 kg2t 5% 0 0 10,556 10,556 0
ole] 4 10.00 kg2 AH2E 30,000 0 34770 32,385 0
B oF 5.00 ke 2} E1% 10,200 14,442 0 12,321 0
k27 10.00 kg2 =% 0 30,380 927,284 28,832 20,667
10.00 kg2t WE(3 0 927,250 13,667 20,458 0
B o 5.00 kg4 2% 15,315 18,856 0 17,086 0
aa} 10.00 kg3 2} A% 0 0 7,000 7,000 0
1.00 ke A2+ =% 0 0 6,491 6,491 0
10.00 kg 32} 0 12,000 0 12,000 0
10.00 kg4 =(1% 19,839 26,959 929,217 25,338 27,760
o] A] m} 10.00 kg4 AH2E 26,020 15,011 0 20515 20,729
o} 7 5.00 kg2t =1% 0 6,000 0 6,000 13,778
olo. 10.00 kg2 A% 24,136 922,403 15,351 20,630 21,184
T2 7.50 kg2t A% 0 0 13,000 13,000 0
Aheat
Ahekat 0.20 kg 2} HE(3 0 0 3,200 3,200 0
AFA
A (91 uE) 1.00 ke A2+ 5,000 0 5,000 5000 5,000
AR 10.00 ke AR =1% 0 130,000 65,000 97,500 70,000
A
4.00 kg2 E(1% 13,510 14,064 32,710 20,095 26,463
e 2.00 kg7 =01% 3,750 0 0 3,750 12,000
YAy 4.00 kg2t E1% 14,775 34,106 33,133 27,338 28,081
237 2.00 kg4 =01% 0 22,500 0 22500 5,000
A 3% 7] 4.00 kg7 E(1% 20,284 43,125 44,950 36,120 38,938
)2 4.00 kg2t E1E 12,152 12,604 14,684 13,147 16,001
7% 4.00 kg2 11,500 23,300 0 17,400 11,796
ESPNES 2.00 kg2t =1% 0 32,500 0 32500 0
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e F¢ s A4
A 5 4.00 kg2t 5(15 7,667 61,250 41,000 36,639 15,300
Ear e 4.00 kgHld & (1% 4,750 5,500 0 5,125 0
4= 4.00 kg’ Ak 0 15,000 0 15,000 0
4271 4.00 kg2t S(1& 0 25,667 23,438 24,552 13,862
2713 4.00 kg’ Ak FH2F 11,268 5,000 12,757 9,675 15,229
2.00 kg A} S(1& 1,500 0 16,000 8,750 8,000
A 4.00 kg’ 2k FH2F 20,867 34,238 39,479 31,528 25,729
x71% 4.00 kg2t S(1& 22,146 45,947 50,552 39,548 38,531
LA L 4.00 kg’ Ak (1% 0 41,500 0 41,500 0
A= 4.00 kg’d=k 2w 8,656 10,899 14,536 11,364 15,018
4.00 kgl d &-A S(1& 5,100 7,900 0 6,500 0
EARE 400 ket B2E 22081 42579 51,136 38,599 39,607
A= 2.00 kgt A 2F 2,000 0 5,000 3,500 0
ERARE 4.00 kg’dAk 2w 17,586 33,096 30,462 27,048 26,205

A &0
Aol (L 1) 2.00 kg%t 4% 2,943 3,132 3,243 3,106 3,710
Aol (L k) 2.00 kegPEU] 45 0 3,000 0 3,000 3,000
Aol (L 1) 2.00 kg~ 9=(= 2,714 3,100 3,445 3,086 3,413
Aol (L k) 2.00 kgHld&-A 2w 1,961 2,600 4,467 3,009 3,873
Al &l (L) 4.00 kg’+Ak S(1& 10,218 11,471 13,676 11,788 9,839
Aol (L k) 2.00 kg&-A HE(3 2,814 3,840 5,025 3,893 3,447
Al &l () 2.00 kg A} A2F 3,959 5,631 6,340 5,277 4,597
Aol (A RE) 0.30 kg7l 5% 875 800 850 842 674
Aol (L wh) 2.00 kgHld 5] S(1& 0 2,602 0 2,602 0
A& ol (A ) 2.00 kg =} 2,000 0 2,000 2,000 0
Aol (L k) 2.00 kg2t 50= 5,709 6,248 7,358 6,438 5,828
A& ol (A ) 2.00 kg -} 95 (& 3,371 3,600 3,523 3,498 3,571
Aol (L Rk 2.00 kgPET S(1& 3,350 3,213 3,850 3,471 3,643
Aol (A ) 0.30 kg2t 500 500 500 500 5,000
A& ol (A RE) 0.30 kg2t 5% 0 850 0 850 650
A& ol (A ) 2.00 kg =} B3 4,276 4,412 5,429 4,706 4,222
Aol (A RE) 3.00 kgt 5% 7,333 8,556 10,833 8,907 8,228

A
AR AL ) 0.50 kg2t =1F 0 0 3,000 3,000 3,820
AR ) 0.50 kg2t 3,671 3,993 3,719 3,661 3,680
AR AE(L ) 0.05 kg’2k 539 578 954 690 607
AR ) 0.05 kg’ 2k (1% 0 0 400 400 699

7
10.00 kgt (1% 36,334 36,200 37,500 36,678 37,750
77k 10.00 kg S(1& 35,000 36,333 43,000 38,111 44,091
e A 20.00 kgHld & (1% 90,000 90,000 91,250 90,417 90,000
A7 H) 20.00 kg 71 e} 2w 0 52,000 0 52,000 0
ABZH(AHH) 7.00 kg2t S(1F 0 0 30,000 30,000 0
T 28.00 kg 71 E} 2w 0 50,000 0 50,000 0
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AZHE)  10.00 keAHAF 2% 24,000 0 0 24000 29,875
AN 7 17.00 kg 7] &} A% 0 25,000 0 25000 0
7 20.00 kg 71 E} A% 0 36,000 0 36,000 0
7 7% 0.20 kg2t 1,350 1,320 1,333 1,334 1,533
A7 20.00 ke 71 E} A% 0 36,000 0 36,000 0
e
AHFEED) 5.00 kg A=k 2H2% 0 0 11,000 11,000 0
A F (54 5.00 kg2t =% 0 0 23,000 23,000 0
AeE(duh)  2.00 keAbAt 6,333 6,000 8,000 6,778 6,570
AelE(duh)  8.00 ke 30,000 32,000 32,500 31,500 25,833
AeE(duh)  2.00 ket E(1% 13,000 0 0 13,000 5611
APl (duh)  8.00 ke E1% 22,000 0 17,000 19,500 12,000
AeE(duh)  10.00 ket 11,400 12,667 13,400 12,489 12,042
Al g (duh) 10.00 ke A =(1% 10,033 14,107 12,048 12,063 7,374
A (e 5.00 ket =% 0 0 5,000 5,000 0
A E(duh) 10.00 ke AH2E 10,000 0 17,667 13,833 9,750
£:9]
AZol(d¥h)  4.00 kePEU =% 0 0 30,133 30,133 0
e}
SO (2 4.00 ke 659 415 0 537 0
SHHQEN (2 4.00 ke A =% 4,129 0 0 4129 3,550
BoulEAH 500 ke A =1% 4,000 0 0 4,000 4,556
Ul (T 3.00 kel 934 0 0 934 0
SO (2 5.00 ke = 2,492 0 0 2,492 2,470
SEHQEN (2 5.00 ke A =% 7,417 0 0 7417 3,667
SHH QU (2 5.00keTHEYE =01% 7,500 5,000 0 6,250 4,500
ZuOIN (2 7.00 ke =1% 12,261 13,292 0 12,776 13,215
10.00 kg2t =1% 0 9,663 0 9,663 0
U (2 4.00 ke =01% 2,828 3,961 0 3,395 4,105
SEHQEN (2 6.00 kel A% 4,361 8,209 0 6,285 5,589
UL (T 7.00 ke A 215 14,678 0 12,143 13,410 5,933
Ul 9.00 ke A% 11,342 16,243 14,000 13,862 11,967
SEHQIN (2 10.00 ke AH AH2E 13,166 0 14,875 14,020 15,133
SEH(QEN (2 11.00 ke =1% 0 0 30,091 30,091 7,750
FEHLEH(E 16.00 kgAt=E E(1= 11,500 0 45,000 28,250 13,000
Ukl (T 3.00 ke 1% 1,403 2,247 0 1,825 2,226
QU3 6.00 ke E 1% 11,500 9,500 0 10,500 7,250
U (2 7.00 ke WE(3 0 4,785 0 4785 5117
ZEH QN (2 7.00 kel 2,677 2,610 0 2,644 4,386
SEUHOIN (. 7.00 ke A A% 9,400 0 10,589 9,995 8,738
ZEH(QEN (2 8.00 kel 2,497 0 0 2,497 5312
SUH(QIN (2 10.00 ke A =1% 11,711 0 95,202 18,456 9,269
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b (dub)(EE 17.00 kel AH2% 0 0 42,500 42 500 0
10.00 kg =2}k = 0 3,000 0 3,000 0
U (A W) (2 6.00 kg A=} AH2% 6,003 0 0 6,003 2,950
b (Adub)(ZE 10.00 keH E(1= 17,887 19,876 0 18,881 14,735
FEHA U (E 10.00 kg E E(1=% 15,000 0 0 15,000 11,250
SEH (A W) (ZF 12.00 kg7 E(1= 17,133 0 0 17,133 14,342
FHH(A W) (ZE 13.00 kgAFAE AH 2% 0 0 23,000 23,000 10,410
b (dub)(EE 14.00 kel AH2% 0 0 35,000 35,000 0
FHH AW (E 14.00 kg =0 8,000 0 36,667 22,333 11,417
Jruk(dub) (2 18.00 kgAF=} E(1= 0 0 50,000 50,000 10,700
FHH AW (. 24.00 kgAFAF 2% 0 44,000 0 44,000 0
Jruk(dub) (2 4.00 ke HNE E(1= 0 2,000 0 2,000 6,000
FHH A W) (& 5.00 kg7 2% 4,008 7,089 0 5,548 4,036
Jruk(duh) (2 5.00 kg XA} AH2% 4,975 0 0 4,975 4,989
FEH( AWk (& 7.00 ke 7N AH2% 9,529 12,660 0 11,094 8,602
Sk (A uh) (& 8.00 kg7 AH2= 12,955 12,689 12,000 12,548 8,956
Jruk(dub) (2 8.00 kg A} E(1= 9,500 0 15,869 12,685 6,440
Sk (A uh) (& 9.00 kg XA} E(1=% 11,971 0 19,925 15,948 8,146
Jruk(duh) (2 9.00 kg HE E(1= 14,500 0 0 14,500 10,250
FEH(Aub)(EF 11.00 keH AH2= 15,449 21,667 25,000 20,705 15,308
ZEH( AWk (& 13.00 kg7 AH2% 0 0 34,130 34,130 0
FHHA W) (. 17.00 kgAFAF 2% 0 0 40,000 40,000 17,250
off Z<=ut 7.00 kg =} 2% 0 0 8,000 8,000 0
e G | 8.00 kg7 E(l= 0 8,500 0 8,500 12,750
TFEH (AW (EF 1.00 kg7l 2% 0 0 14,646 14,646 12,783
FHH AW (& 3.00 kgA=}F 1,712 0 0 1,712 0
FHH AW (& 5.00 kg7 670 881 0 775 2,201
FaH (A k) (& 5.00 kg 7N E(1= 5,374 7,117 0 6,246 6,831
FHH AW (& 6.00 kg A=}k 4,407 0 0 4,407 0
Jruk(duh) (2 6.00 kgAA} E(1% 12,624 0 0 12,624 5,805
FHH AW (& 7.00 ke 7} = 4,444 0 0 4,444 4,583
FaH( AWk (& 3.00 kg 7N = 2,500 0 0 2,500 1,750
FHH AW (& 3.00 ke 7H 2% 1,585 2,387 0 1,986 1,254
TFEH (AW (EF 9.00 kg =} 95 (5 0 0 8,000 8,000 0
Suel U 12,00 kethah =15 5000 0 37757 21379 8528
TFEH AW (EF 15.00 kgAF =} E(1% 10,500 0 42,667 26,583 12,500
k(A uh)(EF 19.00 kgAHAk E(l= 0 0 50,000 50,000 0
of] Z4=ut 10.00 kgAF =} =0 0 0 16,382 16,382 34,592
FaH (A uh) (& 8.00 kg 7N E(l1= 15,405 15,151 0 15,278 12,141
FHH (AW (& 8.00 kg A=A} AH2% 11,125 0 12,195 11,660 10,533
Suelu( 12,00 kb AHo= 0 0 12000 12000 10,429
b (duh)(ZF 13.00 kel E(l= 17,197 0 0 17,197 16,079
FHH( AW (ZEF 13.00 kgAFAE E(1= 0 0 37,667 37,667 9,400
FEH(Auh)(EF 15.00 kgAHAk AH2% 0 0 35,500 35,500 15,500
Fuk(dub)(EE 18.00 kegAFAF AH2% 0 0 26,000 26,000 18,250
off Z4=4} 5.00 kg A=A} E(l= 0 0 10,000 10,000 0
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off Z<=u} 10.00 kgAF A} AH2% 14,202 16,535 16,822 15,853 16,894
k(L Th) (& 8.00 kg =} 95 (= 0 0 6,500 6,500 0
U (A W) (2 9.00 kg A=}k AH2% 12,000 0 14,206 13,103 14,664
b (Adub)(ZE 10.00 keH AH2% 15,186 20,584 20,000 18,590 14,391
FEHA W (ZEF 11.00 kgAFAE AH2% 0 0 18,198 18,198 8,563
SEH (A W) (ZF 12.00 kg7 AH2= 12,500 24,000 28,000 21,500 17,461
FrH(Adub)(ZE 14.00 kel E(1=% 14,000 0 0 14,000 16,704
b (dub)(E 15.00 kel AH2% 0 0 40,000 40,000 0
FHH(A W) (E 17.00 kgAFA}F =0 12,724 0 47,000 29,862 15,667
off Z<=4} 4.00 kgAFAF 0 0 9,000 9,000 0
off Z4=1} 4.00 kgAFAF E(l+ 0 0 8,654 8,654 0
off Z<=4} 8.00 kg A} E(1= 19,870 14,253 20,202 18,108 22,588
FHH A W) (& 4.00 ke 7N 2% 1,427 4,464 0 2,946 2,283
FEH( AWk (ZF 5.00 kg 7N HE(3 0 2,200 0 2,200 3,356
FEH( AWk (& 6.00 ke 7N 1,504 2,583 0 2,044 2,072
Sk (A uh) (& 6.00 kg7 E(1=% 8,537 10,281 0 9,409 9,147
Jruk(dub) (2 7.00 kg HE E(1= 13,500 12,000 0 12,750 8,167
Sk (A uh) (& 8.00 ke HE E(1=% 14,000 15,500 0 14,750 9,250
FEH( AWk (& 9.00 kg 7N E(1= 16,196 16,889 0 16,543 13,808
Sk (A uh) (& 11.00 kg 7K E(1=% 16,126 0 0 16,126 15,826
off Z<=4} 7.00 kg A} E(1= 0 0 15,500 15,500 0
Zat
0.70 kg A+ E(1%5 25,000 24,000 23,000 24,000 26,000
=]
A v (L HH) 10.00 kg A} =} E(l= 0 9,667 6,000 7,833 0
P
SFUE (L 3.50 kgA=}F E(l= 4,500 4,482 4,477 4,486 4,496
REE
Al 2] (L) 0.50 kg% 0 2,500 0 2,500 2,000
Al 2] (L HH) 0.50 kg%t 2% 0 5,100 0 5,100 0
Al 2] (L) 0.40 kgt AH2% 2,593 3,075 4,419 3,362 2,231
Al =2 (L HH) 4.00 kg XA} 2% 30,000 27,000 38,285 31,762 23,266
Al F A (L HH) 4.00 kgHld &% E(1% 9,250 17,000 15,333 13,861 14,485
Al 2] (A HH) 0.50 kg%t E(l= 2,366 2,601 3,874 2,947 2,352
Al F 2] (LW 4.00 kgAFA}F =0 13,500 26,215 21,921 20,545 22,105
Al 2] (D HH) 4.00 kgvl 9 E-A AH2% 15,000 0 0 15,000 11,000
Al F 2] (LW 0.40 ket 3,500 6,000 4,300 4,600 3,650
Al 2] (D HH) 0.40 kg%t E(l= 2,554 3,265 3,438 3,086 2,373
Al 2] (D HH) 4.00 kePEH E(l= 10,000 0 0 10,000 15,800
Aasln
2 Zulg] 0.10 kgAFA}k 0 1,000 500 750 0
2 Zulg 0.01 kgAFA}F 500 500 500 500 538
2 Zulg] 0.01 kgArA}k E(1% 0 0 500 500 500
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A5
A (L uh) 0.60 k¥t E(% 1,277 1,334 2,033 1,548 2,324
2 5h( uh) 0.70 kg ¥+ E(l% 1,674 800 2,325 1,600 2,460
A (Y uh) 1.00 kg% E(% 1,371 1,367 1,700 1,479 2,404
2 5H( uh) 0.40 kg &+ 2,500 0 0 2,500 3,000
A (Y uh) 0.50 kg &t 0 1,833 2,000 1,917 2,250
2 (L wh) 0.50 kg &F E(% 1,255 1,866 2,435 1,852 2,669
A (L uh) 0.40 k¥t AHo% 1,712 1,713 1,459 1,628 2,564
A=
BEZ) 2.00 kgAF =k E(l% 10,918 0 0 10,918 0
e
RIS 1.00 kg 2=} E(l% 11,750 11,667 11,162 11,526 8,911
EIES 4.00 kg2t E(l% 9,834 15,750 26,667 17,417 9,630
RIS 1.00 ka7l E(1% 0 0 2,500 2,500 0
= 1.00 kg’d-=} AH2F 0 0 12,250 12,250 6,438
RIS 1.00 kg 2=} 10,000 15,000 5,750 10,250 7,457
%7
271 uh) 4.00 kg2t 12,500 0 27,000 19,750 15,362
27} 4.00 kgAF =k = 0 42,000 0 42,000 0
271 uh) 4.00 kg2t A% 18,555 47,178 28,682 31,472 21,908
EAICIRD) 4.00 kg =k E(1% 11,630 47,667 27,448 28,915 15,334
o} 1o}
obZ ol (AW  20.00 kgt 2% 0 15,000 0 15,000 0
ofZ ol UWh)  5.00 kgt E(1% 6,000 6,500 5,000 5,833 0
ofZ ol 2.00 ket E(l% 0 0 2,000 2,000 0
ofZ ol Uwh)  1.00 kgt E(1% 600 833 0 717 0
ofZ ol 4.00 ket E(1%E 14,000 3,000 0 8,500 0
ob B 7}
OlRIIE(59)  5.60 ket 2% 0 16,800 19,200 18,000 14,400
ol 7= (A 5.50 ke AH 2% 0 0 12,000 12,000 0
OFRIFE(UWH)  4.00 kgAHA} AH2% 0 3,600 4,000 3,800 4,050
olR M (LW 550 ket E(l% 12,000 7,200 24,000 14,400 18,000
OlHIFE(F9))  5.50 ket 2H2% 9,600 10,800 16,800 12,400 15,600
of2 st}
= 1.00 kg% 0 6,000 0 6,000 7,417
=AY 1.00 kg A=} 0 5,000 0 5,000 9,000
= 1.00 kg E(l% 4,557 7,800 0 6,178 6,400
=AY 1.00 kg’=} E(l% 4,882 6,365 7,556 6,268 5,365
= 1.00 kg A% 0 5,800 0 5,800 0
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ob% 4.00 kg2t 1,200 100 30,000 10,433 4,100
oS- (dwh) 0.40 ket 2,300 2,767 3,029 2,698 2,940
ol (Wh) 0.50 ke &t 1,300 0 0 1,300 1,637
b= (¢Wh) 4.00 kg2t 14,778 15,025 22,154 17,319 13,238
ol (Wh) 0.50 ke &t 1,200 2,000 2,000 1,733 1,775
b= (¢Wh) 0.50 kg2t 0 0 2,000 2,000 0
ol (4h) 0.40 kg”+=k 0 0 2,300 2,300 2,750
b= (¢Wh) 0.50 ke &t 0 1,850 0 1,850 0
oS- (dwh) 4.00 kg’+Ak 12,000 17,200 16,000 15,067 14,143
ob=(Wh) 4.00 kg’d=k 5,066 14,556 9,800 9,807 9,230
ZE5 2.00 kg%t 2,300 0 3,062 2,681 1,693
F75(ddh) 2.00 kg%t 0 0 1,800 1,800 2,500
7 E (Yl 5.00 kg2t 0 0 6,000 6,000 5,500
F25(4dh)  10.00 ke 3 =F 0 6,000 6,000 6,000 6,000
O{‘) ‘—’i—
(A uh) 8.00 kg =} 8,289 7,900 0 8,094 4,389
Gl E(ddh)  10.00 ke 1= 0 3,700 4,500 4,100 0
Ful=(duh)  10.00 ke’dAk 11,366 7,958 8,621 9,315 6,696
Sl F(ddh)  10.00 ke 1= 8,343 6,982 5,727 7,017 7,114
Ful () 8.00 kg1 & 8,415 5,641 5,759 6,572 5,783
SFull=(dwh)  12.00 ke -2t 0 6,254 0 6,254 8,965
Sl F= (A wh) 8.00 kg =} 9,727 0 6,000 7,864 0
ulE(guh) 10.00 ke 1 EH 0 3,740 4,878 4,309 2,500
ulE=(dw)  18.00 kg/dAk 0 8,111 0 8,111 0
Full3=(1\h) 8.00kg1 &Y 8,130 6,579 6,066 6,925 6,502
ulE=(dy)  10.00 kg/dAk 0 7,500 0 7,500 10,215
Gl F(LRh)  12.00 kg g2t 0 10,167 7,850 9,008 7,500
ulE=(dn)  15.00 kg’dAk 9,159 9,878 9,261 9,433 10,112
aFE(dRh)  10.00 ke -2 0 10,500 0 10,500 9,333
() 4.00 kg2t 0 3,000 0 3,000 0
ar(dRh 8.00 kg -2} 5,000 6,513 0 5,756 10,083
7.50 kg 3=} 16,764 16,750 0 16,757 19,667
8.00 kg =} 0 15,000 0 15,000 23,000
8.00 kg -} 15,756 20,000 32,222 22,659 19,714
W (dEh 5.00 kg d-#} 10,000 11,000 12,000 11,000 11,000
() 4.00 kg2t 0 0 22,000 22,000 0
W (dEh 4.00 kg’dAk 0 4,000 2,750 3,375 9,500
() 8.00 kg -} 15,278 15,821 34,250 21,783 16,256
2.00 kg -2} 17,900 16,200 21,000 18,367 17,786
Lol () 1.00 kg’d=F 0 0 7,000 7,000 0
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2.00 kg A} E(l= 7,483 7,013 7,505 7,333 8,051
kol (Yuh) 5.00 kg XA} =0 24,000 0 0 24,000 0
oFZol(duh) 2.00 kg XA} E(1=% 15,729 15,942 21,201 17,624 13,899
oF s
oFu}(&lnl) 9.50 kg1 &7 AH 2% 0 0 10,000 10,000 0
Fu} (2l 10.00 kg1 & AH2% 8,000 12,000 9,109 9,703 9,348
OFuh(Yduh) 12.00 kg1 & A% 0 13,318 0 13,318 0
ok sy} (2t 15.00 kg1 & AH2% 19,611 20,405 10,000 16,672 20,684
OFul(Ydwt 20.00 kg1 &= E(l= 21,000 27,352 23,750 24,034 24,728
A== ok 3} 3.00 kg1 & E(1= 0 0 2,000 2,000 0
oFuh(Yduh) 14.00 kg1 E E(l= 19,500 0 16,000 17,750 20,000
okx}(&lql) 20.00 kg1 &% HE(3 11,000 0 10,500 10,750 11,250
oFu} (&l 8.00 kg1 &} E(1= 14,000 0 0 14,000 6,006
oky}(&lql) 15.00 kg1 &7} HE(3 8,000 14,000 0 11,000 0
oFuk(Adh) 15.00 kgAFA} E(1= 0 0 22,200 22,200 0
A== ok 3} 20.00 kg1 &% AH2= 5,000 0 0 5,000 0
oFuk(Adh) 10.00 kgAFA} AH2% 4,000 14,974 14,000 10,991 9,967
A== ok 3} 10.00 kg1 &} E(1=% 0 0 12,000 12,000 11,833
A==k 3} 15.00 kg1 & E(1= 14,970 13,771 14,000 14,247 12,803
oFuh(Yduh) 10.00 kgAFH}; HZ(3 2,600 0 0 2,600 0
A==k 3} 14.00 kg1 & E(1= 8,000 0 0 8,000 0
oFuh(Yduh) 10.00 kg1 & E(l= 11,500 0 8,399 9,950 8,723
Ok (k) 12.00 kg1 &+ E(1%5 0 12,751 12,623 12,687 8,167
OFy(Yd k) 15.00 kg1 & E(1= 19,402 20,882 19,143 19,809 18,444
ok} (duh) 20.00 kg1 &% 2% 18,000 23,250 21,000 20,750 19,391
oky (=) 15.00 kg1 & E(1= 16,000 18,786 13,375 16,054 17,300
QFu}(duh) 10.00 kgAF =} E(l= 11,036 13,462 11,542 12,013 11,328
OFy(Y k) 15.00 kg1 & 1% 0 8,500 0 8,500 0
Aok 1 15.00 kg1 & 2% 0 14,653 16,000 15,327 0
A} <9k 5} 6.00 ke 1 &S E(1% 0 0 5,000 5,000 0
Aok 7.00 kg1 & E(l= 0 0 7,000 7,000 0
Fak(4=%d) 15.00 kgAF =} E(1% 0 0 15,000 15,000 0
QFu}(duh) 15.00 kg1 & 5% 0 5,000 0 5,000 0
A} <9k 5} 20.00 kg1 & HE(3 5,000 0 0 5,000 0
Aok 20.00 kg1 & E(l= 5,000 0 0 5,000 16,833
o) 5
0.80 kegvldE-A E(l1= 2,900 0 3,040 2,970 2,900
10.00 kgAF=} E(l= 0 0 27,000 27,000 0
3.00 kg XA} E(1+ 7,350 7,350 7,350 7,350 7,350
0.50 kegHl 9 E-A E(l= 2,250 0 2,250 2,250 0
0.70 kgAF A} =0 2,852 2,857 2,857 2,355 2,935
0.50 kgAFA}k E(l= 2,250 2,250 2,250 2,250 2,250
0.70 kgH] d &% == 2,450 0 0 2,450 0
3.00 kgv| d &E-%] E(l= 7,350 0 7,350 7,350 7,350
15.00 kgAFA} E(l= 64,000 64,000 64,000 64,000 82,036
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20.00 kg A} E(l= 0 0 64,000 64,000 0
0.60 kgAFA}F =0 2,300 2,800 2,800 2,300 2,300
0.80 kgAFAF E(1=% 2,928 2,903 2,911 2,914 2,950
%1 7o)

A Zoln) 4.00 kgHl &% AH2% 3,000 0 0 3,000 0
A ol nl 4.00 kgAFAF E(l= 5,399 6,617 9,954 7,323 7,129
elkuj 7] 8.00 kg AHA} =0 23,625 10,000 0 16,813 16,500
ol 7] 10.00 kgAF A} AH2% 13,749 10,687 10,295 11,577 13,691
A Ztol | 3 2.00 kgt E(l= 2,736 4,224 3,448 3,469 2,855
A ol nl 4.00 kgAFAF 5,000 4,000 4,000 4,333 5,625
10.00 kgAF 2}k E(l= 0 8,000 0 8,000 7,524
ol 7] 10.00 kgAH=}t HZ(3 6,000 11,000 7,000 8,000 10,500
ol 7] 12.00 kgAFA} AH2% 10,000 0 0 10,000 0
&8 4.00 kel 9 E-A] AH2= 0 0 5,000 5,000 0
&8 4.00 kePEH E(1= 4,063 6,714 0 5,388 0
Aol 2.00 kgt AH2= 2,774 4,822 3,403 3,666 3,057
A Zolnl 2.00 kg XA} E(1= 0 2,800 0 2,300 2,000
%0 4.00 kel 9 E-A] E(1=% 4,500 0 0 4,500 4,000
2kuf 7] 8.00 kg1 &} E(1= 0 24,000 0 24,000 0
oluj 7] 12.00 kg A2} E(l= 14,000 0 0 14,000 13,500
A Zolnl 1.00 kg A2k 0 0 500 500 0
oluj 7] 8.00 kg AHA} 2% 10,200 13,000 0 11,600 11,000
ekuj 7] 10.00 kgAF =} E(1%5 15,586 16,283 17,099 16,323 20,516
A ol nl 4.00 kgl dE-A E(1= 2,500 0 0 2,500 6,050
Aol 4.00 kg A} 2% 6,219 11,568 12,718 10,168 9,043

o %
o] (k) 4.00 kg XA} 2% 6,000 0 0 6,000 0
o] E(dwh) 10.00 kg =}k E(1%5 8,208 4,667 8,125 7,000 7,333
o] F(uh) 5.00 kg2 2% 0 0 8,000 8,000 0
o] E(dwh) 4.00 kgAFAF E(1% 0 2,500 0 2,500 3,500
o] (k) 10.00 kg A} =} 2% 0 14,000 0 14,000 0
o] E(dwh) 6.00 kg A} 2% 13,000 0 0 13,000 0

°E
S 1.00 kg A=} 2,500 2,500 2,500 2,500 2,500
10.00 kgAF=} 0 50,000 0 50,000 0
10.00 kgAF=} E(l= 28,050 28,206 28,297 28,184 28,508
9.00 kgA+=} =0 32,000 32,000 32,000 32,000 31,941
15.00 kgAFA} 45,000 0 35,000 40,000 46,250
15.00 kg =2}k =0 60,714 52,222 50,956 54,631 0
12.00 kgAF A} AH2% 0 0 21,600 21,600 0
15.00 kg =2}k A% 0 0 25,750 25,750 0
2.00 kg AHA} E(1= 0 28,000 28,000 28,000 28,000

L
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o () 2.00 kgtt 0 7,100 0 7,100 0
o () 4.00 kgRld B-A] AH2% 0 4,000 0 4,000 0
o () 1.50 kg & E(1% 500 0 0 500 0
o () 4.00 kgr] ' E-A] (1% 3,817 8,068 7,416 6,433 6,563
o () 8.00 kgHl ¥ E(1% 6,000 14,000 9,833 9,944 10,600
2.00 kg% 5% 0 5,633 0 5,633 0
4.00 kg A2+ E(1% 0 9,000 0 9,000 0
o () 0.50 kgwt (1% 2,650 0 0 2,650 0
o () 4.00 kg 2k AH2% 5,423 10,313 7,975 7,904 7,109
SRR 4.00 kg A=+ (1% 0 8,207 0 8,207 7,500
o (A 7.00 kgl €5~ E(1% 0 0 9,200 9,200 0
o () 2.00 kg%t AH2% 2,859 5,897 4,944 4,567 4,024
o () 4.00 kg A2+ 3,000 5,667 7,000 5,222 4,500
o () 4.00 kg A=+ (1% 4,795 7,599 6,778 6,391 5,774
o () 4.00 kgPETH (1% 1,000 0 0 1,000 4,833
() 5.00 kgHl &= E(1% 5,000 8,500 7,000 6,833 6,667
o () 2.00 kg%t (1% 2,823 5,616 4,730 4,390 3,652
() 2.00 kg2t E(1% 0 9,600 3,000 6,300 2,400
o () 6.00 kgHl H ¥ (1% 4,500 8,667 9,667 7611 6,500
QA=A
LAX(4=%])  18.00 kg =} 515 0 23,000 61,089 42,045 41,857
SAA(FY)  18.00 kgAkA 9%5(% 5,000 3,000 0 4,000 10,000
SAA () 18.00 kgAkA AH2% 20,000 27,667 46,619 31,428 36,270
@) o]
w7} 10.00 kg1 & 2H2% 11,000 0 0 11,000 7,667
w7} 10.00 kgHl 9 -] E(1% 0 0 8,000 8,000 0
w7} 10.00 kg’ 3=} = 0 0 12,000 12,000 5,000
w7zt 10.00 kePETH s 0 10,000 0 10,000 12,250
7HA g 0] 10.00 kgA+=t 7,000 15,000 15,000 12,333 0
7HA Q0] 10.00 kgA+=t E(1% 15,994 31,780 19,330 22,368 23,585
7HAl Q0] 12.00 kgA+A} AH2% 0 7,000 0 7,000 0
10.00 kgA+=t AH2% 10,467 11,750 19,783 14,000 18,993
7kx] $ 0] 10.00 kgt HE(3 7,327 18,483 12,737 12,849 9,371
15.00 kgA+At E(1% 52,500 54,000 0 53,250 43,500
18.00 kgt (1% 0 14,795 0 14,795 0
w7zt 6.00 kg1 &+ E(1% 3,500 0 0 3,500 7,000
w7t 8.00 kg 1 &} (1% 0 0 10,000 10,000 0
w7zt 18.00 kgA+A} E(1% 8,545 24,667 25,325 19,512 10,634
ELi=R=54 10.00 kePETH 4% 0 17,500 10,000 13,750 7,990
wl T} 7] 10.00 kegPETH HE(3 0 0 12,000 12,000 7,655
ELA=R=4 12.00 kgl 95 E(1% 0 0 11,333 11,333 4,750
ELA=R=0 18.00 kg’ A} (1% 51,227 86,112 59,953 65,764 48,304
7kx] 2 0] 10.00 kgA+=} AH2% 12,664 22,590 15,092 16,782 13,851
A1 L 0] 15.00 kg’ 3=} A 2F 10,000 20,722 14,852 15,191 12,111
w7zt 10.00 kg 157 E(1% 9,225 7,307 0 8,266 8,472
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=7t 12.00 kg1 & E(l= 9,933 12,000 0 10,967 10,512
=7+ 15.00 kg1 & =0 4,468 0 0 4,468 10,822
w7} 15.00 kePEH E(1=% 8,056 8,257 11,292 9,201 11,722
=7} 17.00 kg A+ A} E(1= 16,202 0 0 16,202 8,000
w7} 19.00 kgAH=} E(l+ 0 8,000 0 8,000 0
LLAs R 8.00 kgH| d &E-%] E(1= 14,373 27,135 21,375 20,961 14,066
A=A 10.00 kgAF=} 95 (= 0 25,000 0 25,000 16,833
o}l 7] 10.00 kgAF A} E(l= 24,657 47,185 34,204 35,349 26,496
ELR=R= g 12.00 kgAFH =} =0 0 28,000 0 28,000 0
W o}l 7] 15.00 kgAFA} E(1= 37,441 75,265 56,739 56,482 44,780
ELR=R= 15.00 kegPEH = 9,364 18,618 18,536 15,506 10,763
] =7t 4.00 kgAFAF E(1= 13,688 0 0 13,688 0
-7} 10.00 kgAFH =}t E(l= 4,000 7,625 12,833 8,153 14,500
q=7F 12.00 kgAF A} E(1= 5,000 0 0 5,000 0
w7t 8.00 kg d &E-%] E(1=% 0 0 10,000 10,000 4,250
w7} 9.00 kg1 &7 E(1=% 0 0 10,000 10,000 0
w7} 6.00 kg A} E(1= 0 4,500 0 4,500 4,167
w7} 7.00 kg AR} E(l+ 0 3,000 6,000 4,500 5,000
w7} 8.00 kg A} E(1= 0 3,000 8,750 5,875 8,682
w7} 10.00 kePEH E(l+ 9,000 0 0 9,000 11,917
w7t 11.00 kgAF=}F E(1= 0 0 10,000 10,000 12,143
w7} 13.00 ke 1= 8167 0 14500 11,333 12,056
w7} 14.00 kgAF A} 95 (& 2,000 0 0 2,000 0
=7t 14.00 kg A} A} 2% 6,000 17,000 12,000 11,667 7,000
w it} 8.00 kg =} E(1%5 28,000 0 0 28,000 14,468
CLAs R 10.00 kgH] 4 E-A] HEZ(3 0 0 16,500 16,500 5,947
CLAs R 13.00 kgAF =} E(l= 0 0 15,000 15,000 0
ELAsR = 15.00 kgAFA} HE(3 25,000 0 18,000 21,500 0
CLAs R 18.00 kgAF=} 95 (= 0 0 19,333 19,333 27,750
=7t 14.00 kgAF A} AH2% 0 16,000 0 16,000 0
#HA 10.00 kg A} =} 17,000 21,667 25,000 21,222 28,781
A 10.00 kgAFA} E(1=% 12,423 35,539 24,975 24,312 34,148
#H A 10.00 kgPEH E(l= 13,367 9,750 10,000 11,039 26,127
10.00 kg =}k = 7,000 0 14,000 10,500 8,000
=7t 7.50 kg A}F E(l= 0 8,000 0 8,000 0
7+ 8.00 kg1 &Y 2% 5,000 0 0 5,000 0
e 14.00 ke Hk 7 1% 802 21,000 16500 15175 12,209
=7t 15.00 kgAF =} 4% 3,000 8,688 7,000 6,229 5,250
ELA=a= 8.00 kgv| d E-#] HE(3 7,167 17,333 14,400 12,967 9,131
LLAs R 10.00 kgAF=} HE(3 24,154 20,083 15,850 20,029 16,624
AR = 18.00 kgAF=} AH2% 29,399 60,794 41,122 43,772 33,885
W clrl 7] 20.00 kg =} AH2% 27,308 51,238 0 39,273 0
=7t 8.00 kg A A} AHo% 0 0 8,000 8,000 12,000
w7 15.00 kg A+ HE(3 0 8,667 9,500 9,084 0
] =7t 20.00 kg AHA} AH2% 15,000 0 0 15,000 6,000
78 @ o] 10.00 kg A+ =} E(l= 22,000 39,000 0 30,500 34,000
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=7} 15.00 kePEH = 6,488 9,896 10,858 9,081 11,191
ELR=R= g 20.00 kg AHA} HZE(3 12,500 0 0 12,500 20,000
-7} 4.00 kgAFAF 2% 6,000 0 0 6,000 0
#HA 10.00 kePEH AH2% 2,000 0 8,000 5,000 18,500
8.00 kg A=} E(1% 0 0 1,000 1,000 0
=7} 10.00 kgAF A} AH2% 7,000 9,355 10,417 8,924 8,134
w7} 11.50 kgAH=} =0 0 6,000 0 6,000 0
=7} 12.00 kg A+ A} AH2% 5,625 11,028 12,667 9,773 9,967
=7+ 15.00 kgAF=} A% 5,218 11,324 13,157 9,899 9,184
w7} 20.00 kgAHA} E(1= 0 27,000 0 27,000 13,969
ELR=R= 5.00 kg XA} E(l+ 3,333 0 0 3,333 0
W o}l 7] 8.00 kg d &E-%] AH2% 6,500 10,167 14,000 10,222 29,441
ELR=R =g 10.00 kgAFH =}t 2% 13,104 26,719 21,730 20,518 17,437
Wi} 7] 10.00 kePEH AH2% 10,890 19,970 16,287 15,716 9,675
W o}l 7] 12.00 kgAFA} AH2% 0 0 12,000 12,000 0
Wt} 15.00 kgAF=k 95 (= 6,000 0 0 6,000 32,800
W o}l 7] 15.00 kgAFA} AH2% 19,796 40,741 41,046 33,861 27,534
=R 15.00 kePEH AH2= 8,000 0 0 8,000 7,000
W o}l 7] 18.00 kgAFA} = 6,000 23,165 23,286 17,483 0
Wt} 18.00 kgAH=} HE(3 17,082 27,256 27,987 24,108 17,750
W o}l 7] 20.00 kg A A} E(1= 43,487 94,429 0 68,958 35,000
ELR=R =g 21.00 kg XA} E(l= 0 8,000 0 8,000 0
=7} 10.00 kgAF =} 2% 5,021 10,700 10,000 8,574 9,516
-7 12.00 kg A} A} 2% 0 18,000 0 18,000 9,600
Avzt 1500 ked A AHOE 6,720 15188 16281 12729 15,108
7] Q o] 10.00 kg A} =} 2% 15,000 0 0 15,000 23,000
ey 15.00 kg A} =} E(l= 12,141 19,354 22,118 17,871 0
A 10.00 kgAFA} AH2% 7,934 18,755 17,181 14,623 17,886
=7t 10.00 kg A} =} HE(3 5,750 7,000 0 6,375 7,333
w7} 10.00 kgAFA} 15,000 0 0 15,000 0
=7t 10.00 kg A} =} E(l= 10,357 14,974 19,254 14,861 14,132
w7t 12.00 kgAF A} HE(3 0 0 7,000 7,000 5,278
=7t 12.00 kg A} A} E(l= 9,859 14,131 16,598 13,529 12,875
w7} 14.00 kg1 & E(1%5 7,000 0 0 7,000 0
=7t 15.00 kg A} =} HE(3 3,000 13,000 13,333 9,778 6,333
w7} 15.00 kgAF =} E(1% 8,644 18,711 20,046 15,800 13,304
=7} 16.00 kg A+ A} E(l= 0 23,000 0 23,000 8,190
=7t 20.00 kg A} A% 6,000 0 0 6,000 8,333
w7} 132.00 kgAF =} E(l1= 12,000 0 0 12,000 0
ELA=R=A 5.00 kg #} AH2% 2,922 0 0 2,922 0
AR = 10.00 kgAF=} = 0 16,000 0 16,000 9,000
W clrl 7] 10.00 kePEH E(l= 17,783 32,289 24,755 24,942 17,367
ELA=a= 15.00 kgAF=} = 10,403 13,944 18,000 14,116 11,923
ELA=R=A 15.00 kePEtH E(l= 2,500 0 17,000 9,750 9,280
AR 15.00 kgPPH 4= 0 10,500 0 10,500 0
#HA 10.00 kePEtH HE(3 2,375 11,375 8,200 7,317 0
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7kA1 9 0] 15.00 kg2t =% 7,000 13,556 18,705 13,087 29,000

10.00 kg4 E(1% 14,370 13,337 23,183 16,963 27,602

18.00 kg4t A% 0 13,500 0 13,500 0

w7} 8.00 kg2t A% 3,000 0 0 3,000 0

w7} 13.00 kg4 A% 6,000 0 17,000 11,500 4,000

w7} 17.00 kg2t 4% 9,333 0 0 9,333 0

Al T} o} 7] 10.00 ket Y57 A% 0 5,000 0 5000 7,542

) T}r} 7] 12.00 kgl Y57 A% 7,750 8,771 9,750 8,757 5,697

E=R=5d 18.00 kgPETH =1% 6,367 0 0 6,367 0

A7} 11.00 kg2t A% 0 23,000 9,000 16,000 0

LR

8.00 kg4t E(1% 18,000 13,000 11,561 14,187 11,252

10.00 kg2t =1% 0 24,000 13,000 18,500 0

EACIEES 8.00 kg 1 -1} = 0 6,000 0 6,000 0

2955 8.00 kg2t =1% 8,000 95,334 13,250 15,528 13,008

EACIEES 8.00 kgPPTH E(1% 17,013 14,327 14,193 15,178 10,540

Aomg 10.00 keAR 2% 17,851 0 13,000 15,426 0

EACIEES 8.00 kg 1 &1} E(1% 13,295 11,413 15,282 13,330 10,658

Fo s 8.00 kg2t E1% 16,500 13,917 20,250 16,889 9,875

Fomse 8.00 kePPTl E(1% 14,905 11,701 12,123 12,910 8,000

8.00 kg1 =1} =1% 9,418 13,244 13,600 12,087 8,789

Ge g 8.00 kg 121} E(1% 13,000 0 0 13,000 0

SIS 8.00 kg1 21} 2% 13,000 6,000 0 9,500 5,063

Fo s 6.00 kg1 =1} A% 7,000 0 0 7,000 8,500

Fomse 8.00 kg 34} AH2E 14,000 0 0 14,000 6,750

10.00 kg1 =1} =1% 0 13,000 20,500 16,750 9,000

15.00 kg4 A% 0 0 10,000 10,000 0

Fo s 5.00 kg1 =1} E(1% 10,000 0 0 10,000 0

Fomse 8.00 kg 12} =01% 0 13,652 13,792 13,722 6,536

Fo5% 10.00 ke 1B A% 0 0 15,538 15,538 15,875

10.00 kg4 =15 0 0 20,500 20,500 14,000

15.00 kg3 2} 1% 0 17,000 0 17,000 0

8.00 kg 12} 215 12,833 8,710 12,500 11,348 6,392

15.00 ke = E(1% 31,192 929,504 28,200 29,632 28,508

15.00 kgPPth =01% 0 23,000 0 23,000 0

Ao 10.00 ke 1B A% 8,000 0 0 8,000 0

Fo s 5.00 kg2t 1% 0 13,652 0 13,652 4,000

Foms 10.00 kedR AH2E 16,000 14,267 11,500 13,922 16,949

2955 4.00 kg 121} 1% 0 13,600 0 13,600 0

o5 10.00 ke 1B 1% 15177 18,004 16,000 16,393 13,000

Fomg 10.00 keAR E(1% 20,199 20,231 20,972 20,467 19,322

Hogg 4.00 kg7 A% 0 0 15,000 15,000 0

Ao g 10.00 keAR (1% 20,069 19,454 20,928 20,150 0

o 15.00 ket 1% 31,122 28,250 0 29,686 15,500

Fo 4.00 ke 12w =% 3,000 0 0 3,000 0
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4.00 kgA+At 5% 0 8,500 0 8,500 6,333
8.00 kg A=t 1% 0 17,383 18,500 17,942 12,176
8.00 kePPTH 1% 16,296 17,982 13,733 16,004 12,679
8.00 kgPPtH EQ% 15,406 15,217 11,708 14,110 9,622
2o Sram 10.00 ke 71 €k =% 0 0 14,000 14,000 0
FL 5 8.00 kg1 & A= 12,500 0 0 12,500 10,258
FL L 10.00 kg 1 &%} =% 8,000 19,522 15,536 14,352 21,056
-3}
SyH(d ) 5.00 kg A=At A% 13,172 12,271 13,571 13,005 15,174
S (A ) 2.00 kg A=} 5% 0 10,400 0 10,400 0
3= 5.00 kg A=At A% 0 24,333 23,217 23,775 22,714
|3 5.00 kg A=} 95 (% 5,000 0 0 5,000 0
S (At 5.00 kg A=} E(1% 22,275 23,750 25,000 23,675 23,318
S-S
6.00 kg AF=} E(1% 11,000 11,000 11,000 11,000 11,000
7.00 kg A=A} Ea% 10,000 9,800 9,904 9,901 9,944
4.80 kg A=t E(1% 12,000 12,000 12,000 12,000 12,000
£
1.00 kg2 AF 2,500 2,500 2,500 2,500 2,500
10.00 kg A=k E(1% 13,000 12,815 12,783 12,866 0
- A 2.00 kg A=At EQ% 16,629 15,733 14,838 15,733 15,733
-3 H 4.00 kgA+=k 1% 0 0 22,000 22,000 31,600
2.00 kg A=At EQ% 9,000 10,200 9,000 9,400 17,822
4.00 kgA=k 1% 10,000 10,000 10,000 10,000 10,000
S
A i(dHh) 2.00 kg A=} 1% 0 0 12,600 12,600 10,509
S-Ah(duh) 4.00 kgA+=k 1% 12,667 13,000 13,000 12,889 13,000
S-A(Luh) 4.00 kgA+Ak 0 0 10,000 10,000 12,000
S-Ah(duh) 1.00 kgA+=k 0 3,000 0 3,000 3,000
S-dgi(d¥h)  10.00 kgAAk EQ% 13,000 0 0 13,000 13,250
SRS
ol 1 Z(Ywh) 2.00 kegPETH E1% 0 6,000 0 6,000 0
A
5.00 kg A=} 0 19,621 16,000 17,811 17,852
=g 5.00 kg A=At 95 (% 4,500 0 5,000 4,750 0
>3 5.00 kg A=} 0 6,000 12,000 9,000 0
5.00 kg A=} 95 (% 4,000 0 0 4,000 6,000
o &2} 5.00 kg A=} AH2% 8,451 7,000 0 7,725 11,461
5.00 kg A=} A% 9,238 0 0 9,238 11,436
A7 2 5.00 kg A=} 1% 15,131 26,953 0 21,042 16,904
3] 5.00 kg A=} 95 (% 0 6,959 7,756 7,357 0
A 10.00 kg A=} 1% 11,500 0 0 11,500 0
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P 5.00 ke -7t HOE 7306 10,000 10500 9269 17,690
SHA} 10.00 kgAF=} HZE(3 6,359 13,625 16,000 11,995 7,357
S IAL2 5.00 kg A=} HE(3 8,000 0 0 8,000 9,594
o=y 10.00 kgAF A} E(1= 21,311 0 0 21,311 0
+ 3] 10.00 kgAF=} HE(3 10,000 0 19,831 14,916 0
B oF 5.00 kg XA} 0 22,000 0 22,000 0
SR 5.00 kg XA} E(1=% 16,734 0 0 16,734 18,503
5.00 kg XA} E(l= 12,913 20,954 17,924 17,264 13,783
10.00 kg A=}k A% 22,975 0 0 22,975 38,000
=y 5.00 kg XA} 415 8,000 13,000 8,000 9,667 5,000
=g 5.00 kg XA} HZ(3 7,947 11,232 9,200 9,460 9,455
LR 5.00 kg A} AH2% 6,259 0 0 6,259 11,326
3] 5.00 kg XA} E(l= 14,568 22,694 21,871 19,711 7,500
B o 5.00 kg XA} AH2% 13,426 0 0 13,426 12,563
A5 5.00 kg XA} E(1= 14,458 15,714 15,000 15,057 18,559
5.00 kg AHA} HE(3 5,625 11,717 12,704 10,015 7,126
o & A5+ 5.00 kg XA} 95(= 2,500 0 0 2,500 3,000
o &=+ 5.50 kg A=A} E(1=% 11,000 0 0 11,000 0
=y 5.00 kg XA} 5% 7,595 12,000 0 9,797 11,203
1.00 kgAFAF E(1=% 1,500 0 0 1,500 0
10.00 kgAFA} E(1= 15,637 0 0 15,637 13,119
5.00 kg XA} E(l= 4,875 0 0 4,875 14,993
3] 5.00 kg XA} 415 0 11,000 10,169 10,584 0
B 10.00 ke =q= 0 0 27268 27,268 0
Efj <k 5.00 kg=} E(1%5 12,433 20,859 0 16,646 14,000
TAF 5.00 kg2 2% 10,034 14,720 11,000 11,918 17,124
S HA} 10.00 kg A} =} E(l= 8,489 17,147 25,100 16,912 11,431
S A2 5.00 kg XA} 5% 2,000 0 0 2,000 10,587
5.00 kg A=} 5% 7,083 0 0 7,083 7,250
5.00 kg XA} AH2% 14,623 16,508 12,695 14,608 15,340
A= 5.00 kg2 2% 13,478 24,972 21,291 19,913 14,156
IR 5.00 kg A} E(1=% 4,388 0 13,708 9,048 14,192
Tk} 10.00 kg A} =} 2% 22,000 0 0 22,000 0
A+ 5.00 kg=} 2% 0 9,477 14,395 11,936 0
F3 5.00 kg A} 5% 0 10,859 10,777 10,818 0
3] 5.00 kg =} 2% 6,000 16,793 18,407 13,733 0
R =y 5.00 kg #} 13,162 20,260 16,298 16,573 0
=g 5.00 kg A} =0 19,813 25,965 24,645 23,474 19,050
=4 10.00 kgAF=} AH 2% 13,000 0 0 13,000 0
A= 10.00 kgAF=} AH2% 0 0 19,375 19,375 0
3] 5.00 kg XA} HE(3 0 12,613 13,363 12,988 0
TR 5.00 kg A} HE(3 5,333 8,333 12,000 8,556 13,822
S ILA} 10.00 kgAF=} 4= 0 10,000 0 10,000 0
R RS 5.00 kg A=A} AH2% 6,771 15,699 0 11,235 0
A 5.00 kg XA} AH2% 4,000 0 0 4,000 9,792
o A5 5.00 kg A=A} 5% 7,500 0 0 7,500 7,262
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o &k x5 5.00 kg A=} (3 4,000 0 10,000 7,000 8,716
o &2} 5.00 kg A=} 515 13,192 16,626 24,034 17,951 16,302
S RAR= FI DS 5.00 kgt 2% 15,990 14,000 0 14,995 22,923
S EA 5.00 kg A=} BE( 0 7,500 7,667 7,583 9,797
S AL 5.00 kgAF=} =% 18,434 12,404 13,337 14,725 18,566
SEA 10.00 kg A=} A% 10,568 17,107 23,500 17,058 12,710
S EAR2 5.00 kgAF=} 2% 9,665 0 0 9,665 14,602

A5
ol =¥, 16.00 kgAAt 225 34,500 32,000 40,000 35,500 48,667
Yol TEE 15.00 ke =5 0 4,500 0 4,500 0
adle]l =¥ 15.00 kgAAt 2% 0 0 43,000 43,000 45,304
el =¥, 16.00 keAAt E(1% 38,667 40,000 31,500 36,722 43,000
aHlol ZEE 15.00 ke (1= 0 43,000 29,487 36,244 36,211

= 2|
2 A (L wt) 8.00 kg A=} 13,500 11,000 12,000 12,167 11,833
A A (A 8.00 kg A=t (25 0 14,000 13,000 13,500 8,428
2 A (L wh) 16.00 kg =k E(1% 0 0 10,615 10,615 11,335
A A (A 0.50 ke7M 0 2,000 0 2,000 0
2 A (L wt) 8.00 kg A=} (1= 3,000 14,351 8,130 8,494 7,489
A2 (A 10.00 kg2 &% 515 0 0 7,803 7,803 6,325
A A (L k) 5.00 kgAF=} 6,800 8,500 8,250 7,850 6,300
A2 (D) 5.00 kg =} E(1= 0 12,516 0 12,516 0
2 A (A 10.00 kg A=t AH2E 17,000 14,605 11,130 14,245 8,741
A2 (D) 1.00 kgA+=k 2,500 0 0 2,500 0
2 A (A 10.00 kg A=A+ 0 9,000 12,000 10,500 0
A2 (D) 10.00 kg =k 1% 10,097 13,387 8,866 10,783 6,639
2 A (A 16.00 kg A=t 2% 0 0 22,000 22,000 20,000

5
=< 10.00 kg A=t (15 19,361 19,500 19,200 19,354 19,063
T 4.00 kg A=At (1% 6,815 6,804 6,832 6,817 6,827
6.00 kgAF=} E(1% 9,667 9,500 9,750 9,639 9,643
TEYE 6.00 kg A=At (15 8,710 8,818 8,713 8,747 8,803
L5 5.00 kgAF=} E(1= 8,500 8,500 8,500 8,500 8,500
=oF 8.00 kg A=t (1% 21,500 21,000 21,000 21,167 21,600
TEYE 5.00 kgAF=} E(1% 8,500 8,500 8,500 8,500 8,500
x5 6.00 kg A=} (1= 8,085 8,142 8,150 8,126 8,104
EEYHE 4.00 kg A=t E(1% 6,843 6,955 6,878 6,892 6,910
4.00 kg A=k (1= 9,398 9,538 9,535 9,490 9,521

Aol &

18.00 kg =k E(1% 33,333 20,000 25,800 26,378 24,913
20.00 kgAAF (1= 59,080 55,548 51,926 55,518 53,596
16.00 kg A=} E(1% 48,157 47,361 49,564 48,361 47,076
10.00 kg A=+ (1= 48,167 39,454 38,379 42,000 42,753
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12.00 kg2+A} E(% 19,000 27,500 19,000 21,833 19,000
TR 6.00 kg2t E(% 0 0 29,000 29,000 29,000
H 32 10.00 kg2 E(l% 14,800 14,800 14,800 14,800 14,800
Zn A
AFTE 0.40 kg2 =k E(l% 14,000 0 0 14,000 6,167
AFIFE 4.00 kg =+ E(1% 38,000 0 38,000 38,000 38,500
=t 2.00 kg =} E(l% 11,000 11,000 11,000 11,000 15,857
=%t 20.00 kgAH=t E(% 45,000 50,000 48,750 47,917 45,714
RS 1.00 kgAF=} E(l% 0 14,333 0 14,333 14,101
eV RS 10.00 kg2+A} E(1%E 0 83,300 0 83,300 177,100
RS 12.00 kg 2=} E(l% 0 100,000 0 100,000 100,000
S Bk 20.00 kg2 =k E(l% 0 239,600 0 239,600 234,350
eV RS 3.40 kg A=k E(1%E 34,000 33,500 34,000 33,833 33,667
S 7 Bk 0.40 kg2t E(l% 0 0 5,000 5,000 0
R 2.70 kgAF =t E(% 10,050 10,050 10,050 10,050 10,050
AFTLE 20.00 kg2 =+ E(l% 0 206,750 0 206,750 187,500
s 10.00 kg2t E(% 0 0 31,000 31,000 0
SR 1.00 kg A2k 1% 0 0 12,000 12,000 11,500
R 2.16 kg2t E(1%E 11,000 0 11,000 11,000 0
Zu}
6.00 kg1 &1} E(l% 17,000 0 0 17,000 21,500
7hZ 5} 0.50 kg &+ AHo% 0 0 5,000 5,000 11,000
7+2 5} 0.90 kg%t E(l% 9,400 0 0 9,400 6,500
7+ 5} 10.00 kg2t HE(3 0 19,000 25,000 22,000 0
zZ (Yt 3.00 kg1 & E(l% 0 10,000 10,000 10,000 0
zZ o (Y uh) 10.00 kg2t 0 0 46,000 46,000 0
4.00 kg 1=} E(l% 13,000 14,083 17,320 14,801 13,400
5.00 kg1 & E(l% 0 0 10,000 10,000 10,000
zZ (Yt 1.00 kePPUH E(1% 0 3,350 0 3,350 0
zZ k(A uh) 10.00 kg2t E(l% 26,562 49,161 43,641 39,788 35,087
10.00 kg2 E(l% 27,333 35,929 41,750 35,004 32,000
7+ 5} 1.00 kgA+=} E(l% 0 0 2,000 2,000 0
7+ 5} 10.00 kg2t E(l% 77,269 61,052 103,626 80,649 80,757
7+&: 3} 12.00 kg A}k (1% 0 0 108,000 108,000 0
zZ (k) 1.00 kg% E(1% 3,557 3,143 3,748 3,483 3,010
zZ (Yt 3.50 kg4t E(1% 0 0 14,000 14,000 0
zZ o1 (Quh) 5.00 kg1 &} E(l% 0 25,000 25,500 25,250 18,333
1.00 kg% E(l% 3,705 3,696 2,706 3,369 0
7.00 kg A=t E(l% 0 0 13,000 13,000 0
4.00 kg A2+ E(1% 6,000 0 12,000 9,000 19,625
5.80 kg2t E(l% 20,000 0 0 20,000 0
6.00 kg2t E(l% 33,000 25,000 0 29,000 18,500
6.50 kg 1 & E(l% 17,000 0 0 17,000 0
9.00 kg2t E(1% 0 16,000 0 16,000 0
11.00 kgA+A} E(1% 0 38,000 0 38,000 0



HAZE AlA AR

=992 0 2022-09-16
g d=p : 2022-08-31 Page : 46
= 23 2 53 BIAA (2)
e T 3k 14
7V 3} 4.00 kgA=k (1= 10,000 0 28,250 19,125 7,600
7+ 5k 8.00 kg A=Ak =15 0 0 80,800 80,800 0
Z 3yl () 0.50 kg%t 2H2% 1,836 2,616 2,367 2,273 1,781
Z=g(ddh) 0.60 kg%t == 0 0 2,100 2,100 0
Zul (L) 4.00 kg =} S0+ 0 0 5,000 5,000 0
Z=g (k) 8.50 kg A+ 515 0 0 34,000 34,000 0
1.00 kgA+=} 0 0 2,000 2,000 0
5.00 kgAH#F == 15,500 17,500 15,875 16,292 21,108
7+ 5k 0.50 kgt 50+ 0 4,000 2,400 3,200 7,400
7+&: 3} 1.00 kg%t 2H25 8,929 8,366 9,651 8,982 9,128
7+ 5k 1.50 kgwt A2F 2,000 0 0 2,000 0
7+&: 3} 7.00 kgA =+ E(1+= 63,000 0 63,000 63,000 0
Zuk(duh) 0.40 kgt A2F 2,000 0 0 2,000 0
Z3l(duh) 0.50 kg%t E(1+= 1,647 1,080 2,777 1,835 1,118
Zl(duh) 2.00 kgAH=F (1= 0 2,000 0 2,000 0
Zul (A Hh) 4.00 kg%t A 2F 0 0 9,000 9,000 0
Zl(duh) 6.00 ke 1&} E(1+= 0 0 31,000 31,000 0
0.50 kg%t = 1,600 0 0 1,600 0
7+ 51k 1.00 ke 8,950 8,750 11,667 9,789 8,923
7+ 5} 1.00 kgwt = 6,872 6,396 8,616 7,295 7,083
7+&: 3} 2.00 kgAH=+ E(1+= 0 0 6,000 6,000 0
Zuk(duh) 1.00 kgt A2F 4,210 3,211 3,981 3,801 3,627
Z vk (k) 2.00 kgt 5(1% 5,500 0 0 5,500 0
8.00 kgAH#F 5= 27,000 0 18,000 22,500 35,000
7+ 1k 5.00 kgA=+ 5(1% 0 50,000 0 50,000 32,500
7+&: 3} 10.00 kg’ 3=} A2F 0 25,000 25,000 25,000 0
29 (L dh) 4.00 kg 1= 5= 16,280 13,667 15,833 15,260 17,587
Zuh(dh) 11.00 kg’=} 51+ 0 40,700 0 40,700 39,600
3.00 kgAH#F 5= 12,000 0 0 12,000 12,000
10.00 kg1 &4 51+ 25,000 0 0 25,000 30,000
7+&: 3} 0.80 kg%t 5= 4,500 4,100 0 4,300 4,833
7+&: 3} 9.00 kgAH=F 51+ 99,000 0 117,000 108,000 0
7+&: 3} 11.00 kg A}k 5= 88,000 0 0 88,000 0
Z vk (duh) 5.00 kgA=+ 5(1% 7,000 0 0 7,000 0
7_<1—7]H
0.40 kgAH=F 51+ 0 2,000 0 2,000 0
1.00 kgZ3=} S+ 8,000 7,000 0 7,500 7,300
4.00 kgAH=F 51+ 0 33,300 0 33,300 0
10.00 kg’3=} S+ 0 83,300 0 83,300 0
20.00 kgA+=+ 51+ 0 129,200 0 129,200 125,000
=
FHUE(Ah 4.00 kgAH=k 2% 16,157 14,644 20,316 17,039 20,553
FE(duh) 4.00 kg’3=} 13,783 13,429 14,500 13,904 15,293
(L 4.00 kg’dA} 51+ 8,339 11,250 15,348 11,646 11,288
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E——
719 (4+4) 5.00 kg XA} E(1= 27,000 0 0 27,000 0
7191(5=4) 5.70 kg XA} =0 38,899 40,127 39,419 39,482 40,405
7191 (4=)) 10.00 kgAF A} AH2% 36,514 35,990 42,000 38,168 33,369
A9 250 ket AHoE 0 0 21869 21,869 0
Aokl (715 10.00 ke == 0 0 42000 42,000 0
7191(5=4) 3.00 kg XA} =0 0 0 22,200 22,200 0
Al (719D 5.70 ke At == 0 0 41.000 41,000 0
7191 (4=)) 5.70 kg A} AH2% 15,500 0 20,000 17,750 22,500
719533 5.80 kg A=} AH 2% 40,393 40,812 40,730 40,645 40,989
719 (=) 3.50 kg XA} AH2% 35,000 277,750 23,750 28,833 17,500
719533 4.00 kgAF At E(l+ 0 25,000 35,000 30,000 23,431
719 (=) 10.00 kgAFA} E(1= 35,250 42,000 41,500 39,583 34,000
k)
A (A Hh) 1.00 kg A=k E(1= 20,000 19,118 38,500 25,873 16,026
g 1.00 kgAFAF 11,000 12,067 12,133 11,733 9,555
A (IHH 1.00 kgAF=k AH 2% 0 12,000 0 12,000 9,576
9]
5.00 kg A=} AH2= 9,826 7,457 0 8,642 10,013
10.00 kgAFA} HE(3 10,929 12,125 13,568 12,207 10,449
10.00 kgAF 2}k 95 (& 9,210 10,843 13,125 11,059 8,292
10.00 kgAF =} 4% 5,786 7,250 11,084 8,040 6,774
10.00 kgAF=} 5,333 4,000 0 4,667 8,571
10.00 kg =} E(1% 17,322 17,576 26,122 20,340 18,726
A7 10.00 kg A} =} 2% 17,202 15,108 13,700 15,337 14,880
5.00 kg2 HEZ(3 9,333 0 0 9,333 0
5.00 kg A=A} E(1= 9,500 0 0 9,500 10,425
10.00 kgAF=} = 7,469 10,224 13,491 10,395 7,482
10.00 kgAFA}F AH2% 11,777 12,461 17,234 13,824 12,080
s ) 10.00 kg A} =} 2% 5,556 0 13,222 9,389 11,019
477
247 A (D wh) 0.20 kg XA} 1,000 1,333 1,500 1,278 1,429
A7 AN (L HH) 0.40 kg A}k 0 2,000 0 2,000 2,000
247 A (D wh) 0.50 kg A=} 0 2,000 0 2,000 0
27 A (D wt) 4.00 kg A2k 5,339 14,167 12,125 10,544 11,238
A7 20 (L Hk) 0.20 kg%t 0 0 2,000 2,000 1,000
2 74 2 (LD k) 0.40 kgAFA}k E(l= 0 0 2,000 2,000 0
A7 20 (L dk) 4.00 kgAF A} E(l+ 5,983 10,173 14,743 10,300 10,219
2 74 2 (L k) 0.05 kgAFA}k 500 500 0 500 0
2 73 A (LWt 0.10 kgAFA}F 0 0 500 500 667
2 74 2 (L) 4.00 kg A2k AH2% 6,441 18,412 15,967 13,606 11,723
A%
Ad (D) 5.00 kg A=A} E(l= 70,203 79,962 95,323 81,829 84,419
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A ze st A4
A2 ol 1.00 ke A+ =% 1,500 0 0 1,500 3,100
Al (%) 5.00 kg4 2% 64,600 80,817 81.357 75,591 69,414

A
(k) 2.00 kg7t AH2E 11,750 0 0 11,750 0

HUE
AHUE 2.00 kgAH=F =15 0 0 52,000 52,000 0
4.00 kg4 =% 6,500 13,156 13,686 11,114 10,154
AHYE 1.00 ke A+ =(1% 31,200 31,200 31,200 31,200 31,200
2.00 kg2t =(1% 0 20,000 0 20,000 0
HAUE(IHH 4.00 kg Ak AH 2= 9,557 13,500 15,117 12,725 11,162
AHE 0.15 kg2 0 0 2,400 2,400 0
AU E(AdE) 4,00 ke E(1% 20,659 24,308 924,534 23,167 13,304
HUE(Au)  4.00 ke 10,000 12,000 12,750 11,583 10,200
1.00 ke A2+ =% 0 20,000 0 20,000 0
2] A 2
7 =7 2 4.00 ka2t AH2E 11,200 15,250 25.000 17,150 13,444
2 =7 2 2.00 kg2t 0 10,000 5,000 7,500 15,000
2 =7 2 2.00 kg2t 1% 12,250 6,947 18,000 12,399 0
AA (L 2.00 ke A% 5,198 9,479 11,567 8,748 14,169
QA (DU 2.00 ke A =1% 5,487 9,366 10,735 8,529 15,002
AA (LY 2.00 ke 6,688 6,227 6,333 6,416 8,405
EE 2.00 kg2t 5,500 6,000 13,000 8,167 5,425
# =7 2 2.00 ka2t A% 2,500 7,000 0 4,750 0
AAL (W) 2.00 kg1 BT} =% 0 600 0 600 0
ZHe] =g

ZaZal9(a 6.00 keAkA 20,000 0 0 20,000 0
28] Z a9 (e 8.00 ke A% 0 3,000 0 3,000 6,500
2] Z a9 (el 8.00 ket =01% 4,544 10,594 10,841 8,659 5,763

A =
73 (1) 4.00 ke 127 =% 0 6,000 5,000 5,500 0

A
2.00 kg4 A% 4,667 6,750 0 5708 8,000
FES 1.00 kg A2+ 0 0 15,000 15,000 15,000
#A 2.00 kg2t 1% 9,942 21,133 27,757 19,611 13,390
A ) 2.00 kg4 5,819 7,561 7,591 6,990 7,139
2.00 kg2t 1% 4,383 5,500 15,000 8,294 9,386
1.00 kg 18w 1% 3,000 0 0 3,000 4,800
2.00 kg 12} =01% 0 0 7,000 7,000 7,500
LI 1.00 ket A% 0 0 3,050 3,050 0
F(uh) 1.00 kg 1= A% 0 0 3,000 3,000 0
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s HolF 3.40 kg1 &7} E(l= 0 0 14,000 14,000 0
w3 0.60 kgt =0 0 0 1,200 1,200 0
El= 4.00 kg% AH2% 0 0 5,000 5,000 0
2 7.30 kg1 &=} E(1= 7,300 0 0 7,300 0
2(dy9h 4.00 kgAFAF E(l+ 0 3,000 0 3,000 0
>3 4.00 kg1 & E(1= 8,000 12,000 0 10,000 0
S olF 3.00 kg1 & E(1=% 0 0 3,000 3,000 8,955
s HolF 4.00 kg1 & AH2% 23,333 0 0 23,333 15,281
w3 1.00 ket =0 0 0 1,500 1,500 0
A 1.00 kg1 &} E(1= 6,914 48,033 7,000 20,649 7,417
(duh) 4.00 kg1 &} E(l+ 0 0 6,000 6,000 5,844
w3 4.00 kg1 &} AH2% 0 0 9,112 9,112 0
A2 El 1.00 kePPH E(l= 0 7,334 0 7,334 7,252
s FolH 2.00 kg1 &7} E(1= 12,000 0 0 12,000 9,139
S FolH 4.00 kgAFAF E(1= 18,000 0 23,898 20,949 13,326
4.00 kg1 &% E(1=% 16,582 0 0 16,582 12,291
Ll 2.00 kg%t AH2% 0 0 3,000 3,000 0
k3 4.00 kg1 &% E(1=% 0 0 11,285 11,285 0
1.00 kg A=k E(1= 0 3,800 0 3,800 0
ol H 5.00 kg1 &7 E(1=% 0 0 20,000 20,000 15,929
0.50 kg% E(1= 0 0 2,900 2,900 0
w3 2.00 kg 1&E E(l= 0 0 6,000 6,000 0
A 1.00 kg A} E(1% 0 6,760 0 6,760 7,500
(ddh) 1.00 kg%t 2% 0 0 2,589 2,089 0
F(LHh 3.00 kg1 &Y 2% 0 0 10,000 10,000 0
(ddh) 4.00 kg1 B} 2% 0 13,000 13,131 13,065 0
(b 10.00 kg A} =} 2% 0 0 53,750 53,750 0
S olH 250 kg1 &7} E(1= 10,000 0 0 10,000 6,667
1.00 kegPPH E(l= 0 5,100 0 5,100 0
Z2(gyh) 2.00 kg XA} AH2% 0 4,000 0 4,000 0
ol 4.00 kg XA} 2% 7,000 0 21,154 14,077 13,958
Z2(gyh) 8.00 kgAA} AH2% 0 0 48,000 48,000 0
ol 4.00 kg1 &} E(l= 20,831 0 0 20,831 18,834
S ol 5.00 kg=} E(1%5 0 18,000 0 18,000 0
e
HUE(Lyh 3.50 kgAA} E(l= 2,760 2,756 2,757 2,758 2,754
FHUE(dyh) 4.00 kgAFAF E(l1= 5,400 5,650 5,300 5,450 5,563
SUE(Lyh 8.00 kg A=A} E(l= 18,000 18,000 0 18,000 18,000
e (dyh) 5.00 kg A=} E(1= 7,500 7,500 7,500 7,500 7,500
o
2.00 kg =} =0 22,000 22,000 22,000 22,000 22,000
10.00 kgAFA} E(l= 12,500 12,952 12,500 12,651 0
Eg(duh) 10.00 kgAF =} 0 0 30,000 30,000 0

Eghy
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4.00 kg1 & E(l= 0 3,000 0 3,000 0
2.00 kg =} =0 22,000 0 0 22,000 22,000
5.00 kg =0 0 0 4,000 4,000 0
10.00 kgAF A} E(1= 22,000 0 0 22,000 12,500
Eg(dat) 4.00 kg1 & AH 2% 3,750 0 0 3,750 0
1.00 kgAFAk 0 1,500 0 1,500 1,500
ESg () 4.00 kgAFAF =0 5,000 3,420 0 4,210 0
4.00 kgAFAF E(l= 0 4,500 20,000 12,250 22,000
8.00 kg AHA} =0 0 0 6,000 6,000 0
ET (L) 4.00 kg AH2% 0 2,500 0 2,500 0
EdU(Quh) 450 ke At =01 0 0 3,000 3,000 0
o
10.00 kgAFA} E(1= 12,088 0 0 12,088 3,250
Sl EnlE 5.00 kg A=} 5,730 4,000 14,584 8,104 3,899
Sl EntE 5.00 kg XA} E(1= 11,217 8,820 12,733 10,923 8,296
l=EnlE 10.00 kgAH=} AH 2% 0 16,000 0 16,000 0
EulE(duh) 10.00 kgAFA} 415 4,846 6,188 4,000 5,011 12,900
JEEME  5.00 ket o= 0 0 11400 11400  6.679
EulE(Uuh) 5.00 kg XA} E(1= 12,211 6,907 12,149 10,422 8,864
EunlE(dyh 10.00 kgAFH}; 2% 20,021 11,001 15,237 15,419 18,304
EulE(Uuh) 5.00 kg A} AH2% 11,672 8,579 14,110 11,454 8,563
EunlE(dyh 9.00 kg XA} 2% 0 0 6,000 6,000 0
10.00 kg =}k 2% 0 0 18,000 18,000 0
l=EnlE 5.00 kg XA} 95(= 2,225 0 0 2,225 1,798
=ENE 10.00 kgAF=} E(l= 13,000 19,474 23,697 18,724 10,497
EulE(duh) 10.00 kgAFA} 9=(& 13,867 8,250 11,250 11,122 6,864
EolE(el) 10,00 ke A =15 20878 16,751 926823 22151 16,970
Al
A 2] (L HH) 4.00 kg XA} E(l= 19,340 41,521 47,445 36,102 13,462
b A 2] (L Hh) 0.20 kgAF =} 0 3,000 0 3,000 1,000
b Al 2] (L) 2.00 kg A=A} 0 0 10,000 10,000 0
b A 2] (L Hh) 4.00 kg A} 0 12,000 0 12,000 0
gl Al 2] (L rt) 1.00 kg XAk 10,000 10,000 0 10,000 6,667
b Al 2] (L) 1.00 kg A=} E(l= 0 0 15,000 15,000 0
Al 2 (D Hh) 0.50 kgAFA}F 0 3,000 0 3,000 0
holo)
oo Z(422d)  12.00 kgdA}F A% 8,500 0 31,333 19,917 18,250
olol Z(4=¢) 11.50 kgAFA}F AH2% 24,734 30,836 33,000 29,523 26,681
oo Z(42%d)  13.00 kgdA}F 95 (% 20,000 0 0 20,000 0
el Z(52)) 13,00 ke At 1% 25696 31,057 32000 20,584 23,827
w3z 2] 7}
gy g gt 5.00 kg XA} E(1= 7,840 12,543 12,544 10,975 4,960
vy 13 2] 7} 5.00 kg A A} 4,667 12,250 0 8,458 5,660
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Gz 8.00 kedhAt HOE 43,034 47713 47203 45983 22,003
SZg7HAEH)  10.00 kgAFA} =0 0 57,667 53,525 55,596 30,000
w2yl g gt 10.00 kgAF=} =0 0 15,000 0 15,000 0
ul Y s E g 7} 2.00 kg A} 15,000 0 0 15,000 10,000
w7} 5} 5 g] 7} 5.00 kg XA} 17,000 18,590 20,427 18,672 8,911
¥} 3Z 2] 7H (L wt) 5.00 kg XA} 0 8,000 0 8,000 4,481
w2yl g gt 5.00 kg XA} 8,619 16,250 15,306 13,392 7,506
u| Y s g g} 6.00 kg A=} 3,500 9,000 20,000 10,833 6,000
QU A 5.00 kgA+=} 95 (5 3,000 0 0 3,000 0
¥} 3Z 2] 7H (L wt) 5.00 kg XA} AH2% 21,286 27,167 32,207 26,887 13,170
w7} 5} 52 g] 7} 5.00 kg XA} E(l+ 20,303 27,957 31,568 26,609 8,043
Gz 5.00 kedbAt 1% 31113 33009 38013 34045 15,820
g 7Lyl 10.00 kgAFAF 2% 52,095 57,000 60,000 56,365 31,029
w7} 5 52 ] 7} 5.00 kg XA} 95(= 6,000 11,500 0 8,750 0
¥} 3Z 2] 7H (L wt) 5.00 kg XA} = 0 0 23,000 23,000 0
3} 3Z 2] 7H( ¥h) 8.00 kg AHA} E(l+ 0 47,954 42,377 45,165 19,500
=gz g gt 5.00 kg XA} 95(= 1,000 0 0 1,000 0
w7} 5} 52 g] 7} 5.00 kg AHA} AH 2% 0 0 30,063 30,063 0
Q AR} ] 5.00 kg XA} E(1= 11,175 17,237 20,750 16,387 7,358
w2yl g gt 5.00 kg AHA} AH 2% 0 0 17,833 17,833 0
v U 3} 2] 7} 5.00 kg XA} E(1= 8,750 11,000 0 9,875 6,318
%
1.00 kgPPH} E(1%5 0 7,964 0 7,964 0
Z(uh) 1.00 kg1 &} E(1= 8,400 0 0 8,400 8,600
Z(Yuh) 7.00 kgAA}F 2% 0 0 42,000 42,000 0
Aol 4
Holls 5.00 kg A=A} E(l= 9,857 11,982 14,051 11,963 7,700
Hol13 5.00 kg XA} 10,000 11,000 12,500 11,167 9,000
FaS
0.50 kg =132 0 0 2,500 2,500 0
3.00 kg A=A} E(1= 12,000 0 17,937 14,969 0
5.00 kgA=}F E(l= 0 0 61,500 61,500 0
10.00 kgAFA} 9=(& 0 0 6,000 6,000 0
ARQlwl 2~ 7k 2.00 kg A=}k = 13,000 15,750 0 14,375 0
Akelnp A7k 2.00 kg A} AH2% 19,719 22,295 18,841 20,285 25,661
7R g 2.00 kg A} E(l= 0 3,500 11,000 7,250 0
7h A 2] 5.00 kg =} 5% 14,000 8,875 14,967 12,614 0
7R g 5.00 kg A} 0 0 15,000 15,000 0
A& 4.00 kgAFA}F A% 0 0 19,036 19,036 0
R 5.00 kg A} AH2% 8,872 0 0 8,872 0
ARQIm} A~ TF 3.00 kg A} A% 0 28,036 31,500 29,768 8,000
Akelnp A7k 4.00 kgAFAF = 0 0 10,000 10,000 0
vl 2~ 7k 2] o 3.00 kgAH#} E(l= 0 0 12,201 12,201 0
Vah= 2.00 kg AHA} E(1= 13,241 12,813 12,349 12,801 21,131
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2.00 kg2 2% 23,750 12,159 20,082 18,664 12,000
4.00 kg7t =1% 0 0 49,126 49,126 0
ARQIEAZE 400 ke AR E(1% 61,554 56,540 48,176 55,423 66,301
WESEY 1.00 ke A+ A% 7,500 6,833 0 7167 8,438
7l g 3.00 kg4 = 0 0 7,333 7,333 19,571
WESEY 5.00 ke 37} E1% 25000 13,750 21,648 20,133 0
FASE) 8.20 kg4t E(1% 80,000 0 0 80,000 48,080
PR 8.60 kg2t =(1% 80,000 80,000 69,151 76,384 104,000
FwASd s 2.00kedAt =1% 0 0 2,917 2,917 0
2.00 kg2t = 15,000 0 0 15,000 0
2.00 kg4 A% 8,000 7,000 7,500 7,500 0
2.80 kg2t A% 0 0 10,000 10,000 0
ARlub =7t 2,00 keAbA BEG 17,000 0 6,000 11,500 0
AROIEEZZE  3.00 ke A =% 0 0 15.045 15,045 18,906
7l g 1.00 ke A= =1% 8,000 6,897 1.750 5549 9,659
7ol g 1.50 ke A2+ E(1% 11,000 11,000 0 11,000 18,000
7l g 5.00 kg2t WE(3 0 0 14,375 14,375 0
SIERE| 2.00 kg4t 2% 14,637 14,054 9,492 12,727 0
A% 1.50 ke A= =(1% 10,559 9,000 0 9,780 0
3.00 kg4 A% 8,000 0 8,500 8,250 0
a0 2}9] o] 2.00 kg2t =1% 7,333 7,000 0 7,167 10,000
Aelu} 2 7r 1.50 ke A+ A% 0 20,000 0 20,000 0
ARQITFZAZE 5.00 keAFHAF =% 0 0 21,750 21,750 0
ARlub~7E 10,00 ke Al A% 0 0 21,000 21,000 0
7ol g 3.00 kg3 2} WE(3 14,844 13,699 11,150 13,231 22,844
7ol g 3.00 kg4 0 4,667 7,557 6,112 0
7ol g 3.00 kg4 E1% 20,132 17,795 15,928 17,951 31,603
PASEN 8.60 kg2t AH2E 60,000 57,500 68,000 61,833 0
ARlub 27 2,00 keAbA E1% 24,580 922,989 20,272 22,614 31,356
ARQITEZAZE  3.00 ke HAH WE(3 0 35,000 0 35,000 0
AEw 2.00 kg4 =15 3,769 6,500 4,241 4,837 4,500
A 3.00 kg2t A% 0 0 9,000 9,000 0
AEE(E) 2.00 ket =15 3,000 0 0 3,000 0
7ol g 2.00 kg3 2} A% 6,315 0 7,500 6,908 0
olazbil el 3.00 ket A% 0 0 11,010 11,010 0
ARSI TR A7 1.50 ke A2 1% 0 24,000 0 24,000 0
AROIEAZE 2,00 keAHAF = 0 5,000 0 5,000 0
ol gtg] o} 3.00 kgA+=} S+ 0 0 12,000 12,000 0
AEE 2.00 kg2t A% 4,600 0 0 4,600 7,000
7 o) 3.00 ke 37} = 15,122 12,570 11,094 12,929 13,500
A SE) 3.00 kg2 2% 19,497 15,929 14,166 16,531 26,613
A8 2.00 kg7 AH2E 11,620 10,796 11,567 11,328 14,180
e 4.00 kg A2 E(1% 15,333 20,843 23,895 20,024 0
ARQIEEAZE  4.00 keAFAF 2% 44,313 48,076 47,959 46,782 58,750
7l g 3.00 kg4t 95(% 11,000 0 0 11,000 0
7ol g 5.00 kg7 2% 18,222 11,456 17,234 15,637 0
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Y2 8.20 kgAH#F AH2F 60,000 0 0 60,000 13,180
AEaL 4.00 kg =} 51+ 20,800 16,000 0 18,400 24,000
AEaL 9.00 kgAH#F 5(1% 0 0 71,520 71,520 38,757
FauAl(LdaEh 2.00 kgAH=k 51+ 18,487 19,476 18,540 18,834 19,033
FaHA(LAH 4.00 kgAH#F == 26,500 22,250 0 24,375 29,000
FaHA (L 8.00 kg A=Ak =5 37,706 32,222 42,235 37,388 44,510
FaHA(LAH 9.00 kgAH#F E(1+ 44,590 45,165 33,028 40,928 55,822
FIHA(YE)  13.00 ke #E 51+ 67,035 103,173 66,536 78,915 80,220
FaHALY)  17.00 kePEW (1% 0 94,920 0 94,920 0
AEaL 2.00 kgA=H 225 0 0 18,000 18,000 10,755
AEIL 8.00 kgA=k AH2F 0 42,364 35,924 39,144 37,402
AEaL 11.00 kg’=} (1% 0 0 35,200 35,200 41,250
FauAl(LaEh 5.00 kgAF=k 5(1% 0 12,500 0 12,500 0
FaHA(LAH 8.00 kePEU (1% 0 31,800 0 31,800 0
FawAl(deh)  11.00 keAH=E 51+ 0 33,000 45,380 39,190 52,940
FaHALT)  16.00 kgAt=E (1% 85,463 92,575 84,724 87,587 89,528
AEIL 10.00 kg”H=} 51+ 0 0 87,692 87,692 41,968
FaHA(LAH 9.00 kePEU (1% 0 47,401 0 47,401 0
FawA(LEh)  10.00 kgAH=E (5 0 0 40,000 40,000 0
FaHALT)  10.00 kgAt=E (1% 41,250 39,500 38,750 39,833 45,768
FawAl(Leh)  12.00 keAHRE 51+ 57,000 79,500 57,000 64,500 68,813
FaHAl(LEh)  14.00 kePEW (1% 0 73,500 0 73,500 0
AEaL 8.00 kg A=k = 0 0 24,000 24,000 0
AEIL 14.00 kg’ 3=} 5= 50,221 33,367 119,933 67,840 59,150
FaEA(LEH 4.00 kgAHAF H3E(3 13,750 0 14,167 13,958 14,500
FaWA(LEh)  14.00 kgAH=E 51+ 69,180 77,216 73,410 73,268 76,073
FaHALT)  17.00 keAt=E (1% 0 93,163 89,250 91,207 89,250
1.00 kg”3=} 13,000 0 0 13,000 14,000
4.00 kg’d=} 25,000 0 0 25,000 21,500
4.00 kg =k 5= 21,500 26,000 27,800 25,100 24,481
AEaL 8.00 kgA} =+ H3Z(3 0 0 24,000 24,000 0
EAHA(ER]) 2.00 keAHAF (25 0 0 16,334 16,334 7,000
FEIHA(EYD) 4.00 kg’d=} 5(1% 16,000 0 0 16,000 0
FaHA (LR 2.00 kgAH#F (& 5,000 7,000 0 6,000 8,000
FaHA(LAH 4.00 kg’ A} = 0 10,000 14,500 12,250 12,417
FaHA(LEh)  10.00 keAH=E 4% 0 0 32,083 32,083 0
FIHA(LE)  16.00 kePE 51+ 0 76,250 0 76,250 0
AEaL 1.00 kgAH=F 10,400 10,400 10,625 10,475 12,867
AEa 4.00 kgAH=F A2F 14,600 14,000 26,000 18,200 13,500
FawAl(LHEh) 2.00 kgAH=H 2% 12,774 12,188 12,872 12,611 13,252
FIHA(LE)  10.00 keAA+ HE(3 0 0 35,000 35,000 0
0.50 kg’3=} S+ 0 0 8,500 8,500 0
AE I 12.00 kg’d-#} 515 0 20,400 45,600 33,000 62,133
FaHA (L 2.00 kgA=H B33 10,333 8,950 9,111 9,465 9,958
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EAH A 4.00 keAbAd 9%(= 12,500 11,000 13500 12333 10,000

F A (LYl 15.00 kgAFH =} =0 76,114 84,968 93,823 84,968 79,288

AMFE 7.00 kg A=} E(1=% 21,000 0 0 21,000 56,000

A E I 8.00 kg A} E(1= 0 48,000 51,445 49,722 37,947

A E I 13.00 kgAH=} E(1=% 44 677 43,364 0 44,020 42,106

T WA (Lt 7.00 kg A} E(1= 26,250 24,175 25,639 25,355 42,000

T WALyt 15.00 kePEH =0 0 88,125 0 88,125 0

Eax

o}2}o] 2.50 kg AR} E(l= 0 0 4,000 4,000 0

o}Alo] 4.00 kgAFAF E(1= 10,000 12,625 11,000 11,208 14,792

o}2}o] 5.00 kg XA} 2% 0 0 7,000 7,000 0

ol}2lo] 6.00 kg A=} E(l+ 13,000 0 0 13,000 0

o}Alo] 9.00 kgAA} E(1= 14,000 0 0 14,000 37,500

71 % 4.00 kePEH E(l+ 0 0 22,000 22,000 0

QoW 3.60 kg XA} E(1= 13,714 18,544 18,333 16,864 13,700

oolmnE  10.00 kedt 1% 27753 33.880  48.835  36.826 45804

=] oF 3.00 kg XA} E(1= 10,131 4,167 8,375 7,558 13,165

] ok 3.50 kg A=} AH 2% 0 0 24,500 24,500 14,777

> oF 4.00 kgl E-A AH2% 9,000 10,000 12,000 10,333 0

A oF 4.30 kgAFAF 2% 0 0 13,000 13,000 0

=] oF 6.00 kg A} AH2% 11,000 10,000 13,800 11,600 20,750

A oF 10.00 kgAFH2}; 4% 0 16,000 0 16,000 0

A ok 11.00 kgAF=} E(1%5 0 25,000 30,000 277,500 74,050

= (dwh) 6.00 kg A} E(1= 20,000 0 7,000 13,500 19,400

Az (L) 9.00 kgA=}F E(l= 30,000 0 0 30,000 50,000

4.00 kgAFAF AH2% 0 11,042 12,000 11,521 0

A 12.00 kg A} A} E(l= 0 62,400 0 62,400 58,500

"3 8.00 kg A} AH2% 0 0 12,000 12,000 0

o}2}o] 7.00 kg A=} 2% 0 0 12,000 12,000 0

o}2}ko] 8.00 kg =} 2% 16,000 0 13,000 14,500 0

o}x}o] 10.00 kg A} =} 2% 18,284 22,767 26,510 22,520 37,689

Qo 3.60 kg A} 0 0 31,000 31,000 15,000

Qo 6.50 kg A=} 2% 0 0 10,000 10,000 0

Qo|uti 10.00 kgAF =} 0 35,000 0 35,000 59,800

ok 2.00 kg A=}k 2% 3,000 4,500 0 3,750 11,050

29 7.50 kg A} E(l= 51,000 0 0 51,000 0

=19 11.00 kgAF=}F AH2% 18,700 27,500 0 23,100 5,500

R 4.00 kg A2k E(l= 0 14,000 10,083 12,042 9,420

v 10.00 kgAF=} E(1= 0 0 15,000 15,000 15,660

o}Alo] 10.00 kgAFA} E(l= 33,983 45,588 52,412 43,994 64,413

o 71 % 2.00 kg A} E(l1= 0 0 3,000 3,000 0

of 71 % 4.00 kgAFAF E(l= 9,643 0 11,833 10,738 0

Qo|uti 9.00 kg =} == 0 20,500 45,000 32,750 20,000

=] oF 7.00 kg A} E(l= 8,400 22,417 28,775 19,864 41,250

d ok 8.50 kg A=} == 0 30,000 0 30,000 72,000
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ok 9.00 kgAA} AH2% 18,250 14,600 22,000 18,283 30,950

FARNS 10.00 kgAF=} =0 29,000 30,000 28,000 29,000 26,000

10.00 kgAF=} E(1=% 18,000 19,333 40,000 25,778 33,543

A= 4.00 kgAFAF E(1= 0 13,500 12,500 13,000 15,448

219 5.00 kg A=} AH2% 0 6,500 0 6,500 10,000

A= 6.00 kg A} E(1= 0 31,067 38,000 34,533 28,667

219 8.00 kg A=} =0 0 0 32,500 32,500 36,000

A= 9.00 kgAA} E(l= 34,000 30,333 0 32,167 46,500

A 11.00 kgAH=}t =0 0 70,000 0 70,000 61,600

=149 11.50 kgAFA}F AH2% 0 29,900 0 29,900 0

A 13.00 kgAH} E(l+ 0 67,600 0 67,600 0

o 71 % 2.00 kgH]l 9 E-%] E(1= 0 0 6,000 6,000 0

Qo 3.00 kg XA} E(l= 0 9,750 0 9,750 0

Qo 4.00 kgAFAF AH2% 2,000 5,167 7,000 4,722 7,095

QoW 6.00 kg AA} E(1= 0 0 15,000 15,000 30,900

QoW E 8.00 kg A=} AH 2% 0 8,000 0 8,000 26,000

QoW 9.00 kgAA} AH2% 0 5,000 18,000 11,500 0

7] oF 1.00 kgH] ' HE-A] AH 2% 0 0 2,000 2,000 0

=] oF 4.00 kgAFAF HE(3 17,481 14,778 14,875 15,711 17,563

A oF 8.00 kg A=} E(l+ 13,500 22,292 33,500 23,097 36,940

4.00 kgAFAF E(1= 0 8,000 8,500 8,250 9,083

10.00 kgAF =2}k E(l= 36,667 19,625 37,253 31,181 40,333

= ok 5.00 kg =} 2% 13,333 10,667 15,000 13,000 19,705

] ok 5.70 kg A=} 2% 0 16,000 0 16,000 0

= ok 7.00 kg =} 2% 21,500 14,217 12,500 16,072 22,633

] ok 8.00 kg A=}k 2% 46,800 18,000 16,500 27,100 23,000

] ok 8.50 kg A=}k 2% 21,250 0 0 21,250 46,750

> oF 9.00 kgAA} E(1= 25,500 30,356 55,000 36,952 41,910

ok 10.00 kg A} =} HE(3 21,600 26,000 0 23,800 28,667

A Z (L nh) 10.00 kgAFA} AH2% 11,000 14,000 0 12,500 40,000

1.00 kgH] 4 E-A 2% 0 0 2,000 2,000 0

ZAF 10.00 kgAFA} AH2% 0 13,000 16,000 14,500 0

10.00 kgAF=} 2% 13,000 0 0 13,000 20,000

Fad 6.00 kg =} 2% 9,000 5,000 0 7,000 6,000

29 7.00 kg A=} E(l= 16,000 37,500 0 26,750 20,000

Fad 9.00 kg =} 2% 12,000 20,000 18,000 16,667 18,500

o}Alo] 4.00 kg A2k AH2% 0 8,000 8,000 8,000 8,417

o}2}o] 6.90 kg A} A% 0 0 5,000 5,000 0

o}Ato] 12.00 kgAF =} AH 2% 0 0 36,000 36,000 0

Qo|gtil 5.00 kg #} E(l= 10,000 18,000 5,000 11,000 14,000

Qo FE 10.00 kgAF=} AH2% 17,580 18,813 26,724 21,039 26,786

QoW 11.00 kgAF=} E(l= 0 22,000 0 22,000 0

=] oF 3.00 kg XA} AHo% 0 4,750 10,000 7,375 16,500

=] oF 3.50 kg #} E(l= 15,000 0 0 15,000 10,067

=] oF 4.00 kgAFAF E(1= 14,318 14,206 15,456 14,660 20,409

A oF 10.00 kg A+ =} E(l= 43,498 35,757 51,189 43,481 57,629
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ok 11.00 kgAFA} AH2% 0 15,000 0 15,000 0

ok 12.00 kgAFH =} =0 0 46,000 30,000 38,000 95,000

A oF 15.00 kgAH=} =0 0 0 56,250 56,250 0

2 Z (G 8.00 kg A} AH2% 23,000 0 0 23,000 18,000

A Z (LR 10.00 kgAFA}k 0 0 15,000 15,000 0

RN 8.00 kg A} E(1= 0 21,000 0 21,000 0

=9 4.00 kel 9 E-A =0 10,667 16,500 0 13,583 0

A= 10.00 kgAF A} 42,000 70,000 0 56,000 44 667

A 10.00 kgAFH =} =0 46,560 53,506 60,356 53,474 63,893

o}Alo] 9.00 kgAA} AH2% 20,000 13,500 0 16,750 0

A ES 5.00 kg XA} E(l+ 0 0 21,000 21,000 0

QoW 2.00 kg XA} E(1= 2,500 0 0 2,500 0

Qo 8.60 kgAHA} 2% 0 21,000 0 21,000 0

> oF 5.00 kg XA} E(1= 23,458 10,500 19,929 17,962 21,066

ok 10.00 kgAF=} AH2% 29,191 22,077 38,020 29,763 32,242

4 (L uh) 9.00 kg A=}k AH2= 11,000 11,000 0 11,000 0

2.00 kg A} E(1= 0 2,000 0 2,000 0

5.00 kg A=} E(l+ 3,000 4,000 0 3,500 0

10.00 kgAF A} AH2% 20,000 0 277,400 23,700 0

20.00 kg XA} E(l+ 0 104,300 0 104,800 0

=19 7.00 kg A} AH2% 11,000 10,000 0 10,500 19,767

29 10.00 kgAFH}; 2% 17,578 23,529 29,837 23,648 29,841

uk 10.00 kgAF =} E(1% 0 32,000 58,000 45,000 0

Qo 0.30 ke 7N E(l= 0 0 1,400 1,400 0

Qo|uti 3.50 kg =} E(1%5 0 0 10,500 10,500 0

Qo 5.00 kg2 2% 0 5,000 0 5,000 8,500

Qo 10.00 kg A} =} HE(3 0 12,000 0 12,000 40,000

> oF 2.00 kg XA} E(1= 4,000 4,000 4,667 4,222 8,000

] ok 7.50 kg A}F 2% 0 20,000 0 20,000 0

> oF 10.50 kgAF A} E(1% 32,175 37,000 0 34,588 62,000

] ok 11.50 kgAF =} E(l= 0 29,900 0 29,900 0

2 12.00 kgAF A} AH2% 19,200 21,600 0 20,400 0

ok 20.00 kg A=} E(l= 0 0 89,000 89,000 50,000

A = (Luh) 10.00 kgAF =} E(1%5 24,368 22,902 27,670 24,980 43,023

29 4.00 kg XA} 2% 0 2,000 0 2,000 6,912

Fad 5.00 kg =} E(1% 20,000 14,000 5,000 13,000 30,250

Zz29 8.00 kg A=A} AH2% 12,000 15,000 0 13,500 21,808

A ES 4.00 kgHld &% =0 0 0 15,500 15,500 0

QolHaFE 4.00 kgAFAF 15,250 0 0 15,250 19,065

QoW 4.00 kg A2k E(l= 4,333 19,336 14,500 12,723 16,358

Qo FE 8.00 kg A A} E(1+ 0 0 15,000 15,000 33,000

=] oF 2.40 kg A} AH2% 0 0 3,000 3,000 0

=] oF 4.00 kel dE-A E(1= 9,250 14,000 12,775 12,008 16,000

=] oF 4.00 kgAFAF = 0 9,000 0 9,000 7,000

=] oF 4.00 kgAFAF AH2% 15,595 13,500 13,426 14,174 20,681

A oF 5.20 kgv| d &-%] E(l= 0 8,000 0 8,000 0
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ok 5.20 kg A} AH2% 0 7,500 0 7,500 0
ok 6.00 kg XA} =0 24,900 16,000 18,000 19,633 32,108
A ok 6.50 kg A=} =0 0 19,000 0 19,000 0
ok 7.60 kg A} E(1= 0 0 13,000 13,000 0
A oF 10.00 kegH]d HE-#] E(l+ 9,500 0 0 9,500 0
(e
e 5.00 kgX=} =0 5,000 0 0 5,000 11,500
A ] vt 10.00 kgAF A} AH2% 18,090 18,981 31,267 22,779 19,748
o 7 (Y ) 10.00 kgAFH}; E(1% 25,667 23,566 38,899 29,377 25,836
A ¥} 10.00 kgAFA} 12,000 23,000 46,500 27,167 35,000
ElE =i Rl 10.00 kgAFH =} E(l= 0 0 18,000 18,000 0
Sy 10.00 kgAF=k AH 2% 0 25,000 33,333 29,167 33,000
o)} 8.00 kg A} E(1= 12,000 0 0 12,000 0
10.00 kgAFH=}F E(1=% 13,000 0 15,000 14,000 16,000
> x| v} 10.00 kgAFA} E(1= 26,369 27,340 41,476 31,728 29,271
] (A wt) 10.00 kgAFAk AH2= 18,000 19,600 25,625 21,075 20,929
o] v (vt 7.00 kg A} AH2% 0 0 14,000 14,000 0
Sy 10.00 kgAF=k 32,000 31,500 34,750 32,750 28,000
Tyt 10.00 kgAFA} E(1= 0 28,500 52,563 40,531 21,656
i _I]—
10.00 kgAH=} 95 (= 0 19,000 0 19,000 0
22.00 kg 7N AH2% 10,000 0 0 10,000 0
Ho o1t 5.00 kg7 45 0 0 3,270 3,270 0
Ho349 8.00 kg AA} E(1= 0 3,431 0 3,431 0
Ho o1t 13.00 kg 7K 2% 0 5,000 0 5,000 0
==l 3.00 kgAA} AH2% 6,970 6,436 5,641 6,349 8,781
o5k 8.00 kg 1& E(l= 5,162 6,967 6,857 6,329 6,615
=l 12.00 kgAF =} E(1%5 0 0 5,000 5,000 0
o5k 15.00 kg A} =} E(l= 0 10,667 0 10,667 6,500
s EH(a=2]) 10.00 kgAF =} 14,000 0 0 14,000 0
o 5} 9.00 ke 4} = 0 0 24000 24,000 0
Seul 10,00 ketha =15 12,345 207843 32966 24,385 14,457
>3k 12.00 kgAF A} E(1= 4,000 0 0 4,000 10,000
>34t 20.00 kgHl 9 E-A E(l= 8,500 0 0 8,500 0
8.00 kg AA} E(1= 0 0 3,250 3,250 11,778
H5o3w 3.00 kg 7N AH2% 0 0 1,500 1,500 5,000
10.00 kgAF=} E(l1= 0 20,000 14,000 17,000 18,000
14.00 kg 7N AH2% 10,000 0 0 10,000 0
15.00 kgAF=} A% 0 8,000 0 8,000 0
17.00 kg W AH2% 10,000 0 0 10,000 0
18.00 kg 7H A% 0 10,000 0 10,000 0
H5o3vt 4.00 kg1 &7} E(l= 1,000 3,000 2,500 2,167 0
HosH 6.00 ke 1 &S == 0 6,500 1,000 3,750 0
H5o3w 7.00 kg1 & E(l= 0 7,000 0 7,000 0
H5o3w 8.00 kg 7N E(l= 0 4,022 0 4,022 0
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Ho3uvt 8.00 kg1 &} E(l= 0 0 2,000 2,000 0
A=l 10.00 kgAF=} A% 8,389 8,708 7,000 8,199 13,050
off vt 6.00 kg XA} =0 0 0 10,000 10,000 0
off & vt 7.00 kg A2} 0 20,000 0 20,000 0
off 5 4} 8.00 kg AHA} AH 2% 9,171 21,163 18,825 16,386 10,910
715 Ht 10.00 kgAF A} AH2% 5,898 26,947 19,181 17,342 15,016
* 31k 8.00 kg AHA} AH 2% 4,195 12,738 18,393 11,775 6,651
>3k 10.00 kgAF A} 9=(= 0 12,000 12,000 12,000 0
6.00 kg 7} A% 6,000 0 0 6,000 7,000
Ho3u 3.00 kg 7N E(1= 0 2,200 0 2,200 0
so39 4.00 ke 7N 2% 0 3,333 2,350 2,842 2,667
Ho3u 5.00 kg 7N = 0 0 200 200 0
so39 6.00 kg7 2% 0 2,500 3,000 2,750 0
==l 5.00 kg1 & E(1= 0 3,000 0 3,000 6,500
==l 6.00 kg AA} AH2% 7,000 0 0 7,000 0
off & H}k 10.00 kgAH=}; E(l+ 5,833 25,000 14,500 15,111 21,622
F71U 54t 12.00 kg A+ A} E(1= 0 0 18,000 18,000 0
5.00 kg 7N AH2= 4,000 0 0 4,000 0
Ho3u 2.00 kg 7N AH2% 0 1,000 0 1,000 2,500
=251k 8.00 kg7 AH2= 0 2,375 6,000 4,188 7,000
==l 3.00 kgAHA} E(1= 7,347 7,581 7,533 7,487 8,618
off & H}k 8.00 kg A=} 95 (= 2,500 7,500 15,667 8,556 5,500
off & vt 8.00 kg =} E(1% 13,936 32,237 31,248 25,807 15,722
715 Hk 8.00 kg A=}k E(l= 4,000 0 0 4,000 23,000
F71Y 54k 10.00 kg1 & E(1%5 4,722 0 0 4,722 0
Ho o1t 4.00 ke 7N E(l= 0 4,130 0 4,130 1,500
Ho o1t 10.00 kg A} =} E(l= 0 5,500 0 5,500 0
==l 5.00 kg XA} AH2% 0 0 4,500 4,500 9,000
o5k 8.00 kg A=}k E(l= 6,331 6,659 0 6,495 7,342
==l 10.00 kg1 & E(1% 3,300 5,800 0 4,550 7,209
of &4} 8.00 kg A=}k HE(3 4,118 13,338 15,115 10,857 7,029
off & vt 8.00 kgAA} 0 18,000 17,500 17,750 12,667
715 Hk 8.00 kgA+=A} 0 0 6,000 6,000 0
*3 3.00 kg =} 2% 0 0 4,000 4,000 0
>34t 8.00 kg A=}k E(l= 9,404 25,594 31,303 22,101 14,254
Fou 6.00 ke -7} o= 0 0 5000 5000 3,000
>3k 8.00 kg A=A} HE(3 8,333 14,000 0 11,167 4,000
¥k 8.00 kg A} 0 25,000 26,000 25,500 0
6.00 kg XA} E(l+ 0 0 2,500 2,500 0
12.00 kgAF A} AH2% 0 6,000 0 6,000 0
20.00 ke 7N AH2% 0 5,000 0 5,000 0
Lo s 5.00 kel = 0 0 9,444 0,444 0
Ho349 5.00 kg 7N AH 2% 2,500 2,000 5,185 3,228 0
H5o3w 10.00 kg1 & E(l= 0 0 2,250 2,250 0
==l 6.00 kg1 &=} E(1= 3,000 5,750 10,000 6,250 4,267
off & vt 5.00 kg A=A} E(l= 3,500 0 18,500 11,000 7,500
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PP z¢ G A4
st 10.00 ket o= 0 18,334 29000 23,667 17,167
s eR=l 4.00 ke 7N A% 0 0 1,000 1,000 0
A=l 5.00 kg XA} =0 6,000 0 0 6,000 8,250
>3k 10.00 kgH] d E-%] E(1= 0 15,000 0 15,000 0
* 31k 10.00 kgAF=} AH 2% 5,611 21,278 23,671 16,853 9,186
>3k 12.00 kgH] 4 E-%] E(1= 12,000 0 0 12,000 0
10.00 ke 7N AH 2% 5,000 0 0 5,000 0
12.00 kg W AH2% 3,000 0 0 3,000 0
15.00 kg 7K A% 10,000 0 0 10,000 0
Ho3u 2.00 kg 7N E(1= 0 1,000 0 1,000 0
so39 5.00 kg7 E(l+ 2,500 5,000 5,645 4,382 2,645
Ho3u 5.00 kg1 & E(1= 3,000 0 4,000 3,500 0
so39 10.00 kg 7K 2% 0 3,000 2,834 2,917 0
Ho3u 12.00 kg M AH2% 0 0 3,500 3,500 0
==l 4.00 kgAFAF E(1= 6,500 7,216 4,470 6,062 5,000
=Rl 5.00 kg A=} 0 0 8,000 8,000 0
==l 5.00 kg XA} E(1= 4,375 0 11,150 7,762 10,500
=Rl 9.00 kg XA} E(l+ 0 0 8,000 8,000 0
==l 15.00 kgAFA} HE(3 0 12,750 0 12,750 0
>34t 10.00 kgAH=} HZ(3 0 16,600 16,500 16,550 0
8.00 kg 7N AH2% 6,000 0 0 6,000 0
13.00 kg 7K 2% 0 8,000 0 8,000 0
Ho34 5.00 kg 7N HE(3 2,500 0 4,363 3,432 0
Ho o1t 6.00 kg7 E(l= 1,981 0 3,282 2,631 0
el 3.00 kg =} = 6,000 5,500 6,500 6,000 8,000
o5k 8.00 kg A=}k 2% 0 0 13,000 13,000 7,000
o5k 10.00 kg A} =} 0 12,500 12,000 12,250 0
==l 10.00 kgAFA} E(1= 9,211 11,329 12,164 10,902 14,023
o5k 13.00 kgAF =} 2% 0 0 5,000 5,000 0
=3 15.00 kgAFA} E(1% 0 0 6,000 6,000 0
of &4} 8.00 kg A=}k 45 0 17,000 16,000 16,500 10,133
F71U 54t 10.00 kgAFA} 0 20,000 0 20,000 14,000
715 Hk 10.00 kg A} =} E(l= 10,566 27,767 23,114 20,482 19,598
0.50 kg%t E(l= 680 2,250 1,967 1,632 1,700
Al g ukol 0.40 kg%t E(l= 0 1,000 0 1,000 0
A 5 utol 4.00 kgAFAF E(l1= 4,000 0 0 4,000 7,000
Al g ukol 5.00 kg #} AH2% 0 0 15,000 15,000 0
Suks 0.30 kg%t E(1+ 0 800 0 800 0
Sk 0.50 kg%t E(l= 1,143 1,847 1,869 1,620 1,636
A 5 utol 0.50 kg% AH2% 2,088 2,927 2,695 2,570 2,598
Al g ukol 4.00 kgAFAF AH2% 0 0 13,000 13,000 5,000
SHks 0.50 kg =} == 1,400 0 0 1,400 0
Al 5 ukol 4.00 kgvl 9 E-A E(1% 0 0 5,000 5,000 0

Ay s Bkel 0.50 kgHld & 2 0 1,000 0 1,000 0
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A 5 ukol 1.00 kg% E(l= 1,200 0 0 1,200 0
A 5 drol 2.00 kePEH =0 3,000 0 0 3,000 2,000
Sk 4.00 kgAFAF =0 3,000 0 0 3,000 0
A 5 ukol 0.50 kg%t E(1= 1,118 1,830 1,465 1,471 1,713
A 5 ukal 1.00 ke %+ AH 2% 1,000 0 0 1,000 0
4.00 kgAFAF E(1= 0 5,000 0 5,000 5,500
A 5 ukal 3.00 kg XA} =0 0 3,000 0 3,000 0
EE
TaF(dyh 1.00 kgAFAF E(l= 0 0 7,000 7,000 0
T a3(dh) 8.60 kg A} E(1= 20,000 0 0 20,000 0
TaF(Ldyh 10.00 kgAFH =} E(l= 25,832 33,082 35,030 31,315 30,784
B4k 3.20 kg XA} AH2= 0 10,000 0 10,000 0
Aok 4.00 kgAFAF HE(3 0 22,000 0 22,000 0
S Ak 10.00 kgAFH=}F E(1=% 47,247 50,286 47,917 48,483 33,618
Aok 10.60 kgAF A} E(1= 0 0 50,000 50,000 0
4ok 12.50 kg A} E(1=% 0 60,000 0 60,000 0
Aok 17.00 kgAF A} E(1= 98,000 0 68,000 83,000 79,000
TRy 4.00 kgAFAF AH2= 11,095 10,000 11,750 10,948 10,602
T a3(dh) 5.50 kg XA} E(1= 11,000 0 0 11,000 0
TaF(dyh 9.00 kg XA} 2% 0 0 26,000 26,000 0
T (U 11.00 kgAF=}F AH2% 25,000 0 0 25,000 0
TaF(dyh 13.00 kgAH A}t 2% 0 32,000 0 32,000 0
T 5.00 kg XA} E(1%5 21,500 24,250 21,389 22,380 19,750
Aok 10.00 kgAFA} AH2% 50,000 48,000 38,778 45,593 27,300
TaF(duh 1.00 kgAFA}k 3,000 0 2,000 2,500 0
T 3(duh 7.00 kg A} E(1= 12,275 25,000 0 18,638 15,750
TaF(duh 8.50 kg A=}k E(l= 0 21,000 0 21,000 0
T 3(duh 16.00 kgAFA} E(1= 40,000 0 48,875 44,438 41,230
TaF(duh) 19.00 kg A} A} E(l= 44 667 54,000 60,000 52,889 64,042
T 14.00 kg A} E(1% 0 51,500 0 51,500 0
TaF(ddh 9.00 kg=}F E(l= 0 32,000 27,500 29,750 25,225
TaF(Ldh 14.00 kg E(1% 0 0 36,400 36,400 36,333
T F(dyh 20.00 kg E(l= 0 97,000 0 97,000 0
T 2.00 kg =} 2% 9,000 0 10,000 9,500 8,250
P 1,00 ke HOE 19775 23483 19233 20,830 20,419
S Aok 8.00 kg A=A} = 0 0 15,000 15,000 0
4ok 8.00 kg A A} AH2% 0 29,000 0 29,000 0
S Aok 9.00 kgA=#} E(l= 45,000 37,933 32,833 38,589 40,000
2ok 10.00 kgAF=} HE(3 0 57,000 50,500 53,750 0
S Aok 13.00 kgAF=} AH2% 0 58,000 0 58,000 0
2ok 20.00 kg AHA} AH2% 0 77,497 92,196 84,846 46,667
ATt (103 5.00 kg4 A} E(l= 12,000 0 0 12,000 15,473
TaF(Lyh) 10.00 kgAF =} 45 18,000 0 23,000 20,500 14,333
STt (1R 10.00 kgAF =} AH2% 18,926 26,819 26,093 23,946 22,760
TaF(Lyh) 11.00 kg == 28,975 0 35,000 31,988 28,000



HAZE AlA AR

Zelda - 2022-09-16

ALz 2022-08-31 Page : 61
= 23 7 53 BEAA (R)

A Fe she A4

TR 17.00 ked A E(1% 42,925 47,708 58.650 49,761 48,486

F 4 92.00 kg2 =1% 0 0 125,000 125,000 0

FREE) 200 kedR 0 2,833 0 2,833 0

TR 2.00 kedtR =01% 3,000 0 5,000 4,000 5,000

FTREE)  7.00 keAbR A% 0 0 18,000 18,000 0

TR 8.60 kedtAt AHo% 0 0 21,000 21,000 0

FTIE(AE)  20.00 keAbR HE(3 0 50,000 0 50,000 0

FTHE(AE)  20.00 keA A =(1% 52,289 68,802 66,208 62,433 65,313

FTIE(AE)  21.50 keAR E(1% 50,000 0 0 50,000 0

Z 3o} 3.00 kg2 A% 5,000 0 0 5,000 0

F 4 4.00 ka2t E(1% 18,017 21,583 20,909 20,169 17,163

Z 3o} 8.00 kg2t =(1% 35,200 37,500 36,150 36,283 26,800

F 4k 16.00 kg4 =% 0 71,000 78,000 74,500 75,000

Z 3o} 18.00 kg2t =1% 0 93,200 70,000 81,600 92,000

FTHEE) 400 ke 1B =1% 8,000 0 0 8,000 0

TaF(dyh 5.00 kgAH=F M2+ 0 0 11,250 11,250 17,500

FTHE(AE)  10.00 keAR WEGB 15500 0 0 15,500 20,714

FE(9) 1500 keAbR E(1% 38,479 49,563 38,875 42,306 46,917

FTHE(AE)  20.00 ke = 24,000 33,000 43,500 33,500 28,833

FTIE(A9)  20.00 keAbR 2% 41,310 59,864 63,768 54,981 59,810

Z 3o} 3.00 kg2 =1% 9,500 0 12,000 10,750 10,250

F 4 6.00 ke 4} =% 0 24,000 17,000 20,500 26,500

F Ao 11.00 kg3 2 =% 0 56,500 67,000 61,750 0

e 13.00 kg4 =% 0 68,000 72,000 70,000 0

F Ao 16.00 kg3 2} A% 0 56,000 0 56,000 0

FTaEE) 4,00 kedA =01% 9,521 14,000 12,469 11,996 11,921

TR 8.00 ket E(1% 20,000 42,000 20,000 27,333 27,650

FTRE(AE) 12,00 keAtR =1% 0 45,000 0 45,000 21,000

FT3=(d)  13.00 keAA =01% 0 42,250 48750 45,500 28,500

FTa3=(d)  18.00 ke E(1% 38,658 53,667 58,133 50,153 53,233

F 5o 2.00 ka2t =01% 0 10,000 0 10,000 9,000

Z 3o 5.00 kg2t A% 0 28,750 0 28,750 33,750

F 5o 7.00 kg4 E1% 31,250 0 31.800 31,525 30,367

F Ao 14.00 kg3 2} 2% 33,000 57,000 0 45,000 0

F 5o 15.00 kg4 215 78,056 68,688 63,000 69,914 62,375

F Ao 19.00 kg3 2} E(1% 71,000 83,950 0 77475 73,000

F 5o 20.00 ke A= =1% 79,261 92,365 91,227 87,618 82,895



